


B




CZRJEDO = DU CNTRL TST 1 MACRO V04.00 17-NOV-81 16:26:15 PAGE 1

= OVONA NN OO0 N WV NN -

UMY = =d =d b b b i ok arad - b

22

CZRJEDO

NN =OOV YO N NN =

ek b ol b

.REM 3

IDENTIFICATION

PRODUCT CODE:  AC=9200D-M(

PRODUCT NAME: CZRJEDO RP04/5/6 DUAL CONTROLLER TEST, PT 1

PRODUCT DATE:  NOVEMBER 1981

MAINTAINER: CX DIAGNOSTIC GROUP
AUTHOR: C. HESS
REVISED BY: MIKE LEAVITT

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE AND
SHOULD = NOT BE _ CONSTRUED A5 A COMMITMENT B8Y DIGITAL EQUIPMENT
CORPORATION. DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY
FOR ANY ERRORS THAT MAY APPEAR IN THIS MANUAL.

THE SOFTWARE DESCRIBED IN THIS DOCUMENT IS FURNISHED UNDER A LICENSE AND
MAY ONLY BE USED OR COPIED IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE.

DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR THE USE OR
g?%{?ﬁ{LITY OF ITS SOFTWARE ON EQUIPMENT THAT IS NOT SUPPLIED 8Y
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ABSTRACT

THE RP04/5/6 DUAL CONTROLLER LOGIC TEST PERFORMS A SERIES OF
TESTS WHICH VERIFY THAT THE RP04/5/6 DUAL CONTROLLER LOGIC
IS FUNCTIONING PROPERLY. ONLY THE CONTROL LOGIC IS TESTED
BY THIS PROGRAM; DATA HANDLING IN THE DUAL CONTROLLER MODE
IS NOT TESTED BY THIS PROGRAM,

BOTH PORTS OF THE DRIVE ARE CABLED TO THE SAME MASSBUS BY
A SPECIAL ADAPTER CABLE. THIS ARRANGEMENT ALLOWS THE DUAL
CONTROLLER LOGIC TO BE TESTED FROM ONE PDP-11/RH11 OR RH70.

THIS PROGRAM IS THE FIRST PART OF THE DUAL CONTROLLER OPTION
LOGIC TEST. ALL OF THE DUAL CONTROLLER OPTION LOGIC, EXCEPT
THE LOGIC ASSOCIATED WITH THE UNLOAD COMMAND AND THE CONTROLLER
SELECT SWITCH, IS TESTED BY THIS PROGRAM.

REQUIREMENTS

EQUIPMENT

PDP-11 PROCESSOR

16K OF MEMORY

KW11-L OR KW11-P CLOCK

TELETYPE

RH11 OR RH70 WITH AN RP04/5/6

RP04/5/6 DUAL CONTROLLER OPTION TEST CABLE

PRELIMINARY PROGRAMS

RP04/5/6 DISKLESS CONTROLLER TEST
PART 1 (CZRuG)
PART 2 (CZRJH)

RP04/5/6 FUNCTIONAL CONTROLLER TEST
PART 1 (CZRJI)
PART 2 (CZRJJ)

THE PRELIMINARY PROGRAMS MUST BE RUN TWICE: ONCE FROM
EACH CONTROLLER (PORT).

OTHER PROGRAMS

A. THE OPERATION OF THE UNLOAD COMMAND AND THE OPERATION
OF THE °'CONTROLLER SELECT' SWITCH ARE TESTED BY THE
RP04/5/6 DUAL CONTROLLER LOGIC TEST, PART 2 (CZRJF).

B. DYNAMIC OPERATION OF THE DUAL CONTROLLER OPTION IS
IE%AEg)BY THE RP04/5/6 MULTIDRIVE EXERCISER PROGRAM

SEQ 0003
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3. LOADING PROCEDURES
THE PROGRAM MAY BE LOADED BY THE ABSOLUTE PAPER TAPE
LOADER OR JT MAY BE LOADED FROM THE APPROPIATE MEDIA
USING THE ASSOCIATED °‘XXDP' LOADER. THE PROGRAM MAY NOT
BE INCLUDED IN AN *XXDP' CHAIN.

¢4, STARTING PROCEDURES

4.1 STARTING ADDRESSES

A. THE NORMAL STARTING ADDRESS OF THE PROGRAM IS LOCATION
200 (B). STARTING AT THIS ADDRESS ALLOWS THE OPERATOR
}gs¥EkECT (OR RESELECT) THE ADDRESS OF THE DRIVE TO BE

B. THE RESTART ADDRESS IS LOCATION 200 (8). THE PROGRAM WILL
USE THE CURRENT DRIVE (DCL) ADDRESS.

C. THE PROGRAM CAN BE STARTED AT LOCATION 204 (8) TO ALLOW THE
ADDRESS OF THE RH11 OR RH70 TO BE CHANGED.

4.2 UNIBUS & VECTOR ADDRESSES
THE PROGRAM ASSUMES THE FOLLOWING UNIBUS AND VECTOR ADDRESSES.

THESE ADDRESSES MAY BE CHANGED PRIOR TO STARTING THE PROGRAM
FROM ANY OF THE STARTING ADDRESSES.

MEMORY

LOCATION CONTENTS FUNCTION

1142 177560 TTY KEYBOARD STATUS REG
1144 177562 TTY KEYBOARD BUFFER REG
1146 177564 TTY PRINTER STATUS REG
1150 177566 TTY PRINTER BUFFER REG
1210 172540 KW11-P STATUS REG

1212 172542 KW11-P COUNTER BUFFER
1214 104 KWwl1-P VECTOR ADDRESS
1216 177546 KWil=L STATUS REGISTER
1220 100 KWl11-L VECTOR ADDRESS
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4.3 OPERATOR ACTION

A. CONNECT THE DUAL CONTROLLER TEST CABLE BETWEEN BUS A
€ BUS B ON THE DRIVE BEING TESTED. (SEE SECTION 5.4)
B. LOAD THE PROGRAM INTO MEMORY IN THE PROCESSOR CONTROLLING
THE MASSBUS USED FOR TESTING.
C. SWITCH THE 'CONTROLLER SELECT' SWITCH ON THE DRIVE TO BE
D

oo

TESTED TO THE *A/B' POSITION. CYCLE THE DRIVE_UP,
LOAD THE APPROPIATE STARTING ADDRESS (200(8), 204(8) OR 210(8)).
INTO THE SWITCH REGISTER (OR THE °SOFTWARE' SWITCH REGISTER,
REFER TO SECTION 5.1).

E. PRESS START.

e ot b b wed e b b b
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F. ENTER THE DRIVE NUMBER. (THIS MUST BE THE NUMBER DISPLAYED
BY THE DRIVE, IF AN RPO4, OR THE NUMBER OF THE ADDRESS PLUG IF
THE DRIVE IS AN RP05/6).

G. ENTER THE NUMBER OF THE TEST TO BE RUN. ('CARRIAGE RETURN'
OR_'0' WILL RUN ALL TESTS.)

H. THE PROGRAM MAY BE STOPPED AT ANY TIME AND RESTARTED
FROM LOCATION 200.

5. OPERATING PROCEDURES

5.1 "SOFTWARE' SWITCH REGISTER

IF THE PROGRAM ]S BEING RUN ON A SWITCHLESS PROCESSOR

THE PROGRAM WILL DETERMINE THAT THE HARDWARE SWITCH REGISTER IS

NOT PRESENT AND WILL USE A °SOFTWARE' SWITCH REGISTER. THE
*SOFTWARE® SWITCH REGISTER IS LOCATED AT LOCATION 176 (B). THE
SETTINGS OF THE 'SOFTWARE' SWITCHES ARE CONTROLLED THROUGH A KEYBOARD
ROUTINE WHICH IS CALLED BY TYPING A 'CONTROL G'. THE PROGRAM WILL
RECOGNIZE THE °‘CONTROL G' AT ANY TIME EXCEPT WHEN THE PROGRAM

IS AT A HIGHER PRIORITY PROCESSING AN INTERRUPT. THE

'SOFTWARE' SWITCH VALUES ARE ENTERED AS AN OCTAL NUMBER IN RESPONSE
TO THE PROMPT FROM THE SWITCH ENTRY ROUTINE:

'SWR = NNNNNN NEW ='

EACH TIME SWITCH SETTING ARE ENTERED, THE ENTIRE SWITCH REGISTER
IMAGE MUST BE ENTERED. LEADING ZEROS ARE NOT REQUIRED., 'RUBCUT' AND
"CONTROL U' FUNCTIONS MAY BE USED TO CORRECT TYPING ERRORS

DURING SWITCK ENTRY.

ON PROCESSORS WITH HARDWARE SWITCH REGISTERS, THE °'SOFTWARE' SWITCH
REGISTER MAY BE USED, IF THE PROGRAM FINDS ALL 1'S IN THE SWITCHES.
ALL SWITCH REGISTER REFERENCES WILL BE TO THE °'SOFTWARE' REGISTER
AND THE PROCEDURES DESCRIBED ABOVE MUST BE FOLLOWED.

5.2 OPERATIONAL SWITCH SETTINGS

WITH ALL SWITCHES SET TO ZERQ, THE PROGRAM WILL TYPE
ALL ERRORS AND CONTINUE TESTING.

THE SWITCH SETTINGS ARE:

OON OO NN NWNAAIAAWNN S B 0 D 0 85 8 25 85 2 NN NN AN W W N AN N PO PO N O NI NI AN 3 b b b

SW<15>=1 HALT ON ERROR

SW<14>=1 LOOP ON TEST

SW<13>=1 INHIBIT ERROR TYPEOUTS
SW<11>=1 INHIBIT TEST ITERATIONS
SW<10>=1 RING TTY BELL ON ERROR
SW<09>=1 LOOP ON ERROR

5.3 TEST SELECTION

INDJVIDUAL TESTS ARE SELECTED IN RESPONSE TO THE ‘ENTER
TEST NUMBER:' MESSAGE. ANY VALID TEST NUMBER CAN BE

PP YRR W (T Y G\ W WS W S W W Qe Y W T W T G W W T W W W Y G T S W W W W W W g g W U W I I SRR P QT S N S G T W {
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ENTERED, EACH ENTRY MUST BE TERMINATED BY A CARRIAGE
RETURN (CR). THE LOOP ON TEST SWITCH, SW<15>, MUST BE SET
TO ALLOW CONTINUOUS EXECUTION OF THE SELECTED TEST.

TO RUN ALL TESTS IN SEQUENCE, ENTER EITHER A '0' FOLLOWED
BY A CARRIAGE RETURN OR A CARRIAGE RETURN BY ITSELF. THE
PROGRAM WILL THEN EXECUTE ALL TESTS IN SEQUENCE.

THE 'RUBOUT KEY' (RO) CAN BE USED TO DELETE THE LAST
CHARACTER ENTERED. SUCCESSIVELY STRIKING THE RO KEY

WILL DELETE CHARACTERS UNTIL THE PREVIOUS CHARACTERS HAVE
BEEN DELETED. CHARACTERS DELETED BY THE RO KEY WILL BE
TYPED AND WILL BE SEPARATED BY ‘\' FROM THE CHARACTERS
ENTERED BY THE OPERATOR.

THE OPERATOR CAN DELETE AN ENTIRE ENTRY BY TYPING A
*CONTROL U* (*U).

5.4 TEST CABLE CONNECTION

TO TEST THE RP04/5/6 DUAL CONTROLLER OPTION WITH THIS PROGRAM,
A SPECIAL TEST CABLE MUST BE USED. (THE TEST CABLE 1S

P/N 7010507-02). THE TEST CABLE CONNECTS MASSBUS A & MASSBUS
B TOGETHER AT THE DRIVE BEING TESTED AND IS CONSTRUCTED SO
THAT BIT 0 OF THE MASSBUS UNIT SELECT LINES IS COMPLEMENTED.

b o o d ) D b b d b D e d e i b e =D b i d =D i e i d

NGO 0 0000 Co 0o Qo0 00 0000 ~~
R REN RS ERNERRAR 2SI IF IR

198 WITH THE DRIVE CABLE CONNECTED TO THE RPO4 UNDER TEST,

199 THE DRIVE APPEARS AS TWO UNITS ON THE MASSBUS: EACH FCORT
200 OF THE DRIVE WILL RESPOND TO A DIFFERENT MASSBUS ADDRESS.
201 THE ADDRESS OF EACH PORT WILL DEPEND UPON THE DRIVE'S

202 ADDRESS (THE ADDRESS SELECTED BY THE SWITCHES ON THE

203 'DP' BOARD - MODULE M7775 FOR RP04'S., OR BY THE

Sgg ADDRESS PLUG FOR RP05/6'S.)

206 THE PROGRAM WILL TYPEOUT THE APPARENT ADDRESSES OF BOTH

207 PORTS. (ONE PORT WILL MAVE THE ADDRESS OF THE DRIVE; THME
583 OTHER PORT WILL HMAVE THE ADDRESS DEVELOPED BY THE CABLE).
210 S 2 18 221322122222 32828 8223822228233 2231222322232 323212¢22232¢
211 * ANY OTHER DRIVE ON THE MASSBUS WHICH HAS AN ADDRESS *
212 * IN CONFLICT WITH EITHER OF THE TEST ADDRESSES MUST BE «
213 ~* POWERED DOWN. *
214 AEARRRARN RN AR RN TR AR RN AR AR AR AN ARAAANRNRR NN AR NRRN
215

216 THE TEST CABLE CONNECTION TO THE DRIVE UNDER TEST WILL

217 DEPEND ON WHICH PROCESSOR/RH11 IS TO TEST THE DRIVE. IF
218 THE DRIVE 1S TO BE TESTED BY THE PROCESSOR ON POR) A,

219 THE TEST CABLE IS CONNECTED FROM °‘BUS A OUT' TO °'BuUS B IN'.
220 IF THE DRIVE IS TO BE TESTED BY THE PORT B PROCESSOR, THE
55; TEST CABLE IS CONNECTED FROM °'BUS B OUT' TO °*BUS A IN'.

223 WHEN THE DUAL PORT TEST CABLE IS CONNECTED, THE ATTENTION
224 BITS FOR PORTS A & B ARE ASSERTED IN THE SAME BIT POSITION
225 WHEN °*RPAS® (ATTENTION SUMMARY REGISTER) IS READ. THE ATTENTION
226 BIT POSITION IS DETERMINED BY THE ADDRESS OF THE DRIVE

227 THE ATTENTION BIT THAT APPEARS FOR THME DRIVE IS THE

228 INCLUSIVE 'OR' OF THE PORT A & PORT B ATTENTION BITS. BECAUSE

SEQ 0006
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257 7.1

263 7.2

271 7.3

276 7.4

281 7.5

OF THIS, THE PROGRAM LOOKS AT ONLY THE ATTENTION BIT IN
'RPDS' (DRIVE STATUS REGISTER) TO DETERMINE THE STATE
OF THE SELECTED PORTS'S ATTENTION BIT.

ERRORS

WHEN THE PROGRAM ENCOUNTERS AN ERROR, THE ERROR ROUTINE IS
CALLED AND IF SW<13> IS NOT SET, THE ERROR MESSAGE PERTAINING
TO THE ERROR WILL BE TYPED. EACH ERROR TYPEOUT WILL CONTAIN
THE FOLLOWING:

A. AN ERROR MESSAGE
B. A DATA HEADER LINE
C. A DATA LINE CONTAINING:
1. THE TEST NUMBER
2. THE PC (PROGRAM COUNTER VALUE) WHERE THE ERROR
CALL WAS MADE
3. CONTENTS OF THE APPROPIATE REGISTERS

MISCELLANEOUS

RESTRICTIONS

TO RUN THIS PROGRAM, THE SYSTEM MUST HAVE EITHER A KW11-P
OR A KWi1-L CLOCK. ADDITIONALLY, THE DRIVE UNDER TEST
MUST HAVE THE DUAL PORT TEST CABLE CONNECTED.

LIMITATIONS

THIS PROGRAM DOES NOT TEST DATA TRANSFERS THROUGH EITHER
PORT, DOES NOT TEST THE DYNAMIC OPERATION OF THE DUAL
CONTROLLER OPTION, AND DOES NOT TEST THE UNLOAD COMMAND
OR THE OPERATION OF THE CONTROLLER SELECT SWITCH ON THE DRIVE.
(REFER TO PARAGRAPH 2.2 § 2.3)

EXECUTION TIME

PASS 1 OF THE PROGRAM TAKES ABOUT 45 SECONDS. PASS 2 AND
SUBSEQUENT PASSES TAKE 2.5 MINUTES.

STACK POINTER

THE STACK IS INITIALLY SET TO 1100 AND EXTENDS DOWNWARD
IN MEMORY.,

SUBROUTINE CALLS
THE SUBROUTINE CALLS USED B8Y THE PROGRAM ARE:
A. 'SCOPE' (IOT INSTRUCTION). THIS CALL IS PLACED BETWEEN

SEQ 0007
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7.6

7.7

7.8

EACH TEST IN THE INSTRUCTION. THIS ROUTINE ESTABLISHES
THE ITERATION COUNT AND THE LOOP ON TEST AND L.OOP ON
ERROR ADDRESSES.

B. 'ERROR' (EMT INSTRUCTION). THIS CALL IS USED TO REPORT ALL
ERRORS. THE CALL IS FOLLOWED BY A NUMBER WHICH IDENTIFIES
THE ERROR MESSAGE WHICH WILL BE TYPED.

E:ELgRAP INSTRUCTION IS USED FOR THE FOLLOWING SUBROUTINE

TYPE = TTY TYPEOUT ROUTINE

TYPOC - TYPE OCTAL NUMBER (WITH LEADING ZERO)
TYPOS = TYPE UCTAL NUMBER (NO LEADING ZEROS)

TYPON - TYPE OCTAL NUMBER PER LAST CALL

TYPDS = TYPE DECIMAL NUMBER WITH SIGN

RDCHR = READ CHARACTER FROM TTY KEYBOARD

RDLIN = READ A LINE FROM THE TTY KEYBOARD.

RDOCT = READ AN OCTAL NUMBER FROM THE TTY KEYBOARD

SAVREG - ROUTINE TO SAVE RO-R5
RESREG = ROUTINE TO RESTORE RO-R5

REQUIRED TESTS

IF THE PROGRAM IS BEING EXECUTED IN SINGLE TEST MODE, THE
?Eg?ngﬁEﬂgaL CALL AND RUN THE FOLLOWING TESTS BEFORE OTHER

A. TEST 2 AND TEST 3. THESE TESTS DETERMINE AND STORE FOR
%:{ERngg THE TIMEOUT NON=-SHOT VALUE MEASURED THROUGH

B. TEST 4 AND TEST 5. THESE TESTS SET 'Vv-A' AND ‘'VVv-B°',
RESPECTIVLY. THESE TESTS MUST BE PERFORMED AT LEASE ONCE
BEFORE TESTS 6 - 46 ARE RUN.

DISK SURFACE USAGE
THIS DIAGNOSTIC DOES NOT USE THE DISK SURFACE. HOWEVER, THE
gs£VE MUST BE CYCLED UP AND BE ON LINE FOR THE DIAGNOSTIC TO BE
TEST ITERATIONS
EACH TEST IS PERFORMED ONCE ON THE FIRST PASS THROUGH THE
PROGRAM. ON THE SECOND AND SUBSEQUENT PASSES THROUGH THE
??gggAﬂ. EACH TEST IS PERFORMED THE FOLLOWING NUMBER OF
ITERATION COUNT
TEST NO. (IN DECIMAL)

02 1
1

— el O € =

SEQ 0008
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7.9

7.10

QOO0 O
£ OO000O

4
4000
4000
4000
4000

20
20

IF AN ERROR OCCURS IN A TEST, THAT TEST WILL BE PERFORMED
93b£T0¥8E:1'THE OCCURENCE OF AN ERROR FORCES THE ITERATION
L L

TEST PERFORMED IN THE SINGLE TEST MODE WILL BE ITERATED
}“E ?gg?ER OF TIMES SPECIFIED BY THE ITERATION COUNT FOR

LOOP ON ERROR OPTION

IF SW<09> IS SET, THE PROGRAM WILL LOOP ON A FAILING TEST
UNTIL EITHER THE SWITCH IS RESEY OR THE ERROR STOPS OCCURING.
BECAUSE THE PROGRAM MUST RESET THE RPO4& TO A KNOWN STATE
BEFORE LOOPING ON THE ERROR, THE TEST FOR SW<09> 1S PERFORMED
G;STgETE?QEgF THE TEST = NOT AT THE POINT WHERE THE ERROR

SPECIAL M7775 'DP' BOARD TESTS
THE PROGRAM CONTAINS 2 SPECIAL TESTS FOR THE M7775 °'DP* BOARD

TO VERIFY THE PROPER OPERATION OF THE PORT TIMEOUT ONE-SHOT.
THESE TESTS ARE NOT RUN AS PART OF THE NORMAL SEQUENCE AND MUST

SN BN BN BN B B B N N W NN N RN TV NN = b e b e b b 3 O O
O NN = O NN W= ONO\ NS WA =2 O NN NS LW 2O NN
P
Qo
(=4
o

BE SELECTED BY THE OPERATOR. THE TESTS ARE TEST 45 AND TEST 46.

SEQ 0009
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8.1

8.2

8.3

8.4

8.5

TEST DESCRIPTIONS

METHOD USED TO VERIFY THAT THE DRIVE 1S IN NEUTRAL

THE PROGRAM DETERMINES THAT THE DRIVE IS IN NEUTRAL BY CHECKING
THE CONTENTS OF THE DRIVE STATUS REGISTER (RPDS1) THROUGH

BOTH PORTS. THE PROGRAM MASKS QUT THE PORT DEPENDENT BITS
("ATA' & °*VV') AND VERIFIES THAT CORRECT STATUS IS READ

THROUGH BOTH PORTS. (THE CORRECT STATUS IS 'MOL‘, °'PGM°,
'DPR*, & ‘'DRY'.) IF NEITHER PORT SEES ALL ZEROS FROM

KPDS1, THE PROGRAM CONCLUDES THAT THE DRIVE IS IN NEUTRAL

AND THAT ANY BIT DESCREPANCY BETWEEN PORTS INDICATES A

FAILURE IN THE PATH FOR THAT BIT.

METHOD USED TO VERIFY THAT THE DRIVE HAS BEEN SEIZED

THE PROGRAM VERIFIES THAT THE DRIVE HAS BEEN SEIZED B8Y

CHECKING THE DRIVE STATUS REGISTER (RPDS1) THROUGH .
THE SEIZING PORT AND VERIFING THAT CORRECY STATUS IS

SEEN. WHEN RPDS1 1S READ THROUGH THE OPPOSITE PORT,

ZEROS SHOULD BE SEEN. IF BOTH CONDITIONS EXIST, (I.E.,

CORRECT STATUS THROUGH THE SEIZING PORT AND ZEROS THROUGH

THE OPPOSITE PORT), THE PROGRAM CONCLUDES THAT THE DRIVE

HAS BEEN SEIZED BY THE SPECIFIED PORT.

TEST 1 - DRIVE ACCESS TEST

VERIFY THAT THE DRIVE CAN BE ACCESSED THROUGH BOTH PORTS

A. SELECT DRIVE, VERIFY THAT THE DRIVE 1S PRESENT, THAT THE
DRIJVE IS A DUAL PORT RP04/5/6, THAT THE DRIVE IS ONLINE (RPDS1 HAS
'MOL', 'PGM', °‘DPR', & °'DRY' BilS SET), AND THE THE DRIVE SERIAL
NUMBER READ THROUGH BOTH PORTS IS THE SAME.

B. THE TEST IS REPEATED THROUGH BOTH PORTS.

TEST 2 - PORT ‘A" SEIZE/TIMEOUT TEST

VERIFY THAT THE DRIVE CAN BE SEIZED AND THAT THE PORT TIMEOUT RELEASES
THE DRIVE.

A. WRITE 0°'S INTO RPDS1 THROUGH PORT ‘'A‘'; VERIFY THAT THE DRIVE
HAS BEEN SEIZED.

B. READ EACH DRIVE REGISTER, EXCEPT RPCS1, THROUGH PORT °'8‘;
VERIFY THAT 0°'S ARE READ FROM EACH REGISTER.

C. WAIT FOR THE PORT TIMEOUT TO OCCUR AND RELEASE THE DRIVE.
MEASURE THE DURATION OF THE TIMEQUT ONE SHOT AND SAVE THE
xeb¥£A{0R LATER USE. VERIFY THAT TIMEOUT RETURNED THE DRIVE TO

TEST 3 - PORT 'B' SEIZE/TIMEOUT TEST

CZ
BA
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657

458 VERIFY THAT THE DRIVE CAN BE SEIZED AND THAT THE PORT TIMEOUT RELEASES
228 THE DRIVE.

461 A. WRITE 0'S INTO RPDS1 THROUGH PORT ‘'B'; VERIFY THAT THE DRIVE
22% HAS BEEN SEIZED.

464 ' B. READ EACH DRIVE REGISTER, EXCEPT RPCS1, THROUGH PCRT °A°’;

222 VERIFY THAT 0'S ARE READ FROM EACH REGISTER.

467 C. WAIT FOR THE PORT TIMEOUT TO OCCUR AND RELEASE THE DRIVE.

468 MEASURE THE DURATION OF THE TIMOUT ONE SHOT AND SAVE THE

469 VALUE FOR LATER USE. VERIFY THAT TIMEOUT RETURNED THE DRIVE TO
2;? NEUTRAL.

2;% 8.6 TEST 4 - PORT 'A' COMMAND SEIZE TEST & SET ‘vv-A'

L74 VERIFY THAT THE DRIVE IS SEIZED WHEN A COMMAND IS ISSUED. SET ‘vv'
2;2 FOR THE PORT UNDER TEST.

477 A. ISSUE A DRIVE CLEAR COMMAND THROUGH PORT °A'. VERIFY THAT THE
Z;g : DRIVE WAS SEIZIED BY PORT ‘A’ AND THAT THE °'GO' BIT RESET.

480 8. [ISSUE A READIN PRESET COMMAND THROUGH PORT ‘'A°'. VERIFY THAT THE
235 *VV' BIT WAS SET FOR PORT 'A' AND THAT THE ‘'VV' BIT WAS NOT SET
483 FOR PORT 'B'. (NOTE THAT THE °'Vv' BIT NOT BEING SET FOR PORT
23; ‘8° CAN ONLY BE TESTED THE FIRST TIME THROUGH THE PROGRAM.)

486 C. STALL FOR 2 SECONDS THEN VERIFY THAT THE PORT TIMEOUT RELEASED
23; THE DRIVE AND THE THE DRIVE RETURNED TO NEUTRAL.

238 8.7 TEST 5 - PORT °B' COMMAND SEIZE TEST & SET ‘vv-B8°

9N VERIFY THAT THE DRIVE IS SEIZED WHEN A COMMAND IS ISSUED. SET ‘'vv'
23% FOR THE PORT UNDER TEST.

494 A. ISSUE A DRIVE CLEAR COMMAND THROUGH PORT 'B'. VERIFY THAT THE
zgg DRIVE WAS SEIZIED BY PORT 'B' AND THAT TEH °GO' BIT RESET.

497 B. ISSUE A READIN PRESET COMMAND THROUGH PORT °'B'. VERIFY THAT TME
233 'Vv' BIT FOR PORT °'B°' WAS SET.

500 C. STALL FOR 2 SECONDS THEN VERIFY THAT THE PORT TIMEOUT RELEASED
gg; THE DRIVE AND THE THE DRIVE RETURNED TO NEUTRAL.

ggé 8.8 TEST 6 ~ TEST RELEASE. DRIVE SE1ZcD BY PORT ‘A’

ggg TEST THE OPERATION OF THE RELEASE COMMAND, DRIVE SEIZED

ggg A. SEIZE THE DRIVE THROUGH PORT 'A®' BY WRITING 0'S INTO RPDSI.

509 8. ISSUE A RELEASE COMMAND THRCUGH PORT °*A'. VERIFY THAT THE DRIVE
510 RETURNED TO NEUTRAL, AND THAT NO ERRORS ARE INDICATED BY THE

g;; DRIVE.

513 8.9 TEST 7 - TEST RELEASE, DRIVE SEIZED BY PORT ‘B’

€2
BA
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8.10

8.1

8.12

8.13

TEST THE OPERATION OF THE RELEASE COMMAND, DRIVE SEIZED

A. SEIZE THE DRIVE THROUGH PORT ‘'B' BY WRITING 0°'S INTO RPDS1.

B. ISSUE A RELEASE COMMAND THROUGH PORT 'B', VERIFY THAT THE DRIVE
SSISE?ED TO NEUTRAL, AND THAT NO ERRORS ARE INDICATED BY THE

TEST 10 = TEST RELEASE THROUGH PORT ‘A', DRIVE IN NEUTRAL

TEST OPERATION OF RELEASE COMMAND, DRIVE IN NEUTRAL

A. !SSUE A RELEASE COMMAND THROUGH PORT 'A' WITH THE DRIVE IN
NEUTRAL; VERIFY THAT THE DRIVE REMAINS IN NEUTRAL.

TEST 11 = TEST RELEASE THROUGH PORT ‘B', DRIVE IN NEUTRAL
TEST OPERATION OF RELEASE COMMAND, DRIVE IN NEUTRAL

A. ISSUE A RELEASE COMMAND THROUGH PORT 'B' WITH THE DRIVE IN
NEUTRAL; VERIFY THAT THE DRIVE REMAINS IN NEUTRAL.

TEST 12 - TEST THAT 'CLEAR® DOES NOT CAUSE RELEASE FROM PORT ‘A’

VERIFY THAT A MASSBUS CLEAR OR DRIVE CLEAR WILL NOT CAUSE THE SEIZING
PORT TO RELEASE THE DRIVE.

A. SEIZE THE DRIVE BY WRITING 0'S INTO RPDS1 THROUGH PORT ‘A°,
VERIFY THAT THE DRIVE HAS BEEN SEIZED.

B. ISSUE A DRIVE CLEAR THROUGH PORT ‘A’ AND VERIFY THAT THE DRIVE
DOES NOT RETURN TO NEUTRAL.

C. ISSUE A MASSBUS CLEAR THROUGH THE RH11 AND VERIFY THAT THE DRIVE
DOES NOT RETURN TO NEUTRAL.

D. RELEASE THE DRIVE THROUGH PORT °'A°'. VERIFY THAT THE DRIVt
FETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TEST 13 ~ TEST THAT °'CLEAR' DOES NOT CAUSE RELEASE FROM PORT ‘B’

VERIFY THAT A MASSBUS CLEAR OR DRIVE CLEAR WILL NOT CAUSE THE SEIZING
PORT TO RELEASE THE DRJVE.

A. SEJZE THE DRIVE BY WRITING 0'S INTO RPDS1 THROUGH PORT °B°'.
VERIFY (HAT THE DRIVE HAS BEEN SEIZED.

B. ISSUE A DRIVE CLEAR THROUGH PORT °'B' AND VERIFY THAT THE DRIVE
DOES NGT RETURN TO NEUTRAL.

C. ISSUE A MASSBUS CLEAR THROUGH THE RH11 AND VERIFY THAT THE DRIVE
DOES NOT RETURN TO NEUTRAL.

D. RELEASE THE DRIVE THROUGH PORT ‘B'. VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT [S SET.

€2
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8.14

8.15

8.16

8.17

TEST 14 - TEST RESET ATTENTION °*A' BY MASSBUS CLEAR

VERIFY THAT A MASSBUS INITIALIZE CLEARS ONLY THE ATTENTION BIT OF THE
SEIZING PORT.

A. SET EACH PORT 'S ATTENTION BIT. VERIFY THAT 80TH ATTENTION BITS

B. SEIZE THE DRIVE THROUGH PORT °'A' BY WRITING 0'S INTO RPDS1.

C. ISSUE A MASSBUS CLEAR.

D. RELEASE THE DRIVE THROUGH FURT ‘'A'. VERIFY THAT THE ATTENTION
BIT FOR PORT °'A' HAS BEEN CLEARED AND THE ATTENTION BIT FOR PORT
'‘B* IS STILL SET.

TEST 15 = TEST RESET ATTENTION °*B' BY MASSBUS CLEAR

VERIFY THAT A MASSBUS INITIALIZE CLEARS ONLY THE ATTENTION BIT OF THE
SEIZING PORT.

A. gg} EACH PORT'S ATTENTION BIT. VERIFY THAT BOTH ATTENTiON BITS

B. SEIZE THE DRIVE THROUGH PORT ‘B' BY WRITING 0'S INTO RPDS?.
ISSUE A MASSBUS CLEAR.

D. RELEASE THE DRIVE THROUGH PORT °'B'. VERIFY THAT THE ATTENTION
BIT FOR PORT °'B' HAS BEEN CLEARED AND THE ATTENTION BIT FOR PORT
'A' IS STILL SET.

TEST 16 = TEST CLEAR ATTENTION 8Y MASSBUS INIT - DRIVE IN NEUTRAL

VERIFY THAT MASSBUS CLEAR DOES NOT RESET ATTENTION BITS WHEN THE
DRIVE IS IN NEUTRAL.

A. SET THE ATTENTION BITS FOR BOTH PORTS.
B. VERIFY THAT THE DRIVE IS IN NEUTRAL.
C. éggug A MASSBUS INIT. VERIFY THAT NEITHER ATTENTION BIT HAS

'IEST 17 - TEST SEIZE BY RPCS1 READ THROUGH PORT ‘A’

VERIFY THAT READING THE CONTROL REGISTER (RPCS1) SEIZES THE DRIVE.

A. READ THE CONTROL REGISTER (RPCS1) THROUGH PORT ‘A'; VERIFY THAT
THE DRIVE IS SEIZED.

B. ISSUE A RELEASE COMMAND THROUGH PORT ‘A'; VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TEST 20 - TEST SEIZE BY RP(CS1 REAL THROUGH PORT 'B'
VERIFY THAT READING THE CONTROL REGISTER (RP(S1) SEIZES THE DRIVE.

€2
RP



8
CZRJEDO = DU CNTRL TST 1 MACRO V04,00 17-NOV-81 16:26:15 PAGE 3-11

628

629 A. READ THE CONTROL REGISTER (RPCS1) THROUGH PORT °*B‘: VERIFY THAT
g%? THE DRIVE 1S SEIZED.

632 B. ISSUE A RELEASE COMMAND THROUGH PORT °B'; VERIFY THAT THE DRIVE
2%2 RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

ggg 8.19  TEST 21 = TEST 'PORT REQUEST' FROM PORT ‘A’

637 VERIFY THAT WRITING A DRIVE REGISTER SETS 'PORT REQUEST' WHEN THE

ggg DRIVE IS SEIZED BY THE OTHER PORT.

229 A. SEIZE THE DRIVE THROUGH PORT 'B' BY WRITING 0°S INTO RPDSI.

642 B. WRITE 0'S INOT RPDS1 FROM PORT 'A':; VERIFY THAT THE DRIVE IS STILL
222 SEIZED BY PORT ‘B’.

645 C. ISSUE A RELEASE COMMAND FROM PORT °'B' AND VERIFY THAT THE DRIVE
646 SWITCHED TO PORT 'A'. VERIFY THAT THE ATTENTION BIT IS SET FOR
gzg PORT 'A' AND IS NOT SET FOR PORT 'B'.

649 D. ISSUE A RELEASE COMMAND THROUGH PORT °A' AND VERIFY THAT THE DRIVE
229 RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET

ggg 8.20  TEST 22 - TEST PORT REQUEST FROM PORT ‘B’

654 VERIFY THAT WRITING A DRIVE REGISTER SETS 'PORT REQUEST' WHEN THE

2;2 DRIVE 1S SEIZED BY THE OTHER PORT.

22; A. SEIZE THE DRIVE THROUGH PORT ‘A BY WRITING 0'S INTO RPDS1.

659 B. WRITE 0'S INTO RPDS1 FROM PORT °'B'; VERIFY THAT THE DRIVE IS STILL
gg? SEIZED BY PORT ‘'A’.

662 C. ISSUE A RELEASE COMMAND FROM PORT 'A' AND VERIFY THAT THE DRIVE
663 SWITCHED TO PORT 'B'. VER'FY THAT THE ATTENTION BIT IS SET FOR
ggg PORT 'B' AND IS NOT SET FOR PORT ‘A'.

666 D. ISSUE A RELEASE COMMAND THROUGH PORT 'B' AND VERIFY THAT THE DRIVE
ggg RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

298 8.21 TEST 23 - TEST NO 'PORT REQUEST' WHEN READ RPCS1 THROUGH PORT ‘A’

671 VERIFY THAT READING THE CONTROL REGISTER (RPCS1) DOES NOT SET 'PORT
g;g REQUEST'.

674 A. SEIZE THE DRIVE THROUGH PORT 'B' BY READING RPCS1. VERIFY THAT
g;z THE DRIVE HAS BEEN SEIZED.

g;g B. gg?o THE CONTROL REGISTER FROM PORT °'A'. VERIFY THAT °'DVA' IS NOT
679 )

680 C. ISSUE A RELEASE COMMAND THROUGH PORT 'B°'. VERIFY THAT THE DRIVE
ggg RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

683 8.22  TEST 24 - TEST NO 'PORT REQUEST' WHEN READ RPCS?1 THROUGH PORT 'B°

SEQ 0014
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685 VERIFY THAT READING THE CONTROL REGISTER (RPCS1) DPOES NOT SET 'PORT
23% REQUEST'.
688 A. SEIZE THE DRIVE THROUGH PORT °'A' BY READING RPCS1. VERIFY THAT
238 THE DRIVE HAS BEEN SEIZED.
235 B. §E¢o THE CONTROL REGISTER FROM PORT °'B'. VERIFY THAT 'DVA' IS NOT
693 )
69% C. ISSUE A RELEASE COMMAND THROUGH PORT °‘A'. VERIFY THAT THE DRIVE
ggg RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
ggg 8.23  TEST 25 = TEST RELEASE BY PORT 'A' WHEN SEIZED BY PORT '8’
699 VERIFY THAT A COMMAND ISSUED BY ONE PORT IS NOT RECOGNIZED IF THE ORIVE
;89 IS SEIZED BY THE OTHER PORT.
;%g A. SEIZE THE DRIVE THROUGH PORT 'B* BY WRITING 0'S INTO RPDS1.
;8§ B. ISSUE A RELEASE COMMAND THROUGH PORT ‘'B°.
;39 C. VERIFY THAT THE DRIVE IS STILL SEIZED BY PORT °'B’.
708 D. RELEASE THE DRIVE THROUGH PORT 'B'. VERIFY THAT THE DRIVE SWITCHED
77_?8 TO PORT ‘A’',
711 E. RELEASE THE DRIVE THROUGH PORT °'A‘'. VERIFY THAT THE DRIVE RETURNED
;}% TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
;}g 8.26  TEST 26 - TEST RELEASE BY PORT 'B' WHEN SEIZED BY PORT °*A°
716 VERIFY THAT A COMMAND ISSUED BY ONE PORT IS NOT RECOGNIZED IF THE DRIVE
;;lg IS SEIZED BY THE OTHER PORT.
;33 A. SEI2E THE DRIVE THROUGH PORT 'A*' BY WRITING 0'S INTO RPDS1.
;3; B. ISSUE A RELEASE COMMAND THROUGH PORT °B°.
;%2 C. VERIFY THAT THE DRIVE IS STILL SEIZED BY PORT ‘A’.
725 D. RELEASE THE DRIVE THROUGH PORT 'A'. VERIFY THAT THE DRIVE SWITCHED
728 E. RELEASE THE DRIVE THROUGH PORT 'B'. VERIFY THAT THE DRIVE RETURNED
;gg TO NEUTRAL AND THAT NEITHER ATTENTION BIT 1S SET.
;g; 8.25  TEST 27 - TEST SEIZE BY WRITING ATTENTION BIT
733 TEST THAT WRITING THE APPOPRIATE DRIVE BIT INTO THE ATTENTION REGISTER
734 (RPAS) SEIZES THE ORIVE. VERIFY THAT REQUEST IS SET FOR THE OTHER
;gg PORT.
737 A. WRITE THE APPROPRIATE DRIVE BIT INTO RPAS: VERIFY THAT THE DRIVE
;gg 1S SEIZED.
740 B. ISSUE A RELEASE COMMAND THROUGH THE SEIZING PORT; VERIFY THAT THE
741 DRIVE SWITCHES TO THE OPPOSITE PORT. ISSUE A RELEASE THROUGH THE
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;2% OPPOSITE PORT AND VERIFY THAT THE DRIVE IS IN NEUTRAL.

;22 8.26 TEST 30 - TEST NO SEIZE WHEN '0' WRITTEN INTO ATTENTION BIT

746 VERIFY THAT THE DRIVE IS NOT SEIZED WHEN A 'ZERO' IS WRITTEN INTO
;2; THE DRIVE'S ATTENTION BIT.

749 A. SELECT A DRJVE NOT BEING TESTED AND WRITE ALL BITS, EXCEPT THE
;g? BIT OF THE DRIVE BEING TESTED, INOT THE ATTENTION REGISTER.

;g% B. VERIFY THAT THE DRIVE IS STILL IN NEUTRAL.

;gg 8.27 TEST 31 - TEST PORT 'A' TIMEOUT DOES NOT RESET DRIVE

;gg VERIFY THAT PORT TIMEOUT DOES NOT INITIALIZE THE DRIVE.

;gg A. SEIZE THE DRIVE THMROUGH PORT ‘'A' BY WRITING 0'S INTO RPDS1.

;g? B. WRITF 1°'S INTO RPER1 THROUGH PURT °‘A°‘.

762 C. WAIT FOR THE DRIVE TO TIMEOUT. VERIFY THAT THE DRIVE RETURNED TO
763 NEUTRAL; THAT ATTENTION IS SET FOR PORT °'A°' AND IS NOT SET FOR
;gé PORT *'B°; AND THAT BOTH PORTS SEE 1'S IN THE ERROR REGISTER.

;29 8.28 TEST 32 - TEST PORT 'B' TIMEOUT DOES NOT RESET DRIVE

;gg VERIFY THAT PORT TIMEOUT DOES NOT INITIALIZE THE DRIVE.

;;? A. SEIZE THE DRIVE THROUGH PORT °'B' BY WRITING 0'S INTO RPDS1.

;;% B. WRITE 1°S INTO RPER1 THROUGH PORT ‘'B°‘.

774 C. WAIT FOR THE DDRIVE TO TIMEQUT. VERIFY THAT THE DRIVE RETURNED TO
775 NEUTRAL.; THAT ATTENTION IS SET FOR_PORT ‘8' AND IS NOT SET FOR
;;9 PORT ‘A’ AND THAT BOTH PORTS SEE 1'S IN THE ERROR REGISTER.

;;g 8.29 TEST 33 - TEST RELEASE THROUGH PORT ‘'A' WITH ERRORS SET

780 VERIFY THAT A RELEASE COMMAND PERFORMS NO ACTION IF ISSUED WHEN ERROR
;g; BITS ARE SET IN THE DRIVE.

;%2 A. SEIZE THE DRIVE THROUGH PORT °'A‘' BY WRITING 0'S INTC RPDS1.

;gg B. WRITE 1°S INTO RPERT THROUGH PORT ‘A°.

787 C. ISSUE A RELEASE COMMAND THROUGH PORT 'A'. VERIFY THAT THE 'GO‘
788 BIT HAS RESET, THAT THE DRIVE HAS NOT RETURNED TO NEUTRAL, AND
;gg THAT RPER1 HAS NOT BEEN CLEARED.

;g} D. CLEAR RPER1 BY ISSUING A DRIVE CLEAR COMMAND THROUGH PORT ‘A°.
793 E. ISSUE A RELEASE COMMAND THROUGH PORT °'A‘. VERIFY THAT THE DRIVE
;gg RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

;89 8.30 TEST 34 - TEST RELEASE THROUGH PORT 'B' WITH ERRORS SET

798 VERIFY THAT A RELEASE COMMAND PERFORMS NO ACTION IF ISSUED WHEN ERROR

SEQ 0016
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812

Q0 0o 00 00 00 00
— ) b ) el
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819

8.31

8.33

8.3¢4

BITS ARE SET IN THE ORIVE.

A.
B.
C.

D.
E.

SEIZE THE DRIVE THROUGH PORT °'B' BY WRITING 0°'S INTO RPDS1.
WRITE 1'S INTO RPER1 THROUGH PORT 'B°.

ISSUE A RELEASE COMMAND THROUGH PORT °*B'., VERIFY THAT THE ‘GO’
BIT HAS RESET, THAT THE DRIVE HAS NOT RETURNED TO NEUTRAL, AND
THAT RPER1 HAS NOT BEEN CLEARED.

CLEAR RPER1 BY ISSUING A DRIVE CLEAR COMMAND THROUGH PORT 'B°.

ISSUE A RELEASE COMMAND THROUGH PORT °‘B'. VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TEST 35 - TEST TIMEOUT RETRIGGER THROUGH PORT ‘A’
VERIFY THAT THE PORT TIMEOUT ONE~SHOT CAN BE RETRIGGERED.

SEIZE THE DRIVE THROUGH PORT °*A' BY WRITING 0°'S INTO RPDS1.
WAIT 500 MS AND WRITE 0'S INTO RPDST THROUGH PORT ‘'A°’.

VERIFY THAT THE TIMEOUT OCCURS WITHN + OR - 251 OF THE SPECIFIED
TIME. (THE MEASUREMENT IS MADE FROM STEP 'B°.

g??l;; E??T THE DRIVE RETURNED TO NEUTRAL AND THAT NEITHEKR ATTENTION

TEST 37 - TEST PORT °*A’' ATTENTION AFTER A COMMAND
TEST THE OPERATION OF THE PORT A AND PORT B ATTENTION BITS AFTER A

COMMAND .
A. ISSUE A RECALIBRATE COMMAND THROUGH PORT ‘A‘.
B. WAIT FOR THE RECALIBRATE COMMAND TO COMPLETE (°'DRY® TO BECOME
*1').  VERIFY THAT THE ATTENTION BIT FOR PORT 'A' IS SET AND
THAT THE ATTENTION BIT FOR PORT 'B' IS NOT SET.
C. RELEASE THE DRIVE THROUGH PORT °*A'. VERIFY THAT THE DRIVE RETURNED

TO NEUTRAI AND THAT NEITHER ATTENTION BIT IS SET.

TEST 40 - TEST PORT °'B*' ATTENTION AFTER A COMMAND
TEST THE OPERATION OF THE PROT A AND PORT B ATTENTION BITS AFTER A
COMMAND .

A.

ISSUE A RECALIBRATE COMMAND THROUGH PORT 'B°‘.

WAIT FOR THE RECALIBRATE COMMAND TO COMPLETE (°'DRY' TO BECOME
*1').  VERIFY THAT THE ATTENTION BIT FOR PORT °'B' IS SET AND
THAT THE ATTENTION BIT FOR PORT 'A' IS NOT SET.

RELEASE (..c DRIVE THROUGH PORT °'B'. VERIFY THAT THE DRIVE RETURNED
TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

C2
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8.35

8.36

8.37

TEST 41 -~ TEST PORT INTERACTION FROM PORT ‘A’

VERIFY THAT THERE IS NO INTERACTION BETWEEN PORTS.

A. SEIZE THE DRIVE THROUGH PORT ‘A’ BY WRITING 0'S INTO RPDS1.
B. WRITE 1'S INTO RPER1, RPER2, & RPER3 THROUGH PORT ‘'A’.

C. READ RPER1, RPERZ, & RPER3 THROUGH PORT 'B'. VERIFY THAT PORT
‘B' SEES 0'S FROM EACH OF THESE REGISTERS.

D. CLEAR RPER1, RPER2, €& RPER3 THROUGH PORT °‘A°‘.

E. WRITE 1'S INTO RPER1, RPERZ2, & RPER3 THROUGH PORT 'B'. VERIFY THAT
PORT 'A' SEES 0'S FROM EACH OF THESE REGISTERS.

F. RELEASE THE DRIVE THROUGH PORT ‘'A‘'. VERIFY THAT THE DRIVE HAS
SWITCHED TO PORT ‘B°' AND THAT THE ATTENTION BIT FOR PORT °'B' IS
SET AND THE ATTENTION BIT FOR PORT ‘B°' IS NOT SET.

G. ISSUE A RELEASE COMMAND THROUGH PORT ‘B°'. VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TEST 42 - TEST PORT INTERACTION FROM PORT °'B'

VERIFY THAT THERE IS NO INTERACTION BETWEEN PORTS.

A. SEIZE THE DRIVE THROUGH PORT ‘'B' BY WRITING 0°'S INTO RPDS1.
B. WRITE 1°'S INTO RPER1, RPER2, & RPER3 THROUGH PORT ‘B8'.

C. READ RPER1, RPER2, & RPER3 THROUGH PORT ‘'A'. VERIFY THAT PORT
'A' SEES 0'S FROM EACH OF THESE REGISTERS.

D. CLEAR RPER1, RPER2, €& RPER3 THROUGH PORT '8°.

E. WRITE 1'S INTO RPER1, RPERZ2, & RPER3 THROUGH PORT 'A‘'. VERIFY THAT
PORT 'B' SEES 0'S FROM EACH OF THESE REGISTERS.

F. RELEASE THE DRIVE THROUGH PORT 'B'. VERIFY THAT THE DRIVE HAS
SWITCHED TO PORT 'A' AND THAT THE ATTENTION BIT FOR PORT ‘A" IS
SET AND THE ATTENTION BIT FOR PORT °'B' IS NOT SET.

G. ISSUE A RELEASE COMMAND THROUGH PORT ‘A‘', VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TEST 43 ~ TEST PORT ‘A’ ALTERNATE ATTENTION BIT FATH

VERIFY THAT THE ALTERNATE ATTENTION REGISTER READ PATH IS OPERATIONAL.
A. SET THE ATTENTION BIT FOR PORT ‘A‘.

B. SEIZE THE DRIVE THROUGH PORT °B' BY WRITING 0'S INTO RPDS1.

C. READ THE ATTENTION REGISTER & VERIFY THAT THE ATTENTION BIT
FOR THE DRIVE IS SET.

C2
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g}z 8.38 TEST 44 - TEST PORT 'B' ALTERNATE ATTENTION BIT PATH

g}z VERIFY THAT THE ALTERNATE ATTENTION REGISTER READ PATH IS OPERATIONAL.
g}g A. SET THE ATTENTION BIT FOR PORT 'B°'.

3}3 B. SEIZE THE DRIVE THROUGH PORT 'A' BY WRITING 0°'S INTO RPDS1.

921 C. READ THE ATTENTION REGISTER & VERIFY THAT THE ATTENTION BIT
gsg FOR THE DRIVE IS SET.

3%% 8.39 TEST 45 = TEST NO TIMEOUT THROUGH PORT ‘A’

926 VERIFY THAT THE TIMEOUT ONE-SHOT IS NOT TRIGGERED WHEN THE DRIVE
927 SWITCHES PORTS AND SEIZING PORT PERFORMS NO REGISTER ACCESSES.

928 THIS TEST IS FOR DRIVES WHICH HAVE THE M7775 °'DP' BOARD AND IS

929 NOT RUN AS PART THE TEST SEQUENCE. TO RUN THIS TEST, IT MUST

gg? BE SELECTED SEPARATELY.

3%% A. SEIZE THE DRIVE THROUGH PORT °'B' BY WRITING 0°'S INTO RPDS1.

3%2 B. SET PORT REQUEST BY WRITING 0'S INTO RPDS1 FROM PORT ‘A’.

936 C. ISSUE A RELEASE COMMAND FROM PORT °B'. VERIFY THAT THE DRIVE
937 HAS SWITCHED TO THE OTHER PORT AND THAT THE °'ATA' BIT DID NOT
ggg SET FOR PORT °'B'. REGISTERS WILL NOT BE CHECKED THROUGH PORT ‘A’.
940 D. WAIT THE TIMEOUT INTERVAL + 25X. VERIFY THAT THE DRIVE HAS NOT
32; BEEN RELEASED.

943 E. RELEASE THE DRIVE THROUGH PORT ‘A‘'. VERIFY THAT THE DRIVE

gzg RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

329 8.40 TEST 46 - TEST NO TIMEOUT THROUGH PORT °'8'

948 VERIFY THAT THE TIMEOUT ONE=-SHOT IS NOT TRIGGERED WHEN THE DRIVE
949 SWITCHES PORTS AND SEIZING PORT PERFORMS NO REGISTER ACCESSES.

950 THIS TEST IS FOR DRIVES WHICH HAVE THE M7775 'DP°' BOARD AND IS

951 NOT RUN AS PART THE TEST SEQUENCE. TO RUN THIS TEST, IT MUST

gg% BE SELECTED SEPARATELY.

3§g A. SEIZE THE DRIVE THROUGH PORT ‘A’ BY WRITING 0'S INTO RPDS1.

329 B. SCT PORT REQUEST BY WRITING 0°'S INTO RPDS1 FROM PORT °'B°.

958 C. ISSUE A RELEASE COMMAND FROM PORT 'A'. VERIFY THAT THE DRIVE
959 HAS SWITCHED TO THE OTHER PORT AND THAT THE 'ATA' BIT DID NOT
gg? SET FOR PORT °'A°'. REGISTERS WILL NOT BE CHECKED THROUGH PORT °'B°'.
962 D. WAIT THE TIMEOUT INTERVAL + 25%. VERIFY THAT THE DRIVE HAS NOT
322 BEEN RELEASED.

965 E. RELEASE THE DRIVE THROUGH PORT °'B'. VERJFY THAT THE DRIVE

329 RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

968

SEQ 0019
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970 9. PROGRAM LISTING
71 7 ceeeememsatena-
972 3

mo
0
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1 :*LAST REVISION 30-0CT-81

SEQ 0021
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497
498

499

500

001100
104000
000004

000011
000012
000015
000200
177776
177776
177774
177772
177570
177570

000000
000001
000002
000003
000004
000005
000006
000007
000006
000007

000000
000040
000100

.TITLE CZRJEDO - DU CNIRL
;*COPYRIGHT (C) 1976,1977.1
:«DIGITAL EQUIPMENT CORPORA
*COLORADO SPGS., (0. 80919

*PROGRAH BY C. HESS

tTHIS PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDEC SYSMAC
*PACKAGE (MAINDEC-11-DZQAC-C5), 18-MAR-81

.SBTTL OPERATIONAL SWITCH SETTINGS
SWITCH USE

s HALT ON ERROR

1% LOOP ON TEST
13 INHIBIT ERROR_TYPEOUTS
10
9

IST 1
981
TION

INHIBIT ITERATIONS
BELL ON ERROR

LOOP ON ERROR
.SBTTL BASIC DEFINITIONS

:*INITIAL ??BGESS OF THE STACK POINTER #xx 1100 =

L 2R B BN B BE B N B 4

Ve Vs By By 0y 0y By N N,y

STACK =

ERROR = EMT :sBASIC DEFINITION OF ERROR CALL

SCOPE = I0T ;sBASIC DEFINITION OF SCOPE CALL
s *MISCELLANEOUS DEF INITIONS

HT =1 ;s CODE FOR HORIZONTAL TAB

LF =12 :sCODE FOR LINE FEED

CR =15 :;CODE FOR CARRIAGE RETURN

CRLF = 200 ; :CODE_FOR CARRIAGE RETURN-LINE FEED

:gu -ps = 177776 : :PROCESSOR STATUS WORD

STKLMT = 177774 ;s STACK LIMIT REGISTER

PIRQ = 177772 . sPROGRAM INTERRUPT REQUEST REGISTER

DSWR = 177570 : sHARDWARE SWITCH REGISTER

pDDISP = 177570 : ;HARDWARE DISPLAY REGISTER

: *GENERAL PURPOSE REGISTER DEF INITIONS

RO =20 sGENERAL REGISTER

R1 = % ..GENERAL REGISTER

R2 = 12 s :GENERAL REGISTER

R3 = 13 : :GENERAL REGISTER

Ré = { : ;GENERAL REGISTER

RS = 25 : GENERAL REGISTER

Ré = X6 ; ;GENERAL REGISTER

R7 = ¥ : GENERAL REGISTER

SP = 26 : s STACK POINTER

PC = X7 : s PROGRAM COUNTER

:*PRIORITY LEVEL DEFINITIONS

PRO = ;sPRIORITY LEVEL 0

PR1 = 40 :;PRIORITY LEVEL 1

PR2 = 100 «;PRIORITY LEVEL 2

SEQ 0022
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BASIC DEFINITIONS

00014') PR3 = 140 ;sPRIORITY LEVEL 3

00020) PR& = 200 :sPRIORITY LEVEL 4

000240 PRS = 240 ;sPRIORITY LEVEL 5

000300 PR6 = 300 ;;PRIORITY LEVEL 6

000340 PR7 = 340 ssPRIORITY LEVEL 7
;*' 'SWITCH REGISTER'' SWITCH DEFINITIONS

100000 SWY15 = 100000

040000 SWi4 = 40000

020000 SW13 = 20000

010000 Swi12 = 10000

004000 SWw11 = 4000

002000 SWw10 = 2000

001000 SW09 = 1000

000400 SW08 = 400

000200 Sw07 = 200

000100 SW06 = 100

000040 SW05 = 40

000020 SW04 = 20

000010 SW03 =10

000004 Sw0?2 = 4

000002 Swo1 =2

000001 Sw00 =1

001000 SW9=5uw09

000400 SW8=Sw08

000200 SW7=5w07

000100 SW6=5w06

000040 SW5=5W05

000020 SW4=SW04

000010 SW3=Sw03

000004 SW2=Sw0?

000002 SW1=SwW01

000001 SW0=Sw00
:*DATA BIT DEFINITIONS (BIT00 TO BIT15)

100000 BIT15 = 100000

040000 BIT14 = 40000

020000 BIT13 = 20000

010000 BIT12 = 10000

004000 BIT11 = 4000

002000 BIT10 = 2000

001000 BITO9 = 1000

000400 BITO8 = 400

000200 BIT07 = 200

000100 BITO6 = 100

000040 BITOS = 40

000020 BITO4 =20

000010 BITO3 =10

000004 BITQ2 =4

000002 BITO1 =2

000001 BITOO =1

001000 BIT9=B17109

000400 BIT8=BIT08

000200 BI117=81707

000100 BIT6=BIT06

000040 BI75=B1105

000020 BIT4=BIT04

SEQ@ 0023
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BASIC DEFINITIONS

000010
000004
000002
000001
000004
000010
000014
000014
000014
000020
000024
000030
000034
000060
000064
G00240

502

503

504

505

506

507 000100

508 000200

509 000400

510 001000

511 002000

512 020000

513 040000

514 10000¢

515

516

517

518

519

520

521

522

523

524 000001

525 000002

526 000004

527 000010

528 000020

529 000040

530 000100

531 000200

532 000400

533 001000

534 002000

535 004000

536 010000

537 020000

538 040000

539 100000

540

BIT3=BIT103

BI172=81702

BIT1=BIT01

BIT0=BITO00

:*BASIC ''CPU'’ TRAP VECTOR ADDRESSES

ERRVEC = 4 TIME OUT AND QTHER ERRORS

RESVEC = 10 ..RESERVED AND ILLEGAL INSTRUCTIONS
TBITVEC = 14 T BIT

TRTVEC = 14 ..TRACE TRAP

BPTVEC = 14 :BREAKPOINT TRAP (BPT)

IOTVEC = 20 : :INPUT/OUTPUT TRAP (I0T) ~+SCOPE**
PWRVEC = 24 : ;POWER FAIL

EMTVEC = 30 ..EHULATOR TRAP (EMT) w»«ERRCRw**
TRAPVEC = 34 ;"'TRAP'' TRAP

TKVEC = 60 ::TTY KEYBOARD VECTOR

TPVEC = 64 ;s TTY PRINTER VECTOR

PIRQVEC = 240 : ; PROGRAM INTERRUPT REQUEST VECTOR

.SBTTL RH11 REGISTERS
;CONTROL AND 3STATUS REGISTER 1 (RPCST)

IE= 100 ; INTERRUPT ENABLE (BIT #6)

RDY= 200 ;READY (BIT #7)

A16= 400 ;HIGH ORDER BUS ADDRESS BIT (BIT #8)
A17= 1000 ;HIGH ORDER BUS ADDRESS BIT (BIT #9)
PSEL= 2000 ;PORT SELECT (BIT #10)

MCPE= 20000 ;MASSBUSS PARITY ERROR (BIT #13)
TRE= 40000 : TRANSFER ERROR (BIT #14)

SC= 100000 ;SPECIAL CONDITION (BIT #15)

;WORD COUNT REGISTER (RPW(C)
; (EACH BIT IS CALLED BY BIT NUMBER)

;B8!S ADDRESS REGISTER (RPBA)
s (CACH BIT IS CALLED BY BIT NUMBER)

;CONTROL AND STATUS REGISTER 2 (RP(CS2)

VRYE 1 SUNJT SELECT (BI~ #0)

us2= 2 JUNIT SELECT (BIT #1)

USé4= 4 SUNIT SELECT (BIT #2)

BAl= 10 :BUS ADDRESS INCREMENT INMIBIT (BIT #3)
PAT= 20 :MASSBUS PARITY TEST (BIT #4)
CLR= 40 ;CLEAR (BIT #5)

IR= 100 : INPUT _READY (BIT #6)

OR= 200 :OUTPUT READY (BIT #7)

MPE= 400 :MASS BUS PARITY ERROR (BIT #8)
MXF = 1000 ;MISSED TRANSFER ERROR (BIT #9)
PGE= 2000 :PROGRAM ERROR (BIT #10)

NEM= 4000 :NON EXISTENT MEMORY (BIT 1)
NED= 10000 :NON EXISTENT DRIVE (BIT 012)
UPE= 20000 ;UNIBUS PARITY ERROR (BIT #13)
WCE= 40000 :WRITE CHECK ERROR (BIT #14)
DLT= 100000 :DATA LATE (BIT #15)

SEQ@ 0024

cZl
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RH11 REGISTERS

561

562 ;DATA BUFFER REGISTER (RPDB)

222 : (EACH BIT IS CALLED BY BIT NUMBER)

545

229 .SBTTL RPO4/5/€ REGISTERS

gzg ;CONTROL AND STATUS 1 REGISTER. (#00)

550 000001 G0= 1 ;G0 BIT (BIT #0)

551 000002 Fl= 2 ;FUNCTION CODE BIT #1

952 000004 F2= 4 ;JFUNCTION CODE BIT #2

553 000010 F3= 10 ;FUNCTION CODE BIT #3

554 000020 Fé= 20 SsFUNCTION CODE BIT #4

555 000040 F5= 40 ;FUNCTION CODE BIT #5

gg? 004000 DVA= 4000 ;DEVICE AVAILABLE (BIT #11)

ggg ;DRIVE STATUS REGISTER (RPDS1) (#01)

560 ;DFS= 1 DRIVE FORWARD 5°''/SEC. (BIT #0)
561 000002 DFF20= 2 :DRIVE FORWARD 20'/SEC. (BIT #1)
562 000004 DIGB= 4 ;DRIVE TO INNER GUARD BAND (BIT #2)
563 000010 GRV= 10 ;60 REVERSE (BIT #3)

564 000020 DLé4= 20 :DIFFERENCE LESS THAN 64 (BIT #4)
565 000040 DE1= 40 :DIFFERENCE EQUALS 1 (BIT #5)

566 000100 vy= 100 :VOLUME VALID (BIT #6)

567 000200 DRY= 200 :DRIVE READY (BIT #7)

568 000400 DPR= 400 ;:DRIVE PRESENT (BIT #8)

569 001000 PGM= 1000 :PROGRAMABLE (BIT #9)

570 002000 LST= 2000 ;LAST SECTOR TRANSFERRED (BIT #10)
571 004000 WRL = 4000 ;WRITE LOCK (BIT #11)

572 010000 MOL = 10000 ;MEDIUM ON-LINE (BIT #12)

573 020000 PIP= 20000 ;POSITIONING OPERATION IN PROGRESS (BIT #13)
574 040000 ERR= 40000 ;COMPOSITE ERROR (BIT #14)

g;g 100000 ATA= 100000 ;ATTENTION ACTIVE (BIT M5)

g;g ;ERROR REGISTER #01 (RPER1) (#02)

579 000001 ILF= 1 ;JLLEGAL FUNCTION (BIT #0)

580 000002 ILR= 2 ;JLLEGAL REGISTER (BIT #1)

581 000004 RMR = 4 ;REGISTER MODIFICATION REFUSED (BIT #2)
582 000010 PAR= 10 sPARITY ERROR (BIT #3)

583 000020 FER= 20 ;FORMAT ERROR (BIT #4)

584 000040 WCF= 40 JWRITE CLOCK FAIL (BIT #5)

585 000100 ECH= 100 ;ECC HARD ERROR (BIT #6)

586 090200 HCE= 200 :HEADER COMPARE ERROR (BIT #7)
587 000400 HCRC= 400 ;HEADER CRC ERROR (B1T #8)

588 001000 AOE= 1000 -ADDRESS OVERFLOW ERROR (BIT #9)
589 002000 1AE= 2000 :INVALID ADDRESS ERROR (BIT #10)
590 004000 WLE= 4000 ;WRITE LOCK ERROR (BIT #11)

591 010000 DTE= 10000 ;DRIVE TIMING ERROR (BIT #12)

592 020000 OPl= 20000 ;OPERATION INCOMPLETE (BIT #13)
593 040000 UNS= 40000 ;DRIVE UNSAFE (BIT #14)

ggg 100000 DCK= 100000 :DATA CHECK ERROR (BIT 15)

596 JMAINTAINABILITY REGISTER (RPMR) (#03)

SEQ@ 0025
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RP04/5/6 REGISTERS

598 000001 OMD= 1 :DIAGINOSTIC MODE (BIT #0)

599 000002 MCLK= 2 JMAINTAINABILITY CLOCK (BIT #1)
600 000004 MINX= & :MAINTAINABILITY INDEX (BIT #2)
601 000010 MSTCK= 10 sMAINTAINABILITY SECTOR CLOCK (BIT #3)
602 000020 MRD= 20 :MAINTAINABILITY READ (BIT #4)
603 000040 MWR= 40 :MAINTAINABILITY WRITE (BIT #5)
ggg 000200 DTSY= 200 :MAINTAINABILITY SYNC DETECTED (BIT #7)
289 :ATTENTION SUMMARY PSEUDO~REGISTER (RPAS) (#04)

608 000001 ATO= ] ;DEVICE O (BIT #0)

609 000002 AT1= 2 :DEVICE 1 (BIT #1)

610 000004 AT2= 4 ;DEVICE 2 (BIT #2)

611 000010 AT3= 10 :DEVICE 3 (BIT #3)

612 000020 AT4= 20 :DEVICE & (BIT #4)

613 000040 ATS= 40 :DEVICE 5 (BIT #5)

614 000100 ATH= 100 :DEVICE 6 (BIT #6)

g}g 000200 AT7= 200 :DEVICE 7 (BIT #7)

617 ;DESIRED SECTOR/TRACK ADDRESS REGISTER (RPDA) (#05)

2}3 :(EACH BIT 1S CALLED BY BIT NUMBER)

ggg :DRIVE TYPE REGISTER (RPDT) (#06)

622 000001 pT00= 1 :DRIVE TYPE NUMBER BIT 1

623 000002 DTO1= 2 :DRIVE TYPE NUMBER BIT 2

624 000004 DT02= & ;DRIVE TYPE NUMBER BIT 3

625 000010 pTO3= 10 ;DRIVE TYPE NUMBER BIT 4

626 000020 DT04= 20 :DRIVE TYPE NUMBER BIT §

627 000040 DTOS= 40 :DRIVE TYPE NUMBER BIT 6

628 000100 DT06= 100 :DRIVE TYPE NUMBER BIT 7

629 000200 DTC7= 200 ;DRIVE TYPE NUMBER BIT 8

630 000400 DT08= 400 :DRIVE TYPE NUMBER BIT 9

631 004000 DRQ= 4000 :DRIVE REQUEST REQUIRED (BIT #11)
632 020000 MOH= 20000 ;MOVING HEAD {BIT #13)

633 040000 TAP= 40000 :TAPE DRIVE /SIT #14)

ggg 100000 NBA= 100000 ;NOT BLOCK ADDRESSED (BIT #15)
ggg ;LOOK=AHEAD REGISTER (RPLA) (#07)

638 000001 EXT1= 1 EXTENSION 1 (BIT #0)

639 000002 EXT2= 2 JEXTENSION 2 (BIT #1)

640 000004 EXT4= & EXTENSION 3 (BIT #2)

641 000010 EXT10= 10 ;EXTENSJON 4 (BIT #3)

64/ 000020 EXT20= 20 JEXTENSION S (BIT #4)

L3 000040 EXTL0- 40 ;EXTENSION 6 (BIT #5)

644 000100 SC1= 100 ;SECTOR COUNT FIELD O (BIT #6)
645 000200 SC2= 200 JSECTOR COUNT FIELD 1 (BIT #7)
646 000400 SC4= 400 :SECTOR COUNT FIELD % (BIT #8)
647 001000 SC10= 1000 :SECTOR COUNT FIELD 3 (BIT #9)
648 002000 sc20= 2000 ;SECTOR COUNT FIELD & (BIT #10)
649 004000 TRK1= 4000 TRACK FIELD 1 (BIT #11)

650 010000 TRK2= 10000 :TRACK FJIELD g (BIT 01%)

651 020000 TRK4= 20009 sTRACK FIELD 3 (BIT #13)

65¢ 040000 TRK10= 40000 JTRACK FIELD 4 (BIT #14)

ggz 100000 TRK20= 100000 ;TRACK FIELD S (BIT m5)

l
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RP04/5/6 REGISTERS

655
656
657 000001
658 000002
659 000004
660 000010
661 000020
66¢ 000040
663 000100
664 000200
665 000400
666 001000
667 002000
668 004000
669 0100C9
670 020000
671 100000
672
673
674
675 000001
676 000002
677 000004
678 000010
679 000020
680 000040
681 000100
682 000200
683 000400
684 001000
685 002000
686 004000
687 020000
688
689
690
691 000001
692 000002
693 000004
694 000010
695 000020
696 000040
697 000200
698 002000
699 004000
700 010000
701
702
703
704
705
206
707
708
709
710
71

:RPO4 ERROR REGISTER #2 (RPER2) (#10)

WwCU= 1 ;WRITE CURRENT UNSAFE (BIT #0)
CSF= 2 ;CURRENT SINK FAILURE (BIT #1)
WSuU= 4 ;WRITE SELECT UNSAFE (BIT #2)
CSuU= 10 ;CURRENT SWITCH UNSAFE (BIT #3)
MSE= 20 :MOTOR SEQUENCE ERROR (BIT #4)
TDF= 40 ;TRANSITIONS DETECTOR FAILURE (BIT #5)
TUF= 100 ;TRANSITIONS UNSAFE (BIT #6)
FEN= 200 ;FAILSAFE ENABLED (BIT #7)

WRU= 400 ;WRITE READY UNSAFE (BIT #8)
MHS= 1000 JMULTIPLE HEAD SELECT (BIT #9)
NHS= 2000 sNO HEAD SELECTION (BIT #10)
IXE= 4000 ;INDEX ERROR (BIT #11)

vu3o= 10000 ;30VOLT UNSAFE (BIT #12)

PLU= 20000 ;PLO UNSAFE (BIT #13)

ACU= 100000 ;AC UNSAFE (BIT #15)

;RP05/6 ERROR REGISTER #02 (RPERZ) (#10)

WCU= 1 ;WRITE CURRENT UNSAFE (BIT #40)

CSF= 4 ;CURRENT SINK FAILURE (BIT #1)

WSU= 4 ;WRITE SELECT UNSAFE (BIT #2)

CSu= 10 s CURRENT SWITCH UNSAFE (BIT #3)
RAW= 20 JREAD AND WRITE (BIT #4)

TDF= 40 sTRANSITIONS DETECTOR FAILURE (BIT #5)
TUF= 100 :TRANSITIONS UNSAFE (BIT #6)

ABS= 200 ;ABNORMAL STOP (BIT #7)

WRU= 400 ;WRITE READY UNSAFE (BIT #8)

MHS= 1000 ;MUTLTIPLE HEAD SELECT (BIT #9)
NHS= 2000 sNO HEAD SELECTION (BIT #10)

IXE= 4000 - INDEX ERROR (BIT #11)

PLU= 20000 ;PLO UNSAFE (BIT #12)

;OFFSET REGISTER (RPOF) (#11)

0F25= 1 ;OFFSET 25 MICRO INCHES (BIT #0)
0F50= 2 ;OFFSET 50 MICRO INCHES (BIT #1)
0F100= 4 ;OFFSET 100 MICRO INCHES (BIT #2)
0F200= 10 ;OFFSET 200 MICRO INCHES (BIT #3)
0F400= 20 ;OFFSET 400 MICRO INCHES (BIT #4)
0F800= 40 ;OFFSET 800 MICRO INCHES (BIT #5)
OFREV= 200 ;OFFSET NEGATIVE (REVERSE) (BIT #5)
HCl= 2000 ;HEADER COMPARE INHIBIT (BIT #10)
ECl= 4000 ;ERROR CORRECTION CODE INHIBIT (BIT #11)
FMT22= 10000 ;FORMAT BIT (BIT #12

;DESIRED CYLINDER ADDRESS (RPCA) (#12)

s (EACH BIT IS CALLED BY BIT NUMBER)

sCURRENT CYLINDER ADDRESS (RPCC) (#13)
s (EACH BIT IS CALLED BY BIT NUMBER)

;SERIAL NUMBER REGISTER (RPSN) (#14)
;(EACH IS CALLED BY BIT NUMBER)

;RP0O4 ERROR REGISTER #03 (RPER3) (#15)

SEQ 0027

crs
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SEQ 0028

712

13 000001 PSU= 1 sPACK SPEED UNSAFE (BIT #40)

714 000002 VUF = 2 ;VELOCITY UNSAFE (BIT #1)

715 000010 UWR= 10 :ANY UNSAFE EXCEPT READ/WRITE (BIT #3)

716 000020 PRE= 20 :DISK PACK ROTATION ERRUR (BIT #4)

"7 000040 ACL= 40 :AC LOW (BIT #5)

718 000100 DCL= 100 :DC LOW (BIT #6)

719 040000 SKl= 40000 :SEEK_INCOMPLETE (BIT #14)

;g? 100000 ocyL= 100000 :OFF CYLINDER (BIT #15)

;%% sRP05/6 ERROR REGISTER #03 (RPER3) (#15)

724 000001 DCU= 1 ;DC UNSAFE (BIT #0)

725 000002 WAQ= 2 SWRITE AND OFFSET (BIT #1)

726 000040 ACL= 40 ;AC LOW (BIT #5)

727 000100 DCL= 100 :DC LOW (BIT #6)

728 020000 OPE= 20000 :OPERATOR PLUG ERROR (BIT #13)

729 040000 SKl= 40000 :SEEK INCOMPLETE (BIT #14)

;%? 100000 ocyL= 100000 ;OFF CYLINDER ERROR (BIT #15)

732

733 ;ECC POSITION REGISTER (RPEC1) (#16)

;gg :(EACH BIT IS CALLED BY BIT NUMBER)

736

737 JECC PATTERN REGISTER (RPEC2) (#17)

;gg ; (EACH BIT IS CALLED BY BIT NUMBER)

740

;2; .SBTTL DEFINITIONS OF THE RH11/RP04/5/6 ADDRESS INDEXES

743 000000 RPCS1=0 ;CONTROL AND STATUS REGISTER #1 (DRIVE REG. 00)
744 000002 RPW(=2 sWORD COUNT REGISTER (NOT A DRIVE REG)

745 000004 RPBA=4 sUNIBUS ADDRESS REGISTER (NOT A DRIVE REG)

746 000006 RPDA=6 ;DESIRED SECTOR/TRACK ADDRESS REGISTER (DRIVE REG. 05)
747 000010 RPCS2=10 ;CONTROL AND STATUS REGISTER #2 (NOT A DRIVE REG)
748 000012 RPDS1=12 :DRIVE STATUS REGISTER (DRIVE REG 01)

749 000014 RPER1=14 :ERROR REGISTER #1 (DRIVE REG. 02)

750 000016 RPAS=16 :ATTENTION SUMMARY PSEUDO REGISTER (DRIVE REG. 04)
751 000020 RPLA=20 :LOOK AHEAD REGISTER (DRIVE REG. 07)

752 000022 RPDB=22 :DATA BUFFER REGISTER (NOT A DRIVE REG.)

753 000024 24 IMAINTAINABILITY REGISTER (DRIVE REG. 03)

754 000026 RPDT=26 sDRIVE TYPE REGISTER (DRIVE REG. 06)

755 000030 RPSN=30 :SERIAL NUMBER REGISTER (DRIVE REG. 10)

756 000032 RPOF=32 ;OFFSET REGISTER (DRIVE REG. 11)

757 000034 RPCA=34 :DESIRED CYLINDER ADDRESS REGISTER (DRIVE REG. 12)
758 000036 RPCC=36 : CURRENT CYLINDER ADDRESS REGISTER (DRIVE REG. 13)
759 000040 RPER2=40 sERROR REGISTE lg (DRIVE REG. 14)

760 000042 RPER3=42 sERROR REGISTE (DRIVE REG. 15)

761 000044 RPEC1=44 cECC POSITION REGISTER (DRIVE REG. 16)

762 000046 RPEC2=46 2ECC PATTERN REGISTER (DRIVE REG. 17)

CZi
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TRAP CATCHER
1

000174
000176

5 000200
z 000204
5

000046
000052

000000

000174
000000
000000

000137 002144
000137 002154

000210

000210

.SBTTL TRAP CATCHER

.=0
;*ALL UNUSED LOCATIONS FROM & - 776 CONTAIN A '',+2 HALT"
;*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
:*LOCATION19‘C0NTAINS O TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD 0 ; :SCF TWARE DISPLAY REGISTER

SWREG:  .WORD 0 *:SOFTWARE SWITCH REGISTER

.SBTTL STARTING ADDRESS(ES)
JMP aASTART ::JUMP TO STARTING ADDRESS OF PROGRAM
JMP  GASTART :START AND CHANGE THE RH/RP ADDRESS

.SBTTL ACT11 HOOKS

JoRRARRRATRARANCANANRAREARCRAARAARARRARAARCRARRAARCAARR AR A

*HOOKS REQUIRED BY ACT11

sgxgc=. SAVE PC
iEggAD ;21)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
WORD 20000 ;:2)SET LOC.52 TO 20000

~=$SVPC :t“RESTORE PC

SEQ 0029

€2
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377

000

377

.SBTTL COMMON TAGS

';ttttttttt**t*t*t*tt*ttit'ttiﬁttttttttﬁttttttttttttt*tti*tiit'tt

;*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
;*USED IN THE PROGRAM.

.=1100
SCMTAG:
$PASS: .WORD
$TSTNM: .BYTE
SERFLG: .BYTE
$ICNT: .WORD
SLPADP: .WORD
SLPERR: .WORD
$ERTTL: .WORD
$ITEMB: .BYTE
$ERMAX: .BYTE
$ERRPC: .WORD
$GDADR: .WORD
$BDADR: .WORD
$GDDAT: .WORD
$8DDAT: .WORD
.WORD
.WORD
SAUTOB: .BYTE
$INTAG: .BYTE
.WORD
SWR: .WORD
DISPLAY: .WORD
$TKS: 177560
$TK8: 177562
$TPS: 177564
$TPB: 177566
$SNULL: .BYTE
$FILLS: .BYTE
$FILLC: .BYTE
$TPFLG: .BYTE
$SREGAD: .WORD
$REGO: .WORD
$TMPO: .WORD
$TMP1: .WORD
$TMPZ2: .WORD
$TMPI: _WORD
$TMP4: _WORD
$TIMES: 0
$ESCAPE:0
$BELL: .ASCIZ
$QUES: .ASCII
$CRLF: .ASCl]
$LF: LASCIZ

(elelelelelelelelelal Jolelalealeolelele)

OOO0O0O0O0C OO=MNO

<207><371><37>
/?/

<15>

<12>

;:START OF
:2CONTAINS
: s CONTAINS
:2CONTAINS
:JCONTAINS
: 2CONTAINS
;s CONTAINS
;2 CONTAINS
: ;CONTAINS
: 2 CONTAINS
: 2CONTAINS
:;CONTAINS
: :CONTAINS
: :CONTAINS
::CONTAINS

COMMON TAGS

PASS COUNT

THE TEST NUMBER

ERROR FLAG

SUBTEST ITERATION COUNT
SCOPE LOOP ADDRESS
SCOPE RETURN FOR ERRORS
TOTAL ERRORS DETECTED
ITEM CONTROL BYTE

MAX. ERRORS PER TEST

PC OF LAST ERROR INSTRUCTION
ADDRESS OF °'GOOD' DATA
ADDRESS OF ‘'BAD' DATA
'GOOD* DATA

‘BAD' DATA

: ;RESERVED--NOT TO BE USED

:cAUTOMATIC MODE INDICATOR
:; INTERRUPT MODE INDICATOR

2 JADDRESS OF SWITCH REGISTER

: ;ADDRESS OF DISPLAY REGISTER
J:TTY KBD STATUS

;2 TTY KBD BUFFER

::TTY PRINTER STATUS REG. ADDRESS
::TTY PRINTER BUFFER REG. ADDRESS

2 :CONTAINS
2 :CONTAINS

NULL CHARACTER FOR FILLS
# OF FILLER CHARACTERS REQUIRED

;s INSERT FILL CHARS. AFTER A 'LINE FEED'®
;" 'TERMINAL AVAILABLE'® FLAG (BIT<07>=0=YES)
2 ;CONTAINS THE ADDRESS FROM

JsWHICH
::CONTAINS

(SREGO) WAS OBTAINED

( (SREGAD) +0)

:JUSER DEF INED

J;USER DEF INED

2 JUSER DEF INED

:;USER DEFINED

JJUSER DEF INED

J:MAX. NUMBER OF ITERATIONS
::ESCAPE ON ERROR ADDRESS
2:CODE FOR BELL

J:QUESTION MARK

2 ; CARRIAGE

:.LINE FEED

RETURN

::ttttt'tttﬁtt.tttttt'tt't"'tttttttttt.t.t!tttﬁ*ﬁtlttt!ttttttttt

SE@ 0030

cZl
|3



CZRJEDO = DU CNTRL TST 1 MACRO V04.00 17-NOV-81 16:26:15 PAGE 8
USER DEFINED TAGS

001266
001270
001272
001274
001276

001300
001302

000000
000000

176700
000254

.SBTTL

$LKCSR:
$LKCSB:
$SLPVEC:

$LKS:

SLLVEC:

PORTA:
PORTB:
PORTC:
ASR1:

PTNBR:

SEIZPT:

OPPRT:

TSTNUM:

CKERR:

NOSEIZ:
RELERR:

TIME:
WATCH:
TIMEA:

TIMEAP:
TIMEAM:

TIMEB:

TIMEBP:
TIMEBM:

TIMES:

KYBCTL:
CHGADR:

.SBTTL

$RPADR :
$RPVEC:

USER DEFINED TAGS

WORD 172540 ;ADDR OF
WORD 172542 sADDR OF
.WORD 104 -ADDR OF
.WORD 177546 :ADDR OF

.WORD 100 ;ADDR OF KW11=L VECTOR

WORD O ;ADDRESS OF PORT A

.WORD O ;ADDRESS OF PORT 8

.WORD 0 -ADDRESS OF DIFFERENT DRIVE

.WORD 0 ;ATA=A OR ATA-8 = 1

WORD O ;CONTAINS THE PORT ADDRESS FOR ERROR TYPEOUTS

.WORD 0 ;CONTAINS THE ADDRESS OF THE SEIZING PORT

.WORD 0 2CONTAINS THE ADDRESS OF THE ‘'OPPOSITE' PORT

WORD O sNUMBER OF THE CURRENT TEST

.WORD 0 sIF =1, A REGISTER MISCOMPARISON OCCURRED

WORD O :IF =1, THE PORT IN 'SEIZPT' DID NOT SEIZE THE DRIVE
.WORD O :1F =1, THE PORT IN °‘SEIZPT' DID NOT RELEASE THE DRIVE
WORD 0 ;ELAPSED TIME COUNTER

.WORD 0 sWATCH DOG TIMER LOCATION

WORD 0 s THE TIMEOUT ONE-SHOT VALUE MEASURED THROUGH PORT A
WORD 0 ;PORT A TIMEOUT VALUE ¢ 25%

WORD O ;PORT A TIMEOUT VALUE - 25%

WORD O sTHE TIMEOQUT ONE-SHOT VALUE MEASURED THROUGH PORT B
.WORD 0 ;PORT A TIMEOUT VALUE + 25%

WORD O ¢PORT B TIME VALUE - 25%

LWORD 0 sSTORAGE FOR TIMEOUT ONE-SHOT RETRIGGER TEST

.WORD 0 ;SINGLE TEST INDICATOR

.WORD O :CHANGE THE RH11 ADDRESS INDICATOR

KW11-P STATUS REGISTER
KW11=P COUNTER BUFFER
KW11-P VECTOR

KWi1-L STATUS REGISTER

RH11/RP04/5/6 UNIBUS AND VECTOR ADDRESSES

.WORD 176700

:RH11/RP04/5/6 UNIBUS ADDRESS

.WORD 254 JRH11 INTERRUPT VECTOR ADDRESS

SEQ 0031

—
-—b P



CZRJEDO ~ DU CNTRL TST 1 MACRO V04.00 17-NOV-81 16:26:15 PAGE 9

ERROR POINTER TABLE

001304 06344¢€
001306 067504
001310 071232
001312 071502

314 063467
316 067504
320 071232
322 071502

001324 063511
001326 067555
001330 071246
001332 071502

S NN = O VNN WA= OV NS N —

PONIND NN b =b b b b nd ad ) = d

25 001334

28 001342
29

30

31

32 001346 0636

63624
33 001346 067746
3, 001350 071262
35 001352 071507
3%
37
38
39 001354 063672
40 001356 070215
41 001360 071324
42 001362 071507

.SBTTL ERROR POINTER TABLE

;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
s*THE INFORMATION 1S OBTAINED BY USING THE INDEX NUMBER FOUND IN

;«LOCATION SITEMB, VYHIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:

*NOTE1:
*NOTEZ:

EM
DH
DT
DF

L AR 2% B 4

$SERRTB:

.
4

ERROR 1

EM1
DH1
DT1
DF1

ERROR 2

EM2
DH1
DT
DF1

ERROR 3

EM3
D3
pr3
DF1

ERROR 4
EMé
DH4
D17
DF?7

ERROR 5
EMS5
DH5
DTS
DF5

ERROR 6

EM6

DH13
D713

DF5

;,POINTS TO THE ERROR MESSAGE
;;POINTS TO THE DATA HEADER
;;POINTS TO THE DATA

;;POINTS TO THE DATA FORMAT

:WRONG DRIVE TYPE

;DRIVE NOT ON LINE

;SERIAL NUMBERS NOT THE SAME

;DRIVE NOT SEIZED BY PORT °'N’

;WRONG STATUS SEEN BY THE SEIZING PORT

JREGISTER CONTENTS WERE SEEN BY OPPOSITE PORT

SE@ 0032

- DRIVE WAS SE

-
-
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ERROR POINTER TABLE

63
22 sERROR 7
46 001364 063772 EM7
47 001366 070022 DH7
48 001370 071314 D17
gg 001372 071515 DF7
g} JERROR 10
53 001374 064053 EM10
54 001376 067766 DHS5
55 001400 071262 DTS
gg 001402 071507 DF5
gg sERROR 11
60 001404 064103 EM11
61 001406 070144 DH11
62 001410 071232 DT1
22 001412 071502 DF1
gg ;ERROR 12
67 001414 064167 EM12
68 001416 070704 DH36
69 001420 071422 DT37
;? 001422 071530 DF36
;% ;ERROR 13
76 0014246 064237 EM13
75 001426 070215 DH13
76 001430 071334 DT13
;g 001432 071507 DF5
gg JERROR 14
81 001434 064324 EM14
82 001436 070215 DH13
83 001440 071334 pT13
gg 001442 071507 DFS
25 ;ERROR 15
88 001444 064367 EM15
89 001446 070022 DH7
90 001450 071314 DT7
3} 001452 07151 DF?7
313. ;ERROR 16
95 0014654 064446 EM16
96 001456 070022 DH7
97 001460 07°'314 D17
071515 DF7

98 001462
99

SREGISTER CONTENTS INCORRECT AFTER RELEASE/TIMEOUT

sREGISTER CONTENTS INCORRECT

;CONTROL BUS PARITY ERROR WHILE READING REGISTER

;DRIVE NOT SEIZED BY DRIVE CLEAR COMMAND

;'VOLUME VALID' BIT NOT SET BY READIN PRESET

:"VOLUME VALID' SET ON THE OPPOSITE PORT

JTHE ATTN BIT WRONG AFTER TIMEOUT - REQUEST NOT SET

JATTN BIT WRONG AFTER RELEASE - REQUEST WAS SET

SEQ 0033

-l Y
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071422
071530

064660
070704

071502

CZRJEDO = DU CNTRL TST 1 MACRO V04.00 17-NOV-81 16:26:15 PAGE 9-2
ERROR POINTER TABLE

:ERROR 17

;ERROR 20

EM20
DH36
D737
DF36

;ERROR 21

;ERROR 22

EM22
DH2?2
D722
DF31

;ERROR 23

EM23
DH23
D723
DF1

SEQ 0034

;ATTN BIT WRONG AFTER RELEASE - REQUEST NOT SET

;DRIVE NOT SEIZED WHEN ATTN BIT FOR PORT CLEARED

;DRIVE SEIZED WHEN ZERO WRITTEN IN ATTN BIT FOR PORT

;DRIVE NOT [N NEUTRAL AFTER TIMEOUT, REQUEST NOT SET

;TIMEOUT CLEARED THE DRIVE'S ERROR BIT

—
o
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26 001564
27 001566
28 001570
29 001572

33 001574
34 001576
35 001600
36 001602

40 001604

3
57 001632

065066
070431
071364
071502

065145
070704
071412
071530

065210

071530

065450
070606
071400
071524

065525
067746
071262
071507

065576
070704
071412
071530

CZRJEDO = DU CNTRL TST 1 MACRO V04.00 17-NOV-81 16:26:15 PAGE 10
ERROR POINTER TABLE

;ERROR 24

EM24
DH23
D123
DF1

;ERROR 25

EM25
DH36
D736
DF36

JERROR 26

EM26
DH22
D722
DF31

;ERROR 27

EM27
DH?7
D17
DF7

;ERROR 30

EM30
DH36
D736
DF36

;ERROR 31

EM31
DH31
D131
DF31

;ERROR 32

;JERROR 33

EM33
DH36
D136
DF 36

JRELEASE COMMAND RELEASED DRIVE WITH ERRORS SET

;TIMEOUT ONE-SHOT DID NOT RETRIGGER

SEQ 0035

sDRIVE NOT IN NEUTRAL AFTER RELEASE, REQUEST NOT SET

SREGISTER WRONG AFTER RELEASE WITH REQUEST SET

;DRIVE SEIZED BY RELEASE I[SSUED WHEN DRIVE IN NEUTRAL

sDRIVE NOT SEIZED BY PORT AFTER RELEASE WIITH REQUEST SET

cATTN BIT WRONG AFTER RECALIBRATE COMMAND

;DRIVE RETURNS TO NEUTRAL IF DRIVE CLEAR GIVEN WHILE DRIVE S

¢zl
T2
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CZRJEDO - DU CNTRL TST 1 MACRO V04,00 17-NOV=-81 16:26:15 PAGE 10-1

ERROR POINTER TABLE
58

23 :ERROR 34

61 001634 065700 EM34
62 001636 070704 DK36
63 001640 071412 DT36
gé 001642 071530 DF 36
gg :ERROR 35

68 001644 066003 EM3S
69 001646 070704 DH36
70 001650 071422 D137
;; 001652 071530 DF 36
;2 :ERROR 36

75 001654 066062 EM36
76 001656 070704 DH36
77 001660 071412 DT36
;g 001662 071530 DF 36
g? ;ERROR 37

82 001664 066134 EM37
83 001666 070704 DH36
84 001670 071422 DT37
gg 001672 071530 DF 36
gg :ERROR 40

89 001674 066202 EM4LO
90 001676 067504 DH1
91 001700 071364 DT23
g% 001702 071502 DF1
32 ;ERROR 41

96 001704 066257 EM4
97 001706 070431 DHZ23
98 001710 071364 DT23
183 001712 071502 DF1
}8} JERROR 42
103 001714 066321 EMG2
104 001716 070733 DH4?2
105 001720 071432 DT42
}89 001722 071533 DF &2
108 ;ERROR 43
109
110 001724 066407 EM4L3
111 001726 {70733 DH&2
112 001730 071432 D742
}}2 001732 071533 DF&?

SEQ 0036

;DRIVE RETURNS TO NEUTRAL IF MASSBUS INIT GIVEN WHILE DRIVE

sDRIVE RETURNED TO NEUTRAL WITHOUT TRIGGERING TIMEOUT ONE SH

;TIMEOUT HAS NOT OCCURRED WITHIN 2 SECONDS

;DRIVE IS NON-EXISTENT

JATTENTION FOR PORT NOT RESET BY MASSBUS CLEAR

;TIMEOUT CLEARED ATTENTION BIT

sDRIVE NOT IN NEUTRAL OR SEIZED

;DRIVE IN NEUTRAL AFTER ATTENTION BIT WRITTEN




CZRJEDO = DU CNTRL TST 1 MACRO v04.00 17-NOV-81 16:26:15 PAGE 10-2

ERROR POINTER TABLE

001734 066464
001736 070752
001740 071400
001742 071524

0017446 066541
067504
001750 071232
001752 071502

o
o
= 1
~
£~
o

001754 066620
001756 071047
001760 071440
001762 071524

001764 066667
001766 070431
001770 071364
001772 071502

001774 066755
001776 070215
002000 071334
002002 071507

002004 067040
002006 067746
002010 071262
002012 071507

002014 06
002016 07
002020 07
002022 07

VB W =0V NO NS W =O VBNV WN=O 0O NO VS WA = OV NO NS AWN = OO0 NONWN

002024

002032
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:ERROR

;ERROR

;ERROR

;ERROR

;ERROR

; ERROR

JERROR

;ERROR

;ERI\OR

44

EM44
DH&%
D731
DF 31

45

EM45
DH1
DT
DF1

46

FM46
DH46
DT46
DF 31

47

EM47
DH23
D723
DF1

50

EM50
DH13
DT13
DF5

51

EM51
DH5
DTS5
DF5

52

EMS52
DH13
D713
DFS

53
EM53
DH23
DT1
DF1

54

SEQ 0037

sWRITE ATTENTION BIT DID NOT SET PORT REQUEST

;CONTROLLER SELECT SWITCH ON DRIVE NOT IN °'A/B'

sCAN'T ACCESS DRIVE THROUGH EITHER PORT

sATTN BIT FOR SEIZING PORT NOT CLEARED BY MASSBUS INIT

sATTN BIT FOR OPPOSITE PORT CLEARED BY MASSBUS INIT

sATTN BIT CLEARED BY MASSBUS INIT, DRIVE IN NEUTRAL

SATTN BIT SET AFTER TIMEOUT, °‘ERR' SET, NO REQUEST

sCAN'T READ ATTN BIT FROM OPPOSITE PORT

—

-
o~
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-~ DU CNTRL TST 1 MACRO V04.00 17-NOV-B1 16:26:15 PAGE 10-3 SEe 0038

RJEDO
ROR POINTER TABLE
17¢
173 002034 067302 EM54 ;RELEASE COMMAND RECOGNIZED WHEN I[SSUED BY NON-SEIZING PORT
174 002036 070334 DH22
175 002040 071452 DT5¢4
};9 002042 071526 DF 31
};g ;ERROR 55
180 002044 067375 EMS55 ;TIMEOUT ONE-SHOT [S LESS THAN 500 MS
181 002046 071144 DH5S
182 002050 071464 DT55
}gz 002052 071535 DF55
}gg ;ERROR 56
187 002054 067442 EM56 JRH11 DIDN'T RESPCND TO ADDRESSING
188 002056 071222 DH56
189 002060 071476 DT56
}g? 002062 071541 DF56
193

- Y
WA~




CZRJEDO = DU CNTRL _TST 1 MACRO
ERROR POINTER TABLE

002144
002146
002152

002154
0

02162
21 002166
22 002170
23

24

002172
002176
002200
002204
002206

002212
002220

) e b d od b =D dd b d
OV ~NOVIS W WO

002310

002316
002322
002330
002336
002344
002352

002354
002356

011600
005740
022626
104401
000417

010046
104402
000240

000240
005037
000403

012737
005227

001375
000005

012736

(elelJolelelelelelelele)
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=l elelelelele]
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NGO =N
N ONNNNY
SO NN
O RUNINININO

002100

001276

177777
000000

001100
001140
001100

057132
000340
057532
000340
062776
000340
0565264
001176
001200
000001

002310

000004
002356
177570
177570
177777

002364

v04.00 17-NOV-81 16:26:15 PAGE 11

SEQ 0039

:THIS ROUTINE HANDLES UNEXPECTED TIMEQUTS

.SBTTL START OF PROGRAM

BADTMO: MOV (SP) ,RJ sSAVE PC WHERE THE TIME OUT OCCURED
TST =(R0O) ;ADJUST PC =2
CMp (SP)+,(SP)+ RESTORE STACK POINTER
TYPE .65% s TYPE ASCIZ STRING
BR 643 :.GET OVER THE ASCIZ
éigSS .ASCIZ <CRLF>/UNEXPECTED BUS TIMEOUT, PC=/
?egoc RO.=(SP) ;SETUP FOR TYPING OUT PC
NOP JPUT "HALT(0)* INSTRUCTION HERE IF YOU WISH

;TO STOP ON UNEXPECTED TIMEOUT.

START: NOP
CLR CHGADR ;CLEAR THE °'(CHANGE RH/RP ADDRESS' INDICATOR
B8R STARTZ2 ;GO0 TO THE START
START1: MOV #-1,CHGADR ;SET THE °‘CHANGE RH/RP ADDRESS' INDICATOR
STARTZ: INC #0 JTTY LOOP, WAIT FOR INCREMENT
BNE .4 ;0F WORD
RESET ;sCLEAR THE WORLD

.SBTTL INITIALIZE THE COMMON TAGS

-t Y
NI

648 MOV

;. CLEAR THE COMMON TAGS (SCMTAG) AREA
MOV #$CMTAG,R6 ;FIRST LOCATION TO BE CLEAREC

(LR (R6)+ :sCLEAR MEMORY LOCATION
CMP #SWR ,R6 : ;DONE?
BNE ) ;:LO0OP BACK IF NO

MOV #STACK, SP S:SETUP THE STACK POINTER
;:INITIALIZE A FEW VECTORS
MOV #$SCOPE ,a# IOTVEC ;10T VECTOR FOR SCOPE ROUTINE
MOV #340,a#10OTVEC+2 ;:LEVEL 7
MOV #SERROR, 3#EMTVEC :;EMT VECTOR FOR ERROR ROUTINE
MOY #3640, QMEMTVEC+? ;:LEVEL 7
MOV #STRAP,S#TRAPVEC :;TRAP VECTOR FOR TRAP CALLS
MOV #340,3# TRAPVEC+2;: LEVEL 7
MOV SENDCT,SEOPCT  :;SETUP END-OF -PROGRAM COUNTER
CLR $STIMES S INITIALIZE NUMBER OF ITERATIONS
CLR $ESCAPE ::CLEAR THE ESCAPE ON ERROR ADDRESS
MOVB  #1,SERMAX SSALLOW ONE ERROR PER TEST
MOV #..SLPADR S INITIALIZE THE LOOP ADDRESS FOR SCOPE
MOV #..SLPERR ::SETUP THE ERROR LOOP ADDRESS
::SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
S:EQUAL TO A *=1'*, SETUP FOR A SOFTWARE SWITCH REGISTER.
MOV @NERRVEC,-(SP) ;;SAVE ERROR VECTOR
MOV N64S , QNERRJEC  ::SET UP ERROR VECTOR
MOV #DSWR, SWR SiSETUP FOR A HARDWARE SWICH REGISTER
MOV #ODISP.DISPLAY ::AND A HARPWARE DISPLAY REGISTER
CMP #-1,3SWR S:TRY TO REFERENCE HARDWARE SWR
BNE 66$ :BRANCH IF NO TIMEOUT TRAP OCCURRED
SAND THE HARDWARE SWR IS NOT = -1
B8R 65% *:BRANCH IF NO TIMEOUT
#658, (SP) S:SET UP FOR TRAP RETURN




B ¢4
C7RJE00 = DU CNTRL TST 1 MACRO V04.00 17-NOV-81 16:26:15 PAGE 11-1 SEQ 0040
INITIALIZE THE COMMON TAGS

002362 000002 RTI

002364 012737 000176 001140 658: MOV #SWREG, SWR ¢ cPOINT TO SOFTWARE SWR
002372 012737 000174 001142 MoV #DISPREG,DISPLAY
002400 012637 000004 66$: MOV (SP)+,8ERRVEC ; ;RESTORE ERROR VECTOR
25 ;SETUP ''TIMEOUT'' TRAP VECTOR FOR UNEXPECTED BUS TIMEOUTS
26 002404 012737 002064 000004 mMov #BADTMO,ERRVEC ;SETUP FOR UNEXPECTED TIMEOUT
gg 002412 012737 000300 000006 Mov #PR6 ,ERRVEC+2  ;LEVEL 6
29 .SBTTL TYPE PROGRAM NAME
:;TYPE THE NAME OF THE PROGRAM IF FIRST PASS
002420 005227 177777 INC #=1 :oFIRST TIME?
002424 001037 BNE 678 : cBRANCH IF NO
002426 022737 056666 000042 Cmp #SENDAD , 3442 ;cACT=11?
002434 001433 BEQ 678 : :BRANCH IF YES
002436 104401 002444 TYPE .68% ..TYPE ASCIZ STRING
002442 000430 BR 67% ¢GET OVER THE ASCIZ
002524 85283: .ASCIZ <CRLF>@CZRJEDO - RP04/5/6 DUAL CONTROLLER TEST, PT 1@<CRLF>
.SBTTL GET VALUE FOR SOFTWARE SWITCH REGISTER
002524 005737 000042 TST 62 ..ARE WE RUNNING UNDER XXDP/ACT?
002530 001006 BNE 698 sBRANCH IF YES
002532 023727 001140 000176 CMP SWR,#SWREG ::SOFTWARE SWITCH REG SELECTED?
002540 001005 BNE 708 ; :BRANCH IF NO
002542 104406 GTSWR ;;GET SOFT-SWR SETTINGS
002544 000403 BR 708
002546 112737 000001 001134 698: movae #1,8AUTOB ;:SET AUTO-MODE INDICATOR

002554 70$:




002554
002560

002564
002572

002616
002622

002624
20 002632
21 002636
22 002644
23 002650
24 002654
25 002660
26 002664

002670
002672
002673
27 002674
28 002700

002704

002706

002707
29 002710
30 002714
31 002722
32 002730
33 002736
34 002742
37 002750

00 ~NONNE N =2 OO 00O NN —

— b b b md b e cad e b

002764
38 002770
39 002774
40 003000
41 003004
2% 003006

44
45
46 003010

47 003012
48 003016

004737
004737

023737
001414
104401
104412
012637
023727
101403
104401
000760

013737
005237
042737
013746
042716
052637
104401
013746

104403
001
000

104401

013746

10440?

000000
006776

000005
005037
104401

CZRJEDO =~ DU CNTRL TST 1 MACRO
SELECT PORT ADDRESS

061374
003174

000042
063064

001224
001224

063113

001224
001226
000016
001224
177771
001226
063157
001224

063206
001226

001207

063235

177776
001207

v04.00 17-NOV-81 16:26:15 PAGE 12

000046

000007

001226
001226

001230
001230
001230

001232

.SBTTL SELECT PORT ADDRESS
sROUTINE TO CHANGE THE RP/RH BASE ADDRESSES, TO SELECT THE PORT ADDRESS

sNUMBER AND SELECT DYNAMIC DUAL

STA:

1%:

3$:

cROUTINE TO GET

EXEC:

JSR
JSR

CMP
BEQ
TYPE
RDOCT
MOV
CMP
BLOS
TYPE
BR

MoV
INC
8I(
MOV
BIC
BIS
TYPE
MoV

TYPOS
.BYTE
.BYTE
TYPE
MOV

TYPOS
.BYTE
.BYTE
TYPE
MOV
ADD
8IC
MOV
Move
CLR
CLR
CLR
CLR
JSR
JMP
TYPE
HALT
BR

RESET
CLR
TYPE

PC.$TKINT
PC, CHANGE

AL, ansé
2$
LENTERA

(SP)+,PORTA
PORTA 47

2$
.ADRERR
1$

PORTA,PORTB
PORTSB
#16,PORTB
PORTA,=(SP)
#*C6,(SP)
(SP)+,PORTB
.PORTAIS
PORTA,~(SP)

1

0
.PORTBIS
PORTB,~(SP)

1

0

.SCRLF
PORTA ,PORTC
#6 ,PORTC
#C7,PORTC
PORTA R1

ATABIT(R1) ,ASR1

TIMEA
TIMEAP
TIMEB
TIMEBP

.NOCLOCK
3s

THE TEST NUMBER

PS
.SCRLF

PORT OPTION FOR TEST

;SETUP THE TTY KEYBOARD
s CHECK/CHANGE THE RH/RP ADDRESS

;ACT11?

;BR _IF YES

;ENTER DRIVE ADDRESS

sGET THE ADDRESS

:STORE THE ADDRESS

;SEE IF ADDRESS TOO LARGE
:BR _IF NOT

s TYPE ADDRESS ERRCR MESSAGE
:TRY AGAIN

;GENERATE THE PORT B ADDRESS
;INCREMENT THE ADDRESS
:LEAVE BIT 0
;PUT PORT A ADDRESS ON THE STACK
;SAVE BITS 1 & 2
;SET BITS 1 & 2 IN PORT B ADDRESS
:"PORT A ADDRESS IS '
::SAVE PORTA FOR TYPEOUT
::TYPE PORT A ADDRESS
¢:60 TYPE=-=0CTAL ASCII
J:TYPE 1 DIGIT(S)
:;SUPPRESS LEADING ZEROS
;'PORT B ADDRESS IS '
::SAVE PORTB FOR TYPEOUT
::TYPE PORT B ADDRESS
2160 TYPE-~OCTAL ASCII
::TYPE 1 DIGIT(S)
; :SUPPRESS LEADING ZEROS
;ANOTHER CR-LF
:GENERATE ADDRESS OF DRIVE NOT TESTED
:COMPLEMENT SOME BITS
:SAVE ONLY LOWER BITS
:USE PORT A ADDRESS AS INDEX
:GET ATTENTION BIT FOR DRIVE
;CLEAR TIMEOUT ONE-SHOT VALUE LOCATION
:CLEAR TIMEOUT ONE-SHOT VALUE LOCATION
JCLEAR TIMEOUT ONE~-SHOT VALUE LOCATION
JCLEAR TIMEOUT ONE-~SHOT VALUE LOCATION
;SETUP CLOCK
JCLOCK HAS BEEN STARTED
sNO CLOCK ON SYSTEM
JFATAL ERROR
s INTERLOCK THE HALT

FROM THE OPERATOR

sCLEAR EVERYTHING
:Ekft? THE PROCESSOR STATUS WORD

SEQ 0041

-t Y
(V[



CZRJEDO = DU CNTRL TST
SELECT PORT ADDRESS

49 003022 013700

001002
000137

020137
003403
104401
000757

000002
000171

005737
001421
005037
83 003206 104401
013746
104402
104401
104401
106412

000404

104056
062706
000745
012737

101 003302 900207

0
1 MACRO V04.00 17-NOV-81 16:26:15 PAGE 12-1

001300
001100
056706

061374
001274
001100
000001
003062
003070
000042

063302

003304
071666
063322

001274
000001
000240
003170

071542

001276
001276
063351
001300

001207
063406

001300
003264

001300
000002

000004

(=l{=l=l=
[ P Y
Q) ad i d
O
OO

001104

000004

1$:

2%:
3$:

48:

648:

: CHANGE
CHANGE :

1$:

N
L1

48 :

000006 000004 5%:

MOV $RPADR RO
MOV #STACK.SP
JSR PC,CKCLK
NOP

JSR PC,STKINT
CLR KYBCTL

CLR $PASS
MOVB  #1,SERMAX
MOV #. . SLPADR
MOV ¥ . SLPERR
CMP i, ansb
BEQ 2

TYPE  ,TESTNO
RDOCT

MOV (SP)+,R1
BNE 33

JMP TST1AA
CMP R1,MAXTN
BLE 43

TYPE  ,BADND

BR is

DEC R1

ASL R1

INC KYBCTL
MOV #1.SICNT
MOV #PRS, - (SP)
MOV #6438 .- (SP)
RTI

JMP aTSTADR(R1)
THE RH11 UNIBUS ADDRESS
TST CHGADR
BEQ 3s

CLR CHGADR
TYPE ADDRIS
MOV $RPADR , - (SP)
TYPOC

TYPE  ,$CRLF
TYPE  _NTRHU
RDOCT

ST (SP)

BEQ 2$

MOV (SP) , SRPADR
TST (SP) +

MOV A
MOV $RPADR RO
ST RPWC (RO)
B8R 5%

EMT 56

ADD #6,SP

BR 18

MOV #6, N4
RTS PC

SEQ 0042

;RH11 ADDRESS FOR INDEXING

:LOAD STACK POINTER

:START THE CLOCK

:RETURN IF NO CLOCK

JINITIALIZE THE KEYBOARD

sCLEAR SINGLE TEST INDICATOR
sCLEAR THE PASS COUNT

;SET ERROR MAX TO 1

JINITIAL SETTING FOR LOOP ADDRESS
:{?%I{QL SETTING FOR LOOP ON ERROR ADDRESS
:BR IF YES

sASK FOR TEST NUMBER

;GET THE NUMBER

:PUT ENTRY INTO R1

:BR IF NOT ZERO

JENTER ZERO =~ PERFORM ALL TESTS

;SEE ]JF NUMBER GREATER THAN MAXIMUM
:BR IF LESS OR EQUAL

;BAD ENTRY

;TRY AGAIN

;DECREMENT ENTRY

JSHIFT IT LEFT

;SET SINGLE TEST INDICATOR
JPRESET ITERATION COUNT
:+sPUT NEW PS ON STACK
::PUT NEW PC ON STACK
2:POP NEW PC AND PS

;JUMP TO TEST
USED B8Y THE PROGRAM

¢ CHANGE THE ADDRESS ?
:BR_IF NOT

:CLEAR THE INDICATOR

:TYPE OUT WHAT THE PRESENT ADDRESS IS
«PUT _THE ADDRESS ON THE STACK
;E;PEFTHE ACTUAL ADDRESS

:ASK FOR NEW ADDRESS

:0 OR 'CR' ENTERED ?

;B8R IF EITHER ENTERED (NO ADDRESS CHANGE)
:NEW RH11 ADDRESS

. CORRECT THE STACK POINTER

:LOAD TRAP ADDRESS

;RH11 ADDRESS

;SEE IF RH11 RESPONDS AT THAT ADDRESS
;:BR, RH11 ALIVE AT PRESENT ADDRESS

;RESET THE STACK POINTER
cGET ADDRESS AGAIN
;RESTORE THE VECTOR
+RETURN




CZRJEDO -~ DU CNTRL TST 1 MACRO

TESTS

003322

0
20 003374

31 003400

003520
003524
003526
003532
003534

013700
012746
012746
000002

—d oud o b b b

012760

001300
000240
003322

001274

003010
177777
000001
003374
003374
000001
001100

001224
001224
000012
001244
000010
000010
001122
001124
001126
167777
001124

001126
010000
001174
001244
001244

000040

v04.00 17-NOV-81 16:26:15 PAGE 13

001274
001102
001106
001110
001176

000010
001234

o0
OO
- b
—
o
OO

OO0 OO0
OO0 OO0
P Qhur Qhur S G Quard
b b ek b e b
NN OO
S

000010

.SBTTL TESTS

TST1AA: MOV $SRPADR RO :RESTORE RO AFTER END OF PASS
MOV #PRS ,=(SP) 22PUT NEW PS ON STACK
MOV #64%,-(SP) :2PUT NEW PC ON STACK
RTI :sPOP NEW PC AND PS
648 :
::tttt**iﬁtﬁt*ﬁt.*tﬁﬁ'.ii'*tﬁtﬁt.ﬁt'*tﬁt.*..ﬁt't.ﬁtt*i**ﬁﬁiﬁtﬁﬁﬁ.
J«TEST 1 DRIVE ACCESS TEST

o
;*VERIFY THAT THE DRIVE CAN BE ACCESSED THROUGH BOTH PORTS
. %

;% A. SELECT DRIVE, VERIFY THAT THE DRIVE IS PRESENT, THAT THE
i DRIVE IS A DUAL PORT RPO4, THAT THE DRIVE IS ONLINE (RPDS1 HAS
A ‘MOL', 'PGM*®, °'DPR', & °'DRY® BITS SET), AND THE THE DRIVE SERIAL
o NUMBER READ THROUGH BOTH PORTS IS THE SAME.
v
;% B. THE TEST IS REPEATED THROUGH BOTH PORTS.
%
AR AR AR AR AR AR AN AN AN RN AR AR AR AR AR AR AL
ST
TST KYB(CTL ;PERFORMING ONLY SINGLE TESTS ?
BEQ 23 :BR IF NOT
BPL 1$ :BR _IF JUST ENTERED TEST
JMP EXEC JRETURN & GET NEXT TEST NUMBER
1$: MOV #-1,KYBCTL cSET SINGLE TEST INDICATOR
2%: MovBe #1,8TSTNM :TEST NUMBER
MOV #TEST1,SLPADR  ;LOAD LOOP ON TEST ADDRESS
MoV #TEST1,SLPERR  ;LOAD LOOP ON ERROR ADDRESS
MOV #1,STIMES :;D0 1 ITERATION
TEST1: MOV #STACK,SP :LOAD THE STACK POINTER

;VERIFY THAT DRIVE IS PRESENT THROUGH PORTS A € B

MOVB  PORTA,RPCS2(RO) :SELECT PORT A
MOV PORTA.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
ST RPDS1(RO) :SEE IF DRIVE (PORT A) PRESENT
CLR CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
MOV RPCS2(R0O) ,$BDDAT ;GET CONTENTS OF RP(S2
MOV #RPCS2,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
ADD RO, $BDADR ;ADD RH11 BASE ADDRESS
CLR $GDDAT *WHAT REGISTER SHOULD BE
MOV SBDDAT,STMPO  -MOVE REGISTER CONTENTS TO 'STMPO'
BIC #ACNED.STMPO :SAVE SPECIFIED BITS
CMP $SGDDAT.STMPO ~ :COMPARE THE BITS
BEQ 64$ ‘BR IF OK
MOV $BDDAT,$TMP4  :COPY 'BAD DATA'
BIC ANED , $TMP4 *CLEAR THE MASKED BITS
gg; g;npl.scooAr 2'0R' WITH GOOD DATA FOR TYPZOUT
68 ggg CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR
ST CKERR :WAS 'NED' SET ?
BEQ .+10 :BR IF NOT
MOV #CLR,RPCS2(RO) :ISSUE MASSBUS INIT TO CLEAR °NED'

SEQ 0043

CZ
T4
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003542 113760 001226 000010 Movae PORTB,RPCS2(RO) . SELECT PORT B

003550 013737 001226 001234 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
003556 005760 000012 TST RPDS1(RO) :SEE IF DRIVE (PORT B) PRESENT
003562 005037 001244 CLR CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
003566 016037 000010 001126 MOV RPCS2(R0O),$BDDAT ;GET CONTENTS OF RPCS2
003574 012737 000010 001122 MOV #RPCS2,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
003602 060037 001122 ADD RO, $BDADR :ADD RH11 BASE ADDRESS
003606 005037 001124 CLR $GDDAT :WHAT REGISTER SHOULD BE
003612 013737 001126 001164 MOV $SBDDAT,$TMPO  :MOVE REGISTER CONTENTS TO 'STMPO’
003620 042737 167777 001164 BIC #ACNED.STMPO :SAVE SPECIFIED BITS
003626 023737 001124 001164 CMP $SGDDAT.STMP0 ~ ;COMPARE THE BITS
003634 001414 BEQ 66$ :BR IF OK
003636 013737 001126 001174 MOV SBDDAT,$TMP4  :COPY 'BAD DATA®
003644 042737 010000 001174 BIC #NED, $TMPS *CLEAR THE MASKED BITS
003652 053737 001174 001124 BIS $STMPL,$GDDAT  :'OR' WITH GOOD DATA FOR TYPEOUT
003660 104037 EMT 37
003662 005137 001244 com CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR
003666 000240 668:  NOP
003670 005737 001244 TST CKERR :WAS 'NED' SET ?
003674 001403 BEQ .+10 :BR IF NOT

32 003676 012760 000040 000010 MOV #CLR,RPCS2(RO) :ISSUE MASSBUS INIT TO CLEAR °NED'

%2 :CONFIRM THAT DRIVE IS AN RP04/5/6 AND IS DUAL PORT

38 003704 113760 001224 000010 MOVB  PORTA.RPCS2(RO) :SELECT PORT A
003712 013737 001224 001234 MOV PORTA.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
003720 005037 001244 CLR CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
003724 016037 000026 001126 MOV RPDT(RO) ,$8BDDAT GET CONTENTS OF RPDT
003732 012737 000026 001122 MOV #RPDT,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
003740 060037 001122 ADD RO, $BDADR :ADD RH11 BASE ADDRESS
003744 012737 024020 001124 MOV #26020,8GDDAT  ;WHAT REGISTER SHOULD BE
003752 013737 001126 001164 MOV $BDDAT . $TMPO  :MOVE REGISTER CONTENTS TO 'STMPQ’
003760 042737 000003 001164 BIC #AC177774,$TMPO * :SAVE SPECIFIED BITS
003766 023737 001124 001164 CMP $GDDAT,$TMP0  ;COMPARE THE BITS
003774 001414 BEQ 68$ :BR IF 0K
003776 013737 001126 001174 MOV $SBDDAT ,$TMP4  :COPY 'BAD DATA®
004004 042737 177774 001174 BIC #17777& . $TMP4  :CLEAR THE MASKED BITS
004012 053737 001174 001124 BIS $TMP4 ,$GDDAT J'OR' WITH GOOD DATA FOR TYPEOUT
004020 104001 EMT 1
004022 005137 001244 com CKERR :SET THE REG'STER COMPARE ERROR INDICATOR
004026 000240 688:  NOP
004030 113760 001226 030010 MOVB  PORTB,RPCS2(R0) ;SELECI PORT B
004036 013737 001226 001234 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
004044 005037 001244 CLR CKERR ;CLEAR THE °‘CHMECK ERROR® INDICATOR
004050 016037 000026 001126 MOV RPDT(R0O) ,$8DDAT ~:GET CONTENTS OF RPDT
004056 012737 000026 001122 MOV #RPDT ,$BDADR :FORM REGISTER ADDRESS OF ERROR MESSAGE
004064 060037 001122 ADD RO, SBOADR :ADD RH11 BASE ADDRESS
004070 012737 024020 001124 MOV #24020,8GDDAT ;WHAT REGISTER SHOULD BE
004076 013737 001126 001164 MOV SBDDAT.$TMPO  :MOVE REGISTER CONTENTS TO 'STMPO’
004104 042737 000003 001164 BIC #5C177%74,8TMPO *:SAVE SPECIFIED BITS
004112 023737 001124 001164 cmpP $GDDAT,$TMP0  ;COMPARE THE BITS
004120 001414 REQ 708 :BR IF 0K
004122 013737 001126 001174 MOV $8DDAT ,$TMP4  :COPY 'BAD DATA'
004130 042737 177774 001174 BIC #177778 $TMP4  :CLEAR THE MASKED BITS
004136 053737 001174 001124

BIS $TMP4 ,$GDDAT :*OR’ WITH GOOD DATA FOR TYPEOUT
004144 104001 EMY 1
004146 005137 001244 oM CKERR ¢SET THE REGISTER COMPARE ERROR INDICATOR
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748 :
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NOP
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THROUGH BOTH PORTS THAT THE DRIVE IS ON LINE AND IN NEUTRAL

MOV8B
MOV
CLR
MOV
MOV
ADD
MOV
MOV
BIC
CMP
BEQ
MOV
BIC
BIS
EMT
COM
NOP
CLR
MoV
MOV
ADD
MOV
MOV
8I1C
CMP
BEQ
MOV
BIC
BIS
EMT
CoM
NOP
mMovse
MoV
CLR
MOV
MOV
ADD
MOV
MOV
BIC
CMP
BEQ
MOV
BI(C
BIS
EMT
coM
NOP
CLR
MOV
MOV
ADD

PORTA,RPCS2(RO) ;SELECT PORT A

PORTA,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
CKERR ;CLEAR THE °'CHECK ERROR' INDICATOR
RPDS1(RO) ,$BDDAT ;GET CONTENTS OF RPDS1

#RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, $8DADR :ADD RH11 BASE ADDRESS

#PGM,SGDDAT WHAT REGISTER SHOULD BE

$BDDAT,$TMP( ;MOVE REGISTER CONTENTS TO °*$TMPO’
#-CPGM,8TMPQ ;SAVE SPECIFIED BITS

$GDDAT ,$TMPO ;COMPARE THE BITS

72% :BR IF 0K

$BDDAT ,$TMP4 ;COPY 'BAD DATA'

#PGM, $TMP4 ;CLEAR THE MASKED BITS

2;HP4.$GDDAT 2'OR' WITH GOOD DATA FOR TYPEOUT

CKERR sSET THE REGISTER COMPARE ERROR INDICATOR
CKERR JCLEAR THE °‘CHECK ERROR® INDICATOR
RPDS1(RO) ,$BDDAT ;GET CONTENTS OF RPDS1

#RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
RO,$BCADR ;ADD RH11 BASE ADDRESS

#MOL !DPR!DRY,$GDDAT

$BDDAT , $TMPO

;WHAT REGISTER SHOULD BE
;MOVE REGISTER CONTENTS TO °‘STMPO'’

#4c10600.8TMPO > SAVE SPECIFIED BITS

$GDDAT,S$TMPO  :COMPARE THE BITS

748 :BR IF 0K

$BDDAT,$TMP4  :COPY °'BAD DATA'

#10600,8TMP4  :CLEAR THE MASKED BITS

3THP4.§GDDAT SOR' WITH GOOD DATA FOR TYPEOUT

CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR
PORTB,RPCS2(R0) ;SELECT PORT B

PORTB.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
RPDS1(RO) ,$8DDAT  ;GET CONTENTS OF RPDS1

#RPDS1,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, $8DADR :ADD RH11 BASE ADDRESS

#PGM.$SGDDAT :WHAT REGISTER SHOULD BE

$8DDAT,$TMPO = :;MOVE REGISTER CONTENTS TO ‘STMPO°
#°CPGM.$STMPO ;SAVE SPECIFIED BITS

SGDDAT.STMP0 ~ ;COMPARE THE BITS

76% :BR If 0K

$BDDAT,$TMP4  :COPY 'BAD DATA'

#PGM, STHPL :CLEAR THE MASKED BITS

2;npl.scooAr S'OR* WITH GOOD DATA FOR TYPEOUT

CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
CKERR :CLEAR THE °*CHECK ERROR® INDICATOR
RPDS1(RO) ,$8DDAT  ;GET CONTENTS OF RPDS1

#RPDS1,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, $8DADR :ADD RH11 BASE ADDRESS

SEQ 0045
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004560 012737 010600 001124 MOV #MOL !DPR!DRY,$GDDAT ;WHAT REGISTER SHOULD BE
004566 013737 001126 001164 MOV $BDDAT ,  STMPO sMOVE REGISTER CONTENTS TO 'STMPO’
004576 042737 167177 001164 8i1C #-c10600,8TMPO  ;SAVE SPECIFIED BITS
004602 023737 001124 001164 CMP $GDDAT,$TMPO :COMPARE THE BITS
004610 001414 8EQ 78% ;BR IF 0K
004612 013737 001126 001174 MOV $BDDAT ,$TMPS ;COPY °‘BAD DATA'
004620 042737 010600 001174 BIC #10600,8TMPS sCLEAR THE MASKED BITS
004626 053737 001176 001124 BIS STHP&,‘GDDAT ;'OR' WITH GOOD DATA FOR TYPEOUT
004634 104002 EMT 2
004636 005137 001244 COM CKERR sSET THE REGISTER COMPARE ERROR INDICATOR
o7 004642 000240 78$: NOP
2% ;VERIFY THAT DRIVE SERIAL NUMBER SEEN THROUGH BOTH PORTS 1S THE SAME
50 004644 113760 001224 000010 MOVB PORTA,RPCS2(R0O) ;SELECT PORT A
51 004652 016037 000030 001124 MOV RPSN(RO) ,$GDDAT ;STORE THE PORT A SERJAL NUMBER
52 004660 113760 001226 000010 MOvB PORTB,RPCS2(RO) ;SELECT PORT B
53 004666 016037 000030 001126 MOV RPSN(RO) ,$BDDAT ;STORE THE PORT B SERIAL NUMBER
5S4 004676 023737 001124 001126 cMP $GDDAT ,$BDDAT  ;ARE THEY THE SAME ?
55 004702 001406 BEQ 18 sBR IF THEY ARE
56 004704 104003 EMT 3
S7 004706 032777 100000 174224 BIT #SW15,aSWR JHALT ON ERROR ?
58 004714 001001 BNE 1$ ;BR JF SET - PROGRAM HAS ALREADY HALTED
59 004716 000000 HALT JHALT, POSSIBLE CABLE CONNECTION PROBLEM
2? 004720 000004 1$: SCOPE ;LOOP ?
79
80 2. 1 3223222238233 2238333233232 233402238383223238223 3328233332323 23223223323232¢2%3,]
s*TEST 2 PORT 'A°® SEIZE/TIMEOUT TEST
:t
;*VERIFY THAT THE DRIVE CAN BE SEIZED AND THAT THE PORT TIMEOUT RELEASES
o THE DRIVE.
- %
s* A. WRITE Q'S INTO RPDS1 THROUGH PORT ‘'A'; VERIFY THAT THE DRIVE
o HAS BEEN SEIZED.
b
:* B. READ EACH DRIVE REGISTER, EXCEPT RPCS1, THROUGH PORT °'B';
o VERIFY THAT 0'S ARE READ FROM EACH REGISTER.
* &k
i* (. WAIT FOR THE PORT TIMEOUT TO OCCUR AND RELEASE THE DRIVE.
o MEASURE THE DURATION OF THE TIMEOUT ONE SHOT AND SAVE THE
:¥ VALUE FOR LATER USE. VERIFY THAT TIMEOUT RETURNED THE DRIVE TO
o NEUTRAL.
> &
:-; 12832233 232322238333233232022022382323322333333232322483232342282322332383223232222322$3;/
004722 TST2:
004722 005737 001274 TST KYBCTL PERFORMING ONLY SINGLE TESTS ?
004726 001406 BEQ 2$ :BR IF NOT
004730 100002 BPL 1$ JBR IF JUST ENTERED TEST
004732 000137 003010 JMP EXEC JRETURN & GET NEXT TEST NUMBER
004736 012737 177777 001274 18$: MOV #-1 KYBCTL sSET SINGLE TEST INDICATOR
004744 112737 000002 001102 2%: MOVB #2,$TSTNM sTEST NUMBER
004752 012737 004774 001106 MOV #TEST2,$LPADR  :LOAD LOOP ON TEST ADDRESS
004760 012737 004774 001110 MOV #TESTZ2,SLPERR  ;LOAD LOOP ON ERROR ADDRESS
004766 012737 000012 001176 MOV #10. ,STIMES 2;D0 10. ITERATIONS
81 004774 (012706 001100 TEST2: MOV #STACK,SP sLOAD THE STACK POINTER
147 005000 012737 000240 177776 MOV #<5¢32.>,84PS  ;SET PRIORITY TO 5 IN CASE LOOPING
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005006 005037 001256 CLR TIMEA ; CLEAR TIMEOUT VALUE FOR PORT A
005012 005037 001260 CLR TIMEAP ;CLEAR UPPER TIMEOUT TOLERANCE
005016 005037 001262 CLR TIMEAM ;CLEAR LOWER TIMEOUT TOLERANCE

sSTART THE TIMER

005022 005037 001252 CLR TIME ;CLEAR THE ELAPSED TIME COUNTER
005026 012737 003720 001256 MOV #2000.,WATCH  :SET WATCH TO 2000 MS
:SEIZE THE DRIVE THROUGH PORT A

005034 113760 001224 000010 MOVB  PORTA,RPCS2(R0) ;SELECT PORT A
005042 013737 001224 001236 MOV PORTA.SEIZPT :STORE SEIZING PORT'S ADDRESS
005050 005060 000012 CLR RPDS1(RO) :WRITE RPDS1
005054 113760 001226 000010 MOVB  PORTB,RPCS2(R0) ’:SELECT PORT B
005062 013737 001226 001234 MOV PORTB.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
005070 013737 001226 001240 MOV PORTB,OPPRT :YOPPOSITE® PORT ADDRESS
005076 016037 000012 001126 MOV RPDS1(RO),$BODAT  :SEE IF DRIVE SEIZED BY PORT A
005104 010037 001122 MOV RO, $BDADR :RH11 BASE ADDRESS
005110 062737 000012 001122 ADD #RPDS1,$BDADR  :GENERATE BAD REGISTER ADDRESS
005116 005037 001124 CLR $GDDAT ‘REGISTER SHOULD BE ZERO
005122 023737 001124 001126 CMP $GDDAT,$BDDAT  :1S THE REGISTER ZERO
005130 001403 BEQ 64$ BR IF IT IS
005132 10400% EMT 4
883123 000137 006320 s JMP 5% :BYPASS REST OF THE SUBTEST
005140 113760 001224 000010 MOVB  PORTA,RPCS2(RO) ;SELECT PORT A
005146 013737 001224 001234 MOV PORTA.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
005156 016037 000012 001126 MOV RPDS1(RO),$8DDAT ;SEE IF SEIZING PORT SEES CORRECT STATUS
005162 012737 011600 001124 MOV AMOL ! PGM ' DPRIDRY ,$GDDAT ;EXPECTED STATUS
005170 013737 001124 001166 MOV $GDDAT,$TMP1  ;USE GOOD DATA AS A MASK
005176 005137 001166 coM $TMP1 : COMPLEMENT THE EXPECTED STATUS
005202 013737 001126 001164 MOV $BDDAT,$TMPO  :SAVE THE ACTUAL STATUS
005210 043737 001166 001164 BIC $TMP1,$TMPO *CLEAR UNWANTED BITS
005216 023737 001124 001164 CMP $GDDAT,STMPO  :-ARE THE EXPECTED STATUS BITS SET ?
005224 001401 BEQ 658 ‘BR IF THEY ARE
005226 104005 EMT 5
005230 000240 658:  NOP

:READ THE DRIVE REGISTERS THROUGH PORT B AND STORE THEM ON THE STACK
005232 113760 001226 000010 MOVB  PORTB,RPCS2(RO) ;SELECT PORT B
005240 013737 001226 001234 MOV PORTB.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
005246 016046 000046 MOV RPEC2(R0),-(SP) ;STORE REGISTER RPEC2. PORT B, FOR CHECK
005252 016046 000044 MOV RPECT(RO) .-(SP) :STORE REGISTER RPEC1. PORT B, FOR CHECK
005256 016046 000042 MOV RPER3(RO) .-(SP) :STORE REGISTER RPER3. PORT B. FIR CHECK
005262 016046 000030 MOV RPSN(RO) ,=(SP)  :STORE REGISTER RPSN, PORT B, FOR CHECK
005266 016046 000036 MOV RPCC(RO) .~(SP) :STORE REGISTER RPCC. PORT B. FOR CHECK
005272 016046 000034 MOV RPCA(RO) .-(SP) :STORE REGISTER RPCA. PORT B. FOR CHECK
005376 016046 000032 MOV RPOF (RO) S-(SP) :STORE REGISTER RPOF. PORT B. FOR CHECK
005302 016046 000040 MOV RPER2 (ROS ,-(SP) :STORE REGISTER RPER2, PORT 8, FOR CHECK
005306 016046 000020 MOV RPLA(RO) ,-(SP)  :STORE REGISTER RPLA, PORT B, FOR CHECK
005312 016046 000026 MOV RPDT(RO) .-(SP) :STORE REGISTER RPDT. PORT B. FOR CHECK
005316 016046 000006 MOV RPDA(RD) --(SP) :STORE REGISTER RPDA. PORT B. FOR CHECK
005322 016046 000024 MOV RPMR(R0) ©-(SP) :STORE REGISTER RPMR, PORT B, FOR CHECX
005326 016046 000014 MOV RPER] (ROS,-(SP) :STORE REGISTER RPER{, PORT B, FOR CHECK

—ye
wIind
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T2 POR

;WAIT FOR PCRT A TO TIMEOUT

005332 005760 000012 1$: TST RPDS1(RO) ;WAIT FOR THE DRIVE TO TIMEOUT
005336 001006 BNE 2% ;BR _WHEN TIMEOUT OCCURS
005340 005737 001254 TST WATCH s CHECK WATCH
005344 001372 BNE 13 :BR IF NOT ZERO
005346 104036 EMT 36
005350 000137 005740 JMP 49 ;BYPASS TIMEOUT TIME CHECK
005354 012737 000340 177776 2$: MOV #<7%32.> ,8#PS  ;SET PRIORITY TO 7 TO STOP CLOCK
005362 013737 001252 001256 MOV TIME,TIMEA :SAVE THE ELAPSED TIME FOR PORT A
005370 004537 057072 JSR R5,TOLER :CALCULATE THE TOLERANCE
005374 001256 WORD  TIMEA :TIMEOUT VALUE FOR PORT A
005376 012637 001260 MOV (SP) +,TIMEAP :+25% TOLERANCE
005402 012637 001262 Mov (SP) +,TIMEAM :=25% TOLERANCE

;VERIFY THAT THE TIMEOUT ONE-SHOT IS AT LEAST 500 MS
005406 023727 001252 000764 CMP TIME,#500. ;WAS MEASURED TIME AT LEAST 500 Ms?
0056414 103001 BHIS 3% :BR IF IT WAS
005416 104055 EMT 55

:VERIFY THAT THE DRIVE RETURNED TO NEUTRAL AFTER PORT A TIMED OUT
005420 012737 000240 177776 38$: MoV #<5+32.>,a#PS  ;RESTORE PRIORITY TO 5

;VERIFY THAT THE ODRIVE IS IN NEUTRAL

005426 005037 001250 CLR RELERR ;CLEAR THE °RELEASE ERROR ' INDICATOR
005432 012737 000012 001122 MOV #RPDS1,$BDADR  ;FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
005440 060037 001122 ADD RO, $BDADR ;ADD THE 1/0 BASE ADDRESS
005444 012737 011600 001124 MOV #MOL ! PGM!DPR!DRY ,$GDDAT . COMPARISON CONSTANT
005452 113700 001224 000010 MovB PORTA,RPCS2(R0) :SELECT PORT A.
005460 016037 000012 001170 MoV RPDS1(RO) ,$TMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
005466 (13737 001170 001164 MOV $TMP2 ,$TMPO :COPY IT INTO *$TMPO®
005474 042737 100100 001164 BIC #ATA!VV,$TMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
005502 113760 001226 000010 MOv8 PORTB,RPCS2(RO) :SELECT PORT 8.
005510 016037 000012 001172 MoV RPDS1(R0) ,$TMP3 ;GET THE DRIVE STATUS REGISTER FROM PORT B.
005516 013737 001172 001166 MoV STMP3,$THP1 ;COPY IT INTO °*STMP1®
005524 042737 100100 001166 8IC #ATATUV,$TMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
005532 023737 001164 001166 CMP $TMPO,STMP1 ;IS THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
005540 001006 BNE 663 :BR IF NOT
005542 005737 001164 TST $TMPO REGISTERS ARE THE SAME: ARE THEY ZERO ?
005545 001037 BNE 68$ :BR IF NOT
005550 104046 EMT 46
005552 000137 005736 JMP 708 ;BYPASS THE REST OF THE CHECKS
005556 013737 001170 001126 66S: MoV $TMP2 ,$BDDAT ;SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
005564 013737 001226 001234 MoV PORTB,PTNBR ;SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
005572 113760 001226 000010 Movse PORTB,RPCS2(RO) :SELECT PORT 8.
005600 005737 001164 TST $TMPO :SEE IF _STATUS EQ O FROM PORT A.
0056064 001414 BEQ 67% :BR IF ZERO
005606 013737 001224 001234 MOV PORTA,PTNBR sSEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
005614 013737 001172 001126 MOV $TMP3, $BODAT : 'BAD DATA® FOR ERROR TYPE OUT
005622 113760 001224 000010 Movae PORTA ,RPCS2(RO) ;SELECT PORT A
005630 005737 001166 18T $TMP1 :SEE IF STATUS EQ ZERO FROM PORT B.
005634 091004 BNE 683 ;BR_IF NOT
005636 012737 177777 001250 678: MOV #-1,RELERR ;SET 'RELEASE ERROR' INDICATOR
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005644
005646
005654
005662
005670
005676
005700
005702
005710
005716
005724
005732
005734
005736

005740
005746
005752
005760
005764
005766
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001122
000024
001126

001122
000006
001126

001122
000026
001126

001122
000020
001126

001122
000040
001126

001122
000032
001126

001122
000034
001126

001234
001122

001122

001122

001122

001122

001122

001122

001122

EMT
68S$: MOV
MOV
8IC
CMP
BEQ
EMT
69%: MOV
MOV
8IC
CMP
B8EQ
EMT
708: NOP

;CHECK THE REGISTERS STORED THROUGH PORT B.

22
$TMP2,$BDDAT
PORTA.PTNBR
NATA!VV STMP2
$GDDAT,§TMP2
698

7

$TMP3, SBDDAT
PORTB,PTNBR
NATA'VV, STMP3
$SGDDAT,$TMP3
708

;LOOK FOR BIT FAILURES WHEN RPDS?1 READ
; CHANGE PORT NUMBER

;DON'T CHECK ATTN BIT OR VvV BIT

;ALL BITS 0K ?

sBR IF 0K FROM PORT A.

sCHECK RPDS1 FOR BIT FAILURES - FROM PORT B.

: CHANGE PORT NUMBER

;DON'T CHECK ATTN BIT OR VvV BIT
:SEE IF READ OK FROM PORT B.
:BR IF 0K

ALL REGISTERS SHOULD BE ZERO.

:THE REGISTERS ARE STORED ON THE STACK.

48: MOV
MOV
ADD
MOV
BEQ
EMT
MOV
ADD
MOV
BEQ
EMT
MOV
ADD
(01
BEQ
EMT
MOV
ADD
MOV
BEQ
EMT
MOV
ADD
MOV
BEQ
EMT
MOV
ADD
MOV
BEQ
EMT
MOV
ADD
MOV
BEQ
EMY
MOV
ADD
MOV

PORTB,PTNBR
RO,$BDADR
#RPER1 ,$BDADR
(S:)*.SBDDAT
.t

6

RO,$BDADR
#RPMR , $BDADR
(S:)+.SBDDAT
.+

6

RO,$BDADR
#RPDA , $BDADR
(SP) +,$BDDAT
.+

6

RO,$BDADR
#RPDT ,$8DADR
(S:)*.iBDDAT
.+

6

RO,$8DADR
#RPLA , $BDADR
(Si)*.‘BDDAT
.+

$
RO,$SBDADR
#RPER2 ,$BDADR

(SP)+,$BDDAT
+4

6

RO,$BDADR
#RPOF , $BDADR
(SP)+,$BDDAT
. +é

6

RO, $BDADR

#RPCA, $BDADR
(SP) +,$BODAT

; CHANGE °‘PORT NUMBER' TO THE OPPOSITE PORT
;BASE ADDRESS FOR REGISTER RPER1

;ADDRESS OF RPER1 FOR TYPEOUT

;CHECK THE STORED CONTENTS OF RPER1
+CONTENTS ZERO ?

;BASE ADDRESS FOR REGISTER RPMR
;ADDRESS OF RPMR FOR TYPEOUT
sCHECK THE STORED CONTENTS OF RPMR
;CONTENTS ZERO ?

:BASc ADDRESS FOR REGISTER RPDA
;ADDRESS OF RPDA FOR TYPEOUT
:CHECK THE STORED CONTENTS OF RPDA
s CONTENTS ZERO ?

¢BASE ADDRESS FOR REGISTER RPDT
sADDRESS OF RPDT FOR TYPEOUT
sCHECK THE STORED CONTENTS OF RPDT
:CONTENTS 2ERO ?

;BASE ADDRESS FOR REGISTER RPLA
:ADDRESS OF RPLA FOR TYPEOUT
¢CHECK THE STORED CONTENTS OF RPLA
;CONTENTS Z2ERO ?

;BASE ADDRESS FOR REGISTER RPERZ2
:ADDRESS OF RPERZ FOR TYPEOUT
sCHECK THE STORED CONTENTS OF RPERZ2
sCONTENTS ZERO ?

;BASE ADDRESS FOR REGISTER RPOF
:ADDRESS OF RPOF FOR TYPEOUT
sCHECK THE STORED CONTENTS OF RPOF
sCONTENTS ZERO ?

;BASE ADDRESS FOR REGISTER RPCA
;ADDRESS OF RPCA FOR TYPEQUT
sCHECK THE STORED CONTENTS OF RPCA

SEQ 0049

CZl
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T2 PORT ‘A’ SEIZE/TIMEOUT T

165
166

006162
006164

006320

006322

006366

001401
104006
010037
062737
012637
001401
106006

001401
104006
010037
062737
012637
001401
104006
000004

005737
100002
137

73
73
73
73
73

OOO =000
—d el e el b CD
NNNNNQ
NNNNNWN

001126

001122
000044
001126

001122
000046
001126

001274

003010
177777

000012

001122

001122

001122

001122

001122

(olelele e
e lalalele
— e h ek b
— k=B T\ )
N=OON
ONOONNL S

BEQ ; CONTENTS ZERO ?
MOV RO,$BDADR ;BASE_ADDRESS FOR REGISTER RPC(
ADD  WRPCC,$BDADR  :ADDRESS OF RPCC FOR TYPEOUT
MOV (SP)+,$BDDAT  :CHECK THE STORED CONTENTS OF RPCC
BEQ :CONTENTS ZERO ?
MOV RO,$BDADR :BASE ADDRESS FOR REGISTER RPSN
ADD  WRPSN,SBDADR  :ADDRESS OF RPSN FOR TYPEOUT
MOV (SP)+.380DAT  :CHECK THE STORED CONTENTS OF RPSN
BEQ v :CONTENTS ZERO ?
MOV RO,$SBDADR ;BASE ADDRESS FOR REGISTER RPER3
ADD  WRPER3,$BDADR  :ADDRESS OF RPER3 FOR TYPEOUT
MOV (SP)+,$BDDAT  :CHECK THE STORED CONTENTS OF RPER3
BEQ e :CONTENTS ZERO ?
MOV RO,$BDADR ;BASE ADDRESS FOR REGISTER RPEC1
ADD  WRPEC1,$BDADR  :ADDRESS OF RPEC1 FOR TYPEOUT
MOV (SPY+,$B0DAT  :CHECK THE STORED CONTENTS OF RPECT
BEQ v :CONTENTS ZERO ?
MOV RO,SBDADR ;BASE_ADDRESS FOR REGISTER RPEC2
ADD  WRPEC2,$BDADR  :ADDRESS OF RPEC2 FOR TYPEOUT
MOV (SP)+,$BDDAT  :CHECK THE STORED CONTENTS OF RPEC2
BEQ . :CONTENTS ZERO ?

58 SCOPE :LOOP ?

e 232322232333 2232322322223 3233233333383323232223323232232332232232323232323223%3;
-resr 3 PORT 'B' SEIZE/TIMEOUT TEST

'VERIFYTLgAgRIcE DRIVE CAN BE SEIZED AND THAT THE PORT TIMEOUT RELEASES

WRITE 0'S INTO RPDS? THROUGH PORT 'B°‘;
HAS BEEN SEIZED.

READ EACH DRIVE REGISTER, EXCEPT RPCS1, THROUGH PORT ‘A‘;
VERIFY THAT Q'S ARE READ FROM EACH REGISTER.

WAIT FOR THE PORT TIMEQUT TO OCCUR AND RELEASE THE DRIVE.
MEASURE THE DURATION OF THE TIMEOUT ONE SHOT AND SAVE THE
VALUE FOR LATER USE. VERIFY THAT TIMEOUT RETURNED THE DRIVE TO

>

VERIFY THAT THE DRIVE

Ny B % % % % B % % % B 0 2
o

—f® o l...‘....-.o!.!-.-....!.!

NEUTRAL .
R 2332332332323 2333323323323222233223322333323331233303333833323332383322333]
T3:
€31 KYBCTL :PERFORMING ONLY SINGLE TESTS ?
BEQ 28 ‘BR IF NOT
BPL 1% :BR IF JUST ENTERED TEST
P EXEC *RETURN € GET NEXT TEST NUMBER
18: MOV #-1 ,KYBCTL *SET SINGLE TEST INDICATOR
28: MOVE  #3,$TSTNM STEST NUMBER
MOV #TESTS,SLPADR  :LOAD LOOP ON TEST ADDRESS
MOV #TESTI SLPERR  :LOAD LOOP ON ERROR ADDRESS
MOV #10. . $TIMES 2:00 10. ITERATIONS

SEQ 0050
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167
168

- DU CNTRL TST 1 MACRO
PORT '8°' SEIZE/TIMEOUT

006376 012706 001100
006400 012737 000240
006406 005037 001264
006412 005037 001266
006416 005037 001270
006622 005037 001252
006426 012737 003720
006434 113760 001226
006442 013737 001c26
006450 005060 000012
006456 113760 001224
006462 013737 001224
006470 013737 001224
006476 016037 000012

006516 005037 001124
006522 023737 001124
006534 000137 007720

006540 113760 001226
006546 013737 001226

006554 016037 000012
006562 012737 011600
006570 013737 001124
006576 005137 001166
006602 013737 001126
006610 043737 001166

006616 023737 001124
0066

006632 113760 0012264
006640 013737 001224
006646 016046 000046
006652 016046 000044
006656 016046 000042
006662 016046 000030

016046 000036
006672 016046 000034
006676 016046 000032
006702 016046 000040
006706 016046 000020
006712 016046 000026
006716 016046 000006

n 4
¥2§i00 17-NOV-81 16:26:15 PAGE 13-8 SEQ 0051

177776

001254

000010
001236

000010
001234
001240
001126

001122
001126

000010
001234
001126
001124
001166

001164
001164
001164

000C10
001234

ST3: MoV
MOv
CLR
CLR
CLR

sSTART THE TIMER

(LR
MOV

#STACK,SP ;LOAD THE STACK POINTER
#<5¢32.>,3#PS  ;SET PRIORITY TO 5 IN CASE LOOPING
TIMEB ;CLEAR TIMEOUT VALUE FOR PORT B8

TIMEEP :CLEAR UPPER TIMEOUT TOLERANCE
TIMEBM :CLEAR LOWER TIMEOUT TOLERANCE

TIME ;CLEAR THE ELAPSED TIME COUNTER
#2000. ,WATCH ;SET WATCH TO 2000 MS

;SEIZE THE DRIVE THROUGH PORT B

Move
MoV
CLR
MOVB
MOV
MOV
MOV
MOV
ADD
CLR
CMP
BEQ
EMT
JMP

Move
MOV
MOV
MOV
MoV
com
MoV
8IC
cMP
B8EQ
EMT
65%: NOP

;READ THE DRIVE

MOV8
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MoV
MOV
Mov
MOV

648 :

PORTB,RPCS2(R0) SELECT PORT B

PORT8,SEIZPT ;STORE SEIZING PORT'S ADDRESS

RPDS1(RO) ;WRITE RPDS1

PORTA ,RPCS2(R0) ;SELECT PORT A

PORTA,PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
PORTA ,OPPRT ;'OPPOSITE' PORT ADDRESS

RPDS1(RO) ,$BDDAT SEE IF DRIVE SEIZED BY PORT B

RO, $BDADR ;RH11 BASE ADDRESS
#RPDS1,$BDADR  ;GENERATE BAD REGISTER ADDRESS
SGDDATY ;REGISTER SHOULD BE ZERO
S$GDDAT,$BDDAT ;1S THE REGISTER ZERO

245 JBR IF IT IS

5% ;BYPASS REST OF THE SUBTEST

PORTB,RPCS2(R0O) :SELECT PORT 8

PORTB.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
RPDS1(R0O) ,$8DDAT :SEE IF SEIZING PORT SEES CORRECT STATUS
#MOL ' PGM ' DPR ' DRY ,$GDDAT  :EXPECTED STATUS

$GODAT,.S$TMP1  ;USE GOOD DATA AS A MASK

$TMP1 - COMPLEMENT THE EXPECTED STATUS

SBDDAT ,STMPO  :SAVE THE ACTUAL STATUS

sTMP1,§TMPO SCLEAR UNWANTED BITS

$GDODAT,$TMPO  :ARE THE EXPECTED STATUS BITS SET ?

gss ‘BR IF THEY ARE

REGISTERS THROUGH PORT A AND STORE THEM ON THE STA(CK

PORTA ,RPCS2(R0) ;SELECT PORT A

PORTA,.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
RPEC2(RO) ,-{SP) ;STORE REGISTER RPEC2, PORT A, FOR CHECK
RPECI(RO) ,-{SP) ;STORE REGISTER RPEC1, PORT A, FOR CHECK
RPER3(RO) ,-(SP) ;STORE REGISTER RPER3, PORT A, FOR CHE(K

RPSN(RO) ,=(SP)  :STORE REGISTER RPSN, PORT A, FOR CHECK
RPCC(RO) .-(SP} :STORE REGISTER RPCC. PORT A. FOR CHECK
RPCA(RO) .-(SP) :STORE REGISTER RPCA. PORT A. FOR CHECK
RPOF (RO) .-(SP) :STORE REGISTER RPOF. PORT A. FOR CHECK
RPER2(ROJ ,~(SP) :STORE REGISTER RPER2, PORT A, FOR CHECK
RPLA(RO) ,=(SP) :STORE REGISTER RPLA, PORT A, FOR CHECK
RPDT(RO) .-(SP) :STORE REGISTER RPDT. PORT A. FOR CHECK
RPDA(RO) .-(SP) :STORE REGISTER RPDA. PORT A. FOR CHECK

— ™y
~
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13 PORT 'B' SEIZE/TIMEOUT TEST

“ie 722 016046 000024 MOV RPMR(RQ) ,~(SP) ;STORE REGISTER RPMR, PCRT A, FOR CHECK
. 26726 0160646 000014 MOv RPER1(R0S,-(SP) :STORE REGISTER RPERY, PORT A, FOR CHECK
;WAIT FOR PORT 8 TO TIMEOUT
006732 005760 000012 1$: TST RPDS1(RO) JWAIT FOR THE DRIVE TO TIMEOUT
006736 001006 BNE 28 sBR _WHEN TIMEOUT OCCURS
006740 005737 001254 TST WATCH sCHECK WATCH
006744 001372 BNE 18 ;B8R IF NOT ZERO
006746 104036 EMT 36
006750 000137 007340 JMP 4s sBYPASS TIMEOUT TIME CHECK
006754 012737 000340 177776 2%: MOV #<7+32.>,a#PS  ;SET PRIORITY TO 7 TO STOP CLOCK
006762 013/37 001252 001264 MOV TIME,TIMEB sSAVE THE ELAPSED TIME FOR PORT B
066770 004537 057072 JSR RS, TOLER ;CALCULATE THE TOLERANCE
006774 001264 .WORD  TIMEB sTIMEOUT VALUE FOR PORT B
006776 012637 001266 MOV (SP)+,TIMEBP ;4251 TOLERANCE
007002 012637 001270 alt)} (SP)+ ,TIMEBM ;-25% TOLERANCE
;VERIFY THAT THE TIMEOUT ONE-SHOT IS AT LEAST 500 MS
007006 023727 001252 000764 CMP TIME ,#4500. ;WAS MEASURED TIME AT LEAST 500 Ms?
007014 103001 BHIS 3s ;BR IF IT WAS
007016 104055 EMT 55
:VERIFY THAT THE DRIVE RETURNED TO NEUTRAL AFTER PORT B TIMED OUT
00702C 012737 000240 177776 3%: MoV #<5+32.>,34PS  ;RESTORE PRIORITY T0 5
;VERIFY THAT THE DRIVE IS IN NEUTRAL
007026 005037 001250 CLR RELERR :CLEAR THE °‘RELEASE ERROR ' INDICATOR
007032 012737 000012 001122 MOV #RPDS1,88DADR  ;FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
007040 060037 001122 ADD RO,$8DADR ;ADD THE 1/0 BASE ADDRESS
007044 012737 011600 001124 Mov #MOL !PGM!DPR!DRY ,SGDDAT ;COMPARISON CONSTANT
007052 113760 001224 000010 Movs PORTA .RPCS2(R0O) ;SELECT PORT A.
007060 016037 000012 001170 MOV RPDST1(RO) ,$TMP2 .GET THE DRIVE STATUS REGISTER FROM PORT A
007066 013737 001170 001164 MOV $TMP2,$TMPO ;COPY IT INTO 'STMPO°
007076 042737 100100 001164 8IC NATA!VV STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
007102 113760 001226 000010 movse PORTB,RPCS2(RO) :SELECT PORT B.
007110 016037 000012 001172 MOV RPDST(RO),$TMP3 ;GET THE DRIVE STATUS REGISTER FROM PORT B.
007116 013737 001172 001166 Mov STMP3, $TMPT ;COPY IT INTO ‘'STMPY®
007124 042737 100100 001166 8IC NATATVV $TMP1  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
007132 023737 001164 001166 CMP $TMPO,$TMP1 ;1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
007140 001006 BNE 663 :BR IF NOT
007142 005737 001164 TST $TMPO :REGISTERS ARE THE SAME: ARE THEY ZERO ?
007146 001037 BNE 68% :BR IF NOT
007150 104046 EMT 46
007152 000137 007336 JMP 708 ;BYPASS THE REST OF THE CHECKS
007156 013737 007170 001126 66$: MOV $TMP2 ,$BDDAT sSET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
007164 013737 001226 001234 Mov PORT8,PTNBR SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
007172 113760 001226 000010 move PORTB,RPCS2(RO) :SELECT PORT B.
007200 005737 001164 TST $TMPO SEE IF STATUS €EQ O FROM PORT A,
007204 001414 BEQ 67% :BR IF ZERO
007206 013737 001224 001234 MOV PORTA ,PTNBR ;SEIZING PORT IF TEST SHOWS ORIVE NOT IN NEUTRAL
007216 013737 001172 001126 MOV $TMP3 ,$BDDAT . 'BAD DATA®' FOR ERROR TYPE OUT
007222 113760 001224 000010 Move PORTA,RPCS2(RO) ;SELECT PORT A,
007230 005737 001166 TST $TMP1 sSEE IF STATUS EQ ZERO FROM PORT B.

- Y
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PORT 'B' SEIZE/TIMEOUT TEST

007234 001004 BNE 688

007236 012737 177777 001250 678: MOV #-1,RELERR
007244 104022 EMT 22

007246 013737 001170 001126 68%: MOV $TMP2, SBDDAT
007254 013737 001224 001234 MOV PORTA,PTNBR
007262 042737 100100 001170 BIC SATA'VV, STMP2
007270 023737 0011264 001170 CMP $GDDAT, §TMP2
007276 001401 BEQ 698

007300 104007 EMT 7

007302 013737 001172 001126 69%: MOV $TMP3, SBODAT
007310 013737 001226 001234 MOV PORTB.PTNBR
007316 042737 100100 001172 BIC #ATA!VV,STMP3
007324 023737 0011264 001172 CMP $GDDAT, $TMP3
007332 001401 8EQ 70$

007334 104007 EMT 7

007336 000240 708:  NOP

;BR IF NOT
;SET 'RELEASE ERROR' INDICATOR

;LOOK FOR BIT FAILURES WHEN RPDS1 READ
¢ CHANGE PORT NUMBER

sDON'T CHECK ATTN BIT OR Vv BIT

sALL BITS OK ?

sBR IF OK FROM PORT A,

sCHECK RPDS1 FOR BIT FAILURES = FROM PORT B.

s CHANGE PORT NUMBER

:DON'T CHECK ATTN BIT OR Vv BIT
+SEE IF READ OK FROM PORT B.
:BR [F OK

sCHECK THE REGISTERS STORED THROUGH PORT A. ALL REGISTERS SHOULD BE ZERO.
:THE REGISTERS ARE STORED ON THE STACK.

007340 013737 001224 001234 4$: MOV PORTA,PTNBR
007346 010037 001122 MOV RO, SBDADR
007352 062737 000014 001122 ADD #RPER1, SBDADR
007360 012637 001126 MOV (SP)+,$8DDAT
007364 001401 BEQ .44

007366 104006 EMT 6

007370 010037 001122 MOV RO, $BDADR
007374 062737 000024 001122 ADD #RPMR , SBDADR
007402 012637 001126 MOV (SP) +.$BODAT
007406 001401 BEQ .44

007410 104006 IMT 6

007412 010037 001122 MOV RO, $BDADR
007416 062737 000006 001122 ADD #RPDA, SBDADR
007424 012637 001126 MOV (SP) +.$BODAT
007430 001401 BEQ .46

007432 104006 EMT é

007434 010037 001122 MOV RO, $BDADR
007440 062737 000026 001122 ADD #RPDT , $BDADR
007446 012637 001126 MOV (SP) +.$8DDAT
007452 001401 BEQ .+

007454 104006 EMT 6

007456 010037 001122 MOV RO, S$8DADR
007462 062737 000020 001122 ADD #RPLA, $SBDADR
007470 012637 001126 MOV (SP) +.$BDDAT
007476 001401 BEQ .46

007476 104006 EMT 6

007500 010037 001122 MOV RO, $BDADR
007504 062737 000040 001122 ADD #RPER2 , $8DADR
007512 012637 001126 MOV (SP)+,$BDDAT
007516 001401 BEQ .+

007520 104006 EMT 6

007522 010037 001122 MOV RO, $BDADR
007526 062737 000032 001122 ADD #RPOF , $BDADR
007536 012637 001126 MOV (SP) +.$BDDAT
007540 001401 BEQ .46

007542 104006 EMT 3

007544 010037 001122 MOV RO, $BDADR

;CHANGE °PORT NUMBER' TO THKE OPPOSITE PORT
sBASE ADDRESS FOR REGISTER RPER1

;ADDRESS OF RPER1 FOR TYPEOUT

;CHECK THE STORED CONTENTS OF RPER?
;CONTENTS ZERO ?

;BASE ADDRESS FOR REGISTER RPMR
;ADDRESS OF RPMR FOR TYPEOQUT
cCHECK THE STORED CONTENTS OF RPMR
;CONTENTS ZERO ?

;BASE ADDRESS FUR REGISTER RPDA
;ADDRESS OF RPDA FOR TYPEOUT
sCHECK THE STORED CONTENTS OF RPDA
;CONTENTS ZERO ?

;BASE ADDRESS FOR REGISTER RPDT
;ADDRESS OF RPDT FOR TYPEQUY
sCHECK THE STORED CONTENTS OF RPDT
s CONTENTS ZERO ?

sBASE ADDRESS FOR REGISTER RPLA
;ADDRESS OF RPLA FOR TYPEOQUY
sCHECK THE STORED CONTENTS OF RPLA
sCONTENTS Z2ERO ?

;BASE ADDRESS FOR REGISTER RPERZ
sADDRESS OF RPERZ2 FOR_TYPEOUT
sCHECK THE STORED CONTENTS OF RPERZ
sCONTENTS ZERN ?

;BASE ADDRESS FOR REGISTER RPOF
sADDRESS OF RPOF FOR TYPEOQUT
sCHECK THE STORED CONTENTS OF RPOF
sCONTENTS ZERO ?

;BASE ADDRESS FOR REGISTER RPCA

SEQ 0053

-4 £
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007550
007556
007562
007564
007566
007572
007600
007604
007606
007610
007614
007622

007722

007744

062737

001401
104006
000004

000034
001126

001122
000036
001126

001122
000030
001126

001122
000042
001126

001122
000044
001126

001122
000046
001126

001274

003010
177777
000004

001122

001122

001122

001122

001122

001122

0O
—
— )
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PORT 'B' SEIZE/TIMEOUT TEST

SEQ 0054

ADD #RPCA ,$BDADR :ADDRESS OF RPCA FOR TYPEQUT
MOV (SP)+,$BDDAT sCHECK THE STORED CONTENTS OF RPCA
gg? H :CONTENTS 2ERO ?
MoV RO, $BDADR :BASE ADDRESS FOR REGISTER RPCC
ADD #RPCC,$BDADR ;ADDRESS OF RPCC FOR TYPEQUT
MoV (SP) +,$BDDAT sCHECK THE STORED CONTENTS OF RPCC
Esg H :CONTENTS Z2ERO ?
MOV RO,$BDADR sBASE ADDRESS FOR REGISTER RPSN
ADD #RPSN, $BDADR +ADDRESS OF RPSN FOR TYPEOQUT
mMov (SP)+,$BDDAT sCHECK THE STORED CONTENTS OF RPSN
Eﬁ? i 4 :CONTENTS ZERO ?
MoV RO, $8DADR ;BASE ADDRESS FOR REGISTER RPER3
ADD #RPER3,$BDADR  :ADDRESS OF RPER3 FOR TYPEOUT
Mov (SP) +,$BODAT s CHECK THE STORED CONTENTS OF RPER3
ES? i +4 :CONTENTS 2ERO ?
MoV RO,$8DADR sBASE ADDRESS FOR REGISTER RPEC1
ADD #RPEC1,$BDADR  ;ADDRESS OF RPEC1 FOR TYPEOUT
MoV (SP)+,$BDDAT sCHECK THE STORED CONTENTS OF RPEC1T
gg? 6*4 s CONTENTS ZERO ?
MoV RO,$8DADR ;BASE ADDRESS FOR REGISTER RPEC?
ADD #RPEC2,$B8DADR  ;ADDRESS OF RPEC2 FOR _TYPEOUT
MOV (SP)+,$BODAT :CHECK THE STORED CONTENTS OF RPECZ
BEQ .th :CONTENTS ZERO ?
EMT é

5%: SCOPE ;LOOP ?

JiNARARRARARRANAARARA AN AR AN ARNNARAAAACA AR R ARARARACANARCRAAACER

tTEST & PORT 'A' COMMAND SEIZE TEST & SET 'Vv-A'

*VER!FY THAT THE DRIVE IS SEIZED WHEN A COMMAND IS SSUED.
FOR THE PORT UNDER TEST.

A. ISSUE A DRIVE CLEAR COMMAND THROUGH PORT °‘A'. VERIFY THAT THE
DRIVE WAS SEIZIED BY PORT °'A' AND THAT THE 'GO' BIT RESET.

B. ISSUE A READIN PRESET COMMAND THROUGH PORT ‘'A°. VERIFY THAT THE
'VV' BIT WAS SET FOR PORT °A‘ AND THAT THE 'VV' BIT WAS NOT SET
FOR PORT 'B'. (NOTE THAT THE ‘'VV' BIT NOT BEING SET FOR PORT
'B' CAN ONLY BE TESTED THE FIRST TIME THROUGH THE PROGRAM.)

C. STALL FOR 2 SECONDS THEN VERIFY THAT THE PORT TIMEOUT RELEASED
THE DRIVE AND THE THE DRIVE RETURNED TO NEUTRAL.

CANAARARAARRRAARRARALARA A AN AARRAARNRNAAANCARNANRANARRA RS ARANANACNS

ST KYBCTL :PERFORMING ONLY SINGLE TESTS ?
BEOQ 2$ ‘BR IF NOT

BPL 1$ :BR IF JUST ENTERED TEST

JMP EXEC CRETURN & GET NEXT TEST NUMBER
MOV #=1,KYBCTL :SET SINGLE TEST INDICATOR
MOVB  #4,$TSTNM STEST NUMBER

SET ‘'wv'

By Wy B,y 0,
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PORT 'A' COMMAND SEIZE

007752

236

elelelelelslelolelelelelelalelelelelelelelelelal
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N
F
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O=0000
NOON NN

005037
012737
013737

012760

113760
013737
005037
016037
012737
060037
005037
023737
001403
104012
005137
000240
113760
013737
005037
016037
012737
060037
012737
013737
042737
023737
001414
013737
042737
053737
104010
005137
000240
005037
016037
012737
060037
012737
013737
062737
023737
001414

007774
007774
000001
001100
001224
001224

001252
003720
0012264

000011

001226
001226
001244
000012
000012
001122
001124
001124

001244

00122¢6
001224
001244
000012
000012
001122
011600
001126
106177
001124

001126
071600
001174

001244

001244
000000
000000
001122
004210
001126
100000
001124

D 5
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TEST

N01254
001236

000000

000010
001234

001126
001122

001126

000010
001234

001126
001122

001124
001164
001164
001164

001174
001174
001124

SET ‘VV-A'

TEST4:

MOV
MOV
MOY
MOV
MOvV8
MOV

ATESTG,SLPADR  :LOAD LOOP ON TEST ADDRESS
#TEST4.SLPERR  :LOAD LOOP ON ERROR ADDRESS

2 ,STIMES 2500 1 ITERATION

#STACK,SP *LOAD THE STACK POINTER

PORTA,RPCS2(RO) “:;SELECT PORT A

PORTA.PTNBR :;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT

;START THE TIMER

CLR
MOV
MOV

TIME sCLEAR THE ELAPSED TIME COUNTER
#2000. ,WATCH ;SET WATCH TO 2000 MS
PORTA,SEIZPT ;'SEIZED' PORT ADDRESS

; ISSUE DRIVE CLEAR COMMAND

;VERIFY

648

66$:

MOV

#11,RPCS1(RO)  ;ISSUE A DRIVE CLEAR

THAT DRIVE SEIZED BY PORT A.

Movs
MOV
CLR
MOV
MOV
ADD
CLR
CMP
BEQ
EMT
COM
NOP
MOvVB
MOV
CLR
MoV
MOV
ADD
MOV
MOV
8I1C
CMP
8EQ
MOV
BIC
BIS
EMT
COM
NOP
CLR
MOV
MOV
ADD
MOV
MoV
8IC
CMP
BEQ

PORTB,RPCS2(R0O) ;SELECT PORT B

PORTB,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
CKERR JCLEAR THE °'CHECK ERROR® INDICATOR
RPDS1(RO) ,$8BDDAT ;GET CONTENTS OF RPDS1

#RPDS1,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE

RO,$BDADR ;ADD RH11 BASE ADDRESS

SGDDAT sWHAT REGISTER SHOULD BE

$GDDAT,$BDDAT ;1S THE REGISTER 0K ?

?33 :BR IF 0K

CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR

PORTA,RPCS2(RO) :SELECT PORT A

PORTA_PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
RPDS1(RO) ,$8DDAT  :GET CONTENTS OF RPDS1

ARPDS1,8BDADR :FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, $BDADR :ADD RH11 BASE ADDRESS

#MOL 'PGM'DPR!DRY.SGDDAT :WHAT REGISTER SHOULD BE
$BDDAT ,$TMPO’  :MOVE REGISTER CONTENTS TO ‘STMPO'
#4c71600,$TMPO  ;SAVE SPECIFIED BITS

$GDDAT,$TMPO :COMPARE THE BITS

66$ *BR IF OK

SBDDAT.STMP4  :COPY °'BAD DATA'

#71600.8TMP4  :CLEAR THE MASKED BITS

gsnpk.icooAr *'OR’ WITH GOOD DATA FOR TYPEOUT

CKERR sSET THE REGISTER COMPARE ERROR INDICATOR

CKERR ;CLEAR THE "CHECK ERROR® INDICATOR
RPCS1(RO),$8DDAT  :GET CONTENTS OF RPCS1

#RPCS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, $BDADR :ADD RH11 BASE ADDRESS

#4510 $GDDAT ;WHAT REGISTER SHOULD BE

$BDDAT . STMPO ° :MOVE REGISTER CONTENTS TO °*STMPO°
#AC77777.8TMPO  :SAVE SPECIFIED BITS

$SGDDAT,$TMPO  :COMPARE THE BITS

688 *BR IF OK
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CZRJEDO = DU CNTRL TST 1 MACRO Vv04.00
PORT "A® COMMAND SEIZE TEST & SET 'VVv-A'
010330 013737 001126 001174 MOV $8DDAT ,$TMP4 ;COPY 'BAD DATA’®
010336 042737 077777 001174 BIC K77777.$THPS :CLEAR THE MASKED BITS
010344 053737 001174 001124 BIS $TMP4 , $GDDAT :'OR’ WITH GOOD DATA FOR TYPEOUT
010352 104010 EMT 10
0103546 005137 001244 COM CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR
010360 000240 68$: NOP
; ISSUE READIN PRESET COMMAND AND SET FMTZ22
010362 012760 000023 000000 MOV #23 RPCS1(RO) ISSUE A READIN PRESET
534 010370 012760 010000 000032 MOV #FMT22 ,RPOF (RO) ;SET FMT22
;VERIFY THAT THE DRIVE STATUS IS CORRECT
010376 005037 001244 CLR CKERR sCLEAR THE 'CHECK ERROR® INDICATOR
010402 016037 000012 001126 MOV RPDS1(RO) ,8BDDAT ;GET CONTENTS OF RPDS1
010410 012737 000012 001122 MOV #RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
010416 060037 001122 ADD RO, $BDADR ;ADD RH11 BASE ADDRESS
010422 012737 011700 001124 MOV #MOL 'PGM!DPR!DRYVV,$GDDAT ;WHAT REGISTER SHOULD BE
010430 013737 001126 001164 MOV $S8DDAT , STMPO sMOVE REGISTER CONTENTS TO 'S$STMPO’
010436 042737 106077 001164 8IC #4(71700,8TMPO  :SAVE SPECIFIED BITS
010444 023737 001124 001164 CMP $GDDAT,$TMPO s COMPARE THE BITS
010452 001414 BEQ 70$ :BR IF OK
010454 013737 001126 001174 MOV $8DDAT ,$TMP4 :COPY 'BAD DATA'
010462 042737 071700 001174 8iC #71700,$TMP4 ;CLEAR THE MASKED BITS
010470 053737 001174 001124 BIS $TMP4 ,$GDDAT :'OR* WITH GOOD DATA FOR TYPEOUT
010476 104013 EMT 13
010500 005137 001244 COM CKERR sSET THE REGISTER COMPARE ERROR INDICATOR
010504 000240 708: NOP
010506 113760 001226 000010 Movs PORTB,RPCS2(RO) .SELECT PORT B
010514 013737 001226 001234 MoV PORTB,PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPECUT

;WAIT FOR TIMEOUT TO RELEASE DRIVE

010522 005760 000012 1$: TST RPDS1(RO) sWAIT FOR THE PORT TO TIME QUT

010526 001006 BNE 28 ;BR WHEN TIMEOUT OCCURS

010530 005737 001254 TST WATCH sCHECK THE WATCH

010534 001372 BNE 13 ;BR IF NOT ZERO

010536 104036 EMT 36

010540 000137 011056 JMP 3$ ;BYPASS ATTN REGISTER CHECK
:SEE IF DRIVE RETURNED TO NEUTRAL

010544 28:

sVERIFY THAT THE DRIVE 1S IN NEUTRAL
544 005037 001250 CLR RELERR sCLEAR THE °'RELEASE ERROR * INDICATOR

010
010550 012737 000012 001122 MOY #RPDS1,8BDADR ;FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
010556 060037 001122 ADD RO, $B8DADR *ADD THE 1/0 BASE ADDRESS

010562 012737 011600 001124 MOV #MOL 'PGM'DPR!'DRY . SGDDAT : COMPARISON CONSTANT

010570 113760 001224 000010 MOVB  PORTA.RPCS2(RO) :SELECT PORT A

010576 016037 000012 001170 MOV RPDS1(RO),$TMP2 :GET THE onxve STATUS REGISTER FROM PORT A.
010604 013737 001170 001164 MOV $STMP?2, $TMPO SCOPY IT INTO *STMPO®

010612 042737 100100 001164 BIC #ATA!VV,STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
010620 113760 001226 000010 MOVB  PORTB,RFCS2(RO) :SELECT PORT B

010626 016037 000012 001172 MOV RPDS1(RO) ,$TMP3 :GET THE onxve STATUS REGISTER FROM PORT B.
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177777

001170
001224
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001124

001172
001226
100100
001124
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TEST & SET ‘Vv-A'

001166
001166
001166

001126
001234
000010

001234
001126
000010

001250

001126
001234
001170
001170

001126
001234
001172
001172

728%:

73%:

748 :

75%:

76$:
3s:

MOV
8IC
CMP
BNE
TST
BNE
EMT
JMP
MOV
MOV
MOVB
TST
BEQ
MOV
MOV
MOvV8
TST
BNE
MOV
EMT
MOV
MOV
BIC
CMP
BEQ
EMT
MOV
MOV
BIC
CMP
BEQ
EMT
NOP
SCOPE

$TMP3,$TMP1
#ATA!VV,$TMP1
$TMPO,$THPY
728

$TMPO

748

46

76$

$TMP2 ,SBDDAT
PORTB,PTNBR

PORTB,RPCS2(RO)

$TMPO

73$
PORTA,PTNBR
$TMP3 ,$BDDAT

PORTA ,RPCS2(R0)

$TMPY

748
#-1,RELERR
22

$TMP2, SBDDAT
PORTA.PTNBR
NATA'VV,STMP2
$GDDAT, $TMP2
75$

7

$TMP3, $BDDAT
PORTB.PTNBR
SATA'VV, STMP3
$GDDAT,$TMP3
763

7

SEQ 0057

sCOPY IT INTO ‘'STMP1’

;CLEAR PORT DEPENDENT BITS FROM THE COPY

ég }HENg}ATbS REGISTER THE SAME FROM BOTH PORTS ?
SEG}§TERS ARE THE SAME: ARE THEY ZERO ?

;BYPASS THE REST OF THE CHECKS

:SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
;SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
:SELECT PORT B.

:SEE [F STATUS EQ O FROM PORT A.

:BR IF ZERO

:SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
: 'BAD DATA' FOR ERROR TYPE OUT
sSELECT PORT A,

gEEIgFNgTATUS EQ ZERO FROM PORT B.
:SET 'RELEASE ERROR® INDICATOR

;LOOK FOR BIT FAILURES WHEN RPDS1 READ
s CHANGE PORT NUMBER

:DON'T CHECK ATTN BIT OR VvV BIT

sALL BITS OK ?

:BR IF OK FROM PORT A.

2CHECK RPDS1 FOR BIT FAILURES - FROM PORT B.
; CHANGE PORT NUMBER

;DON'T CHECK ATTN BIT OR Vv BIT

;SEE IF READ OK FROM PORT B.

:BR IF 0K

;LOOP ?

tttﬁtt*ttttttttt'ﬂt*t'tt'itttttttQﬁQ*ﬁttttttﬁ*ﬁ*tttittttﬁ*ﬁtttt

PORT 'B' COMMAND SEIZE TEST & SET 'vv-B'
*VERIFY THAT THE DRIVE IS SEIZED WHEN A COMMAND IS ISSUED. SET ‘'vv°'

tTEST 5

LN T !.!..o.

PEFL I AR T RO N YN

N B % % 2 222222

>

[ g ]
.

-
(¥, ]
..

FOR THE PORT UNDER TEST.

ISSUE A DRIVE CLEAR COMMAND THROUGH PORT 'B'. VERIFY THAT THE
DRIVE WAS SEIZIED BY PORT 'B® AND THAT THE ‘'GO‘ BIT RESET.

ISSUE A READIN PRESET COMMAND THROUGH PORT °‘B'. VERIFY THAT THE
'VV' BIT FOR PORT 'B' WAS SET.

STALL FOR 2 SECONDS THEN VERIFY THAT THE PORT TIMEOUT RELEASED
THE DRIVE AND THE THE DRIVE RETURNED TO NEUTRAL.

TST
BEQ
BPL
JMP
MoV

KYBCTL
2%

18
EXEC
#-1,KYBCTL

2 233823828 2422823422338 3 0RR2RR22R222222 020300300 RERRE2

;PERFORMING ONLY SINGLE TESTS ?
:BR IF NO

T
:BR_IF JUST ENTERED TEST
;RETURN & GET NEXT TEST NUMBER
:SET SINGLE TEST INDICATOR
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PORT 'B' COMMAND SEIZE TEST & SE. ‘'vv-8'
011102 112737 000005 001102 28: MovB #5,STSTNM ;TEST NUMBER
011110 012737 011132 001106 MOV #TEST5 SLPADR  :LOAD LOOP ON TEST ADDRESS
011116 012737 011132 001110 MOV NTEST5,SLPERR  ;LOAD LOOP ON ERROR ADDRESS
011124 012737 000001 9001176 MoV #1,STIMES ::D0 1 ITERATION
011132 012706 001100 TESTS5: MOV #STACK,SP :LOAD THE STACK POINTER
011136 113760 001226 000010 Movae PORTB,RPCS2(RO) :SELECT PORT B
011144 013737 001226 001234 MoV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
:START THE TIMER
011152 005037 001252 CLR TIME ;CLEAR THE ELAPSED TIME COUNTER
011156 012737 003720 001254 MoV #2000. ,WATCH :SET WATCH TO 2000 MS
011164 013737 001226 001236 MoV PORT8B,SEIZPT :'SEIZED' PORT ADDRESS
; ISSUE DRIVE CLEAR COMMAND
011172 012760 000011 000000 MOV #11,RPCS1(RO)  ;ISSUE A DRIVE CLEAR
;VERIFY THAT DRIVE SEIZED BY PORT B.
011200 113760 001224 000010 MOvB PORTA RPCS2(RO) SELECT PORT A
011206 013737 001224 001234 MOV PORTA ,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
011214 005037 001244 CLR CKERR sCLEAR THE ‘CHECK ERROR' INDICATOR
011220 016037 000012 001126 MOV RPDS1(RO),$BDDAT .GET CONTENTS OF RPDS1
011226 012737 000012 001122 MOV #RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERRCR MESSAGE
011234 060037 001122 ADD RO, $8DADR ;ADD RH11 BASE ADDRESS
011240 005037 001124 CLR $GDDAT ;WHAT REGISTER SHOULD BE
011244 023737 001124 001126 CMP $GDDAT ,$BDDAT ;1S THE REGISTER OK ?
011252 001403 BEQ 648 :BR IFf 0K
011254 104012 EMT 12
011256 005137 001244 COM CKERR sSET THE REGISTER COMPARE ERROR INDICATOR
011262 000240 648 NOP
011264 113760 001226 000010 MOVB PORTB,RPCS2(RO) ;SELECT PORT B
011272 013737 001226 001234 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
011300 005037 001244 CLR CKERR sCLEAR THE ‘CHECK ERROR' INDICATOR
011304 016037 000012 001126 MOV RPDS1(RO) ,SBDDAT ;GET CONTENTS OF RPDS1
011312 012737 000012 001122 MOV #RPDS1,$8DADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
011320 060037 001122 ADD RO,$8DADR sADD RH11 BASE ADDRESS
011324 012737 011600 001124 MOV #MOL !PGM!DPR!DRY ,SGDDAT :WHAT REGISTER SHOULD BE
011332 013737 001126 001164 MOV $S8DDAT, $TMPO ;MOVE REGISTER CONTENTS TO 'STMPO°
011340 042737 106177 001164 8IC #-C71600,8TMPO  :SAVE SPECIFIED BITS
011346 023737 001124 001164 cMp $GDDAT ,$TMPO :COMPARE THE BITS
011354 001414 BEQ 663 sBR IF 0K
011356 013737 001126 001174 MOV $SBDODAT , $TMP4 ;COPY 'BAD DATA®
011364 042737 071600 001174 BIC #71600,$TMP4 ;CLEAR THE MASKED BITS
011372 053737 001174 001124 8IS $TMP4 , $GDDAT ;'OR' WITH GOOD DATA FOR TYPEOUT
011400 104010 EMT 10
011402 005137 001244 COM CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR
011406 000240 66$: NOP
011410 005037 001244 CLR CKERR sCLEAR THE ‘CHECK ERROR' INDICATOR
011414 016037 000000 001126 MOV RPCS1(RO) ,$BDDAT -GET CONTENTS OF RPCSI1
011422 012737 000000 0061122 MOV #RPCS1,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
011430 060037 001122 ADD RO, $8DADR ;ADD RH11 BASE ADDRESS
011434 012737 004210 001124 MOV #4210, $GDDAT ;WHAT REGISTER SHOULD BE
011442 013737 001126 001164 MOV $8DDA T, $TMPO ;MOVE REGISTER CONTENTS TO 'STMPO*
011450 042737 100000 001164 8IC ¥2C77777,8TMPO ;SAVE SPECIFIED BITS
011456 023737 001124 001164 CMP $GDDAT, $TMPO ;COMPARE THE BITS
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CZRJEDO = DU CNTRL TST 1 MAC
15 PORT 'B' COMMAND SEIZE TEST & SET ‘vv-8'
011464 001414 BEQ 68$ ;s8R IF 0K
011466 013737 001126 001174 MOV $8DDAT,$TMP4 sCOPY °'BAD DATA'
011674 042737 077777 001174 BIC N77777 ,$THPL sCLEAR THE MASKED BITS
011502 053737 001174 001124 BIS STMP4 , $GDDAT :'OR" WITH GOOD DATA FOR TYPEOUT
011510 104010 EMT 10
011512 005137 001244 COM CKERR sSET THE REGISTER COMPARE ERROR INDICATOR
011516 000240 688 NOP
:JSSUE READIN PRESET COMMAND AND SET FMTZ2?
011520 012760 000023 000000 MOV #23,RPCS1(RO) :ISSUE A READIN PRESET
257 011526 012760 010000 000032 MOV #FMT22 ,RPOF (RO) ;SET FMT22
;VERIFY THAT THE DRIVE STATUS IS CORRECT
011534 005037 001244 CLR CKERR .CLEAR THE °'CHECK ERROR' INDICATOR
011540 016037 000012 001126 MOV RPDS1(RO) ,$8DDAT ;GET CONTENTS OF RPDS1
011546 012737 000012 001122 MOV #RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
011554 060037 001122 ADD RO, $BDADR iADD RH11 BASE ADDRESS
011560 012737 011700 001124 MOV #MOL ! PGM!DPR!DRY!VV,SGDDAT WHAT REGISTER SHOULD BE
011566 013737 001126 001164 MOV $BDDAT, STMPO ;MOVE REGISTER CONTENTS TO °'STMPO'
011574 042737 106077 001164 8IC #~(71700,$TMPO  :SAVE SPECIFIED BITS
011602 023737 001126 001164 CMP $GDDAT,$TMPO :COMPARE THE BITS
011610 001414 BEQ 708 ;B8R _IF OK
011612 013737 001126 001174 MOV SBDDAT ,$TMP4 ;COPY ‘BAD DATA'
011620 042737 071700 001174 81C #71700,8TMP4 ;CLEAR THE MASKED BITS
011626 053737 001174 001124 BIS $TMP4 , $GDDAT ;'OR"' WITH GOOD DATA FOR TYPEOUT
011634 104013 EMT 13
011636 005137 001244 COM CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR
011642 000240 708: NOP
011644 113760 001224 000010 MOv8 PORTA,RPCS2(R0O) ;SELECT PORT A
011652 013737 001224 001234 MoV PORTA,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
;WAIT FOR TIMEOUT TO RELEASE DRIVE
011660 005760 000012 1$: TST RPDS1(RO) ;WAIT FOR THE PORT TO TIME OUT
011664 001006 BNE 2% :BR_WHEN TIMEOUTI OCCURS
011666 005737 001254 TST WATCH ;CHECK THE WATCH
011672 001372 BNE 13 :BR IF NOT ZERO
011674 104036 EMT 36
011676 000137 012214 JMP 3s ;BYPASS ATTN REGISTER CHECK
;SEE IF DRIVE RETURNED TO NEUTRAL
011702 28:
;VERIFY THAT THE DRIVE 1S IN NEUTRAL
011702 005037 001250 CLR RELERR ;CLEAR THE °‘RELEASE ERROR ' INDICATOR
011706 012737 000012 001122 MOV #RPDS1,8BDADR  ;FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
011714 060037 001122 ADD RO,$BDADR iADD THE 1/0 BASE ADDRESS
011720 012737 011700 001124 MOV #MOL ! PGM!DPR!DRY !VV SGDDAT .COMPARISON CONSTANT
011726 113760 001224 000010 Movae PORTA ,RPCS2(RO) ;SELECT PORT A.
011734 016037 000012 001170 MOV RPDS1(RO) ,$TMP2 ;GET THE DRIVE STATUS REGISTER FROM PORT A.
011742 013737 001170 001164 MOV $TMP2,$THPO ;COPY IT INTO °'STMPO’
011750 042737 100100 001164 BIC #ATA!VV STHPO  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
011756 113760 001226 000010 MmovBe PORTB,RPCS2(RO) ;SELECT PORT B.
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CZRJEDO = DU CNTRL TST 1 MACRO
15 PORT ‘B’ COMMAND SEIZE TEST & SET 'Vv-B
011764 016037 000012 001172 MOV RPDS1(RO),$TMP3 ;GET THE DRIVE STATUS REGISTER FROM PORT B.
011772 013737 001172 001166 MOV STMP3,STMFI :COPY IT INTO 'STMP1®
012000 042737 100100 001166 BIC  WATAIVV,$TMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
012006 023737 001164 001166 CMP STMPO,STMPY 1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
012014 001006 BNE 728 :BR_IF_NOT
012016 005737 001164 TST  $TMPO REGISTERS ARE THE SAME: ARE THEY ZERO ?
012022 001037 BNE 748 :BR IF NOT
012024 104046 EMT 46
012026 000137 012212 JMP 768 :BYPASS THE REST OF THE CHECKS
012032 013737 001170 001126 72$: MOV $TMP2,.$BDDAT  :SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
012040 013737 001226 001234 MOV PORTB.PTNBR  :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
012046 113760 001226 000010 MOVB  PORTB.RPCS2(R0) :SELECT PORT 8.
012054 005737 001164 ST $TMPO :SEE IF_STATUS EQ O FROM PORT A.
012060 001414 BEQ 738 :BR IF 2ERO
012062 013737 001224 001234 MOV  PORTA,PTNBR  :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
012070 013737 001172 001126 MOV STMP3.$BDDAT  :’BAD DATA' FOR ERROR TYPE OUT
012076 113760 001224 000010 MOVB  PORTA.RPCS2(R0) :SELECT PORT A.
012104 005737 001166 ST $STMP :SEE_IF STATUS EQ ZERO FROM PORT B.
012110 001004 BAE 743 :BR_IF NOT
012112 012737 177777 001250 73%: MOV #-1,RELERR SET 'RELEASE ERROR' INDICATOR
012120 104026 EMT 26
012122 013737 001170 001126 74$: MOV $TMP2,$8DDAT  ;LOOK FOR BIT FAILURES WHEN RPDS1 READ
012130 013737 001224 001234 MOV PORTA.PTNBR  :(CHANGE PORT NUMBER
012136 042737 100000 001170 BIC  WATA $TMP? :DON'T CHECK THE ATIN BIT
012144 023737 001124 001170 CMP  S$GDDAT,S$TMP2  :ALL BITS OK ?
012152 001401 BEQ 758 :BR IF OK FROM PORT A.
012154 104007 EMT 7
012156 013737 001172 001126 758: MOV $TMP3,$BDDAT  ;CHECK RPDS1 FOR BIT FAILURES - FROM PORT B.
012164 013737 001226 001234 MOV PORTB.PTNBR  :CHANGE PORT NUMBER
012172 062737 100000 001172 BIC  #ATA,$TMP3 :DON'T CHECK THE ATIN BIT
012200 023737 001124 001172 C(MP  $GDDAT,STMP3  :SEE IF READ OK FROM PORT B.
012206 001401 BEQ  76% :BR IF OK
012210 104007 EMT 7
012212 000240 768:  NOP
012214 000004 38: SCOPE ;LOOP ?
520
271 . "ttiitttlttttl‘tttﬁttitttttttttttttttttttittttﬁttt*tititttitt*tiﬂ
*TEST 6 TEST RELEASE, DRIVE SEIZED BY PORT ‘A’
:t
:#TEST THE OPERATION OF THE RELEASE COMMAND. DRIVE SEIZED
* %
i* A, SEIZE THE DRIVE THROUGH PORT 'A' BY WRITING 0'S INTO RPDSI.
b 4
i+ B. ISSUE A RELEASE COMMAND THROUGH PORT'A’, VERIFY THAT THE DRIVE
i RETURNED TO NEUTRAL, AND THAT NO ERRORS ARE INDICATED BY THE
. .
- W
:' . 1032802020802 00208 8330808000008 2003003300323 8 2330380338888 282820223312]
012216 T$T6:
012216 005737 001274 TST  KYBCTL :PERFORMING ONLY SINGLE TESTS ?
012222 001406 BEQ 2% :BR IF NOT
012224 100002 BAL 18 :BR_IF JUST ENTERED TEST
012226 000137 003010 JMP  EXEC RETURN & GET NEXT TEST NUMBER
012232 012737 177777 001274 18: MOV A=1,KYBCTL :SET_SINGLE TEST INDICATOR
012240 112737 000006 001102 28: MOVB  #6,$TSTNM TEST NUMBER
012246 012737 012270 001106 MOV WTEST6,SLPADR  ;LDAD LOOP ON TEST ADDRESS

-
—-r
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16 TEST RELEASE, DRIVE SEIZED BY PORT ‘A’
012254 012737 012270 001110 MOV #TEST6,SLPERR  ;LOAD LOOP ON ERROR ADDRESS
012262 012737 007640 001176 MOV #6000, .STIMES  :;DO 4000. ITERATIONS
g;g 012270 012706 001100 TEST6: MOV #STACK,SP ;LOAD THE STACK POINTER
sSTART THE TIMER

012274 005037 001252 CLR TIME JCLEAR THE ELAPSED TIME COUNTER
012300 012737 003720 001254 MOV #2000. ,WATCH ;SET WATCH TO 2000 Ms

;SEIZE THE DRIVE THROUGH PORT A
012306 113760 001224 000010 MOvB PORTA,RPCS2(RO) .SELECT PORT A
012314 013737 001224 001236 MOV PORTA,SEIZPT ;STORE SEIZING PORT'S ADDRESS
012322 005060 000012 CLR RPDS1(RO) ;WRITE RPDS1
012326 013737 001226 001240 MoV PORTB,0PPRT :"OPPOSITE' PORT ADDRESS

;RELEASE THE DRIVE FROM PORT A
012334 113760 001224 000010 Movs PORTA ,RPCS2(R0) SELECT FORT A
012342 013737 001224 001234 MOV PORTA,PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
012350 012760 000013 000000 MOV #13,RPCS1(RO)  ;ISSUE RELEASE THROUGH PORT A

;VERIFY THAT THE DRIVE IS IN NEUTRAL
012356 005037 001250 CLR RELERR ;CLEAR THE 'RELEASE ERROR ' INDICATOR
012362 012737 000012 001122 MOV #RPDS1,8BDADR  ;FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
012370 060037 001122 ADD RO,$8DADR :ADD THE 1/0 BASE ADDRESS
012374 012737 011700 001124 MOV #MOL ! PGM'DPR!DRY VYV, $GDDAT _;COMPARISON CONSTANT
0126402 113760 001224 000010 MOov8 PORTA,RPCS2(RO) ;SELECT PORT A.
012410 016037 000012 001170 MOV RPDS1(R0) ,$TMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
012416 013737 001170 001164 MOV $TMP2, $THPO ;:COPY IT INTO ‘STMPO'
0124c4 042737 100100 001164 BIC NATA!VV,STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
012432 113760 001226 000010 MOov8B PORTB,RPCS2 (RO) :SELECT PORT B.
012440 016037 000012 001172 MOV RPDS1(RO) ,$TMP3 .GET THE DRIVE STATUS REGISTER FROM PORT B.
012446 013737 001172 001166 MOV $TMP3,$TMPI ;COPY IT INTO °‘STMP1’
012454 042737 100100 001166 8IC N#ATA!VV,STMP1  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
0126462 023737 001164 001166 cMP $TMPO,S$THPY :IS THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
012470 001006 BNE 66$ :BR IF NOT
012472 005737 001164 TST $TMPO sREGISTERS ARE THE SAME: ARE THEY ZERO ?
012476 001037 BNE 68% :BR IF NOT
012500 104046 EMT 46
012502 000137 012666 JMP 708 ;BYPASS THE REST OF THE CHECKS
012506 013737 001170 001126 66S: MOV $TMP2, SBDDAT ;SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
012514 013737 001226 001234 MoV PORTB,PTNBR ;SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
012522 113760 001226 000010 Movs PORTB,RPCS2(R0) : SELECT PORT 8.
012530 005737 001164 TST $TMPO ;SEE IF STATUS EQ O FROM PORT A
012534 001414 BEQ 67% .BR 1F ZERO
012536 013737 001224 001234 MoV PORTA ,PTNBR . SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
012544 013737 001172 001126 MoV $TMP3,SBDDAT ; 'BAD DATA' FOR ERROR TYPE OUT
012552 113760 001224 000010 MOvB PORTA ,RPCS2(RO) ;SELECY PORT A.
012560 005737 001166 TST STMPT :SEE IF STATUS EQ ZERO FROM PORT B.
012564 001004 BNE 68$ :BR_IF NOT
012566 012737 177777 001250 67S: MOV #-1,RELERR ;SET 'RELEASE ERROR® INDICATOR
012574 104026 EMY 26
012576 013737 001170 001126 68$: MOV $TMP2 ,$BDDAT ;LOOK FOR BIT FAILURES WHEN RPDS? READ
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013737
042737
023737
001401
104007
013737
013737
042737
023737
001401
104007
000240
005737
001402
000137
113760
013737
005037
016037
012737
060037
005037
013737
042737
023737

001224
100000
001124

001172
001226
100000
001124

001250

013152
001224
001224
001244
000012
000012
001122
001124
001126
077777
001124

001126
100000
001174

001244

001226
001226
001244
000012
000012
001122
001124
001126
077777
001124

001126
100000
001174
001244

013204

001226
001226

001172

000010
001234

001126
001122

001164
001164
001164

001174
001174
001124

000010
001234

001126
001122

001164
001164
001164

001174
001174
001124

000010
001234

MOV
8l(
CMP
BEQ
EMT
MOV
MOV
BIC
CMP
BEQ
EMT
NOP
TST
BEQ
JMP
mMovBe
MOV
CLR
MOV
MOV
ADD
CLR
MOV
8IC
CMP
BEQ
MOV
BIC
8IS
EMT
COM
NOP
MOvB
MOV
CLR
MOV
MOV
ADD
CLR
MoV
BIC
CMP
BEQ
MOV
BIC
BIS
EMT
COM
NOP
JMP

708 :

71$:

73%:

K
17-NOV=81 16:26:15 PAGE 13-19
PORT ‘A’

PORTA ,PTNBR

SEQ@ 0062

: CHANGE PORT NUMBER

#ATA, $TMP?2 *DON'T CHECK THE ATTN BIT

$SGDDAT.STMP2  :ALL BITS 0K ?

993 *BR IF OK FROM PORT A.

$TMP3,$BDDAT  :CHECK RPDS1 FOR BIT FAILURES - FROM PORT B.
PORTBPTNBR *CHANGE PORT NUMBER

#ATA,$TMP3 *DON'T CHECK THE ATTN BIT

$SGDDAT.STMP3  :SEE IF READ OK FROM PORT 8.

70$ :BR IF OK

RELERR :DID DRIVE RETURN TO NEUTRAL ?

.+6 *BR IF IN NEUTRAL

is 1GO WAIT FOR DRIVE TO TIMEOUT
PORTA,RPCS2(R0) ~;SELECT PORT A

PORTA.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
CKERR :CLEAR THE ‘CHECK ERROR' INDICATOR
RPDS1(RO) ,$BDDAT  ;GET CONTENTS OF RPDS1

#RPDS1,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, $BDADR :ADD RH11 BASE ADDRESS

SGDDAT ‘WHAT REGISTER SHOULD BE

$BDDAT,STMPO  :MOVE REGISTER CONTENTS TO "STMPO’
#-CATA_STMPO ;SAVE SPECIFIED BITS

SGDDAT.STMPO ~ :COMPARE THE BITS

71$ :BR IF OK

SBDDAT.STMP4  :COPY °'BAD DATA'

NATA,$TMPS *CLEAR THE MASKED BITS

?;HP‘.SGDDAT ©'0OR* WITH GOOD DATA FOR TYPEOUT

CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
PORTB,RPCS2(R0) :SELECT PORT B

PORTB.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
CKERR :CLEAR THE °'CHECK ERROR' INDICATOR
RPDS1(RO) ,$8DDAT  :GET CONTENTS OF RPDS1

#RPDS1,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, $B8DADR :ADD RH11 BASE ADDRESS

SGODAT *WHAT REGISTER SHOULD BE

$SBDDAT,STMPO  :MOVE REGISTER CONTENTS TO 'STMPO®
#-CATA_STMPO :SAVE SPECIFIED BITS

$SGDDAT.STMPO ° :COMPARE THE BITS

73$ ‘BR IF OK

SBDDAT,$TMP4  :COPY 'BAD DATA'

#ATA,STAPS SCLEAR THE MASKED BITS

?;ﬂPi.SGDDAT SOR' WITH GOOD DATA FOR TYPEOUT

CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
2 ;GO CHECK FOR LOOP ON ERROR

;1F RELEASE COMMAND DIDN'T RELEASE THE DRIVE, WAIT FOR THE PORT TIMEOUT
. TO RELEASE THE DRIVE

18:
MOVvB
MOV

PORTB,RPCS2(RO)

PORT8,PTNBR

:SELECT PORT 8
:MOVE PORT ADDRESS TO LOCATION FOR TYPEQUT

—y e
b P
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TEST RELEASE, DRIVE SEIZED BY PORT ‘A’

3166 005760
3172 001004
3174 005737
3200 001364
3202 104036
3204 000004

013
013
013360 060037
013364 012737

000012
001254

001274

003010
177777
000007
013260
013260
007640
001100

001252
003720

001226
001226
000012
001224

001226

001274
001102
001106
001110
001176

001254

000010
001236

001240

000010
001234
000000

001122
001124

TST RPDS1(RO) ;WAIT FOR TIMEOUT TO RELEASE DRIVE

BNE 2% :BR _WHEN DRIVE RELEASED
TST WATCH ;CHECK THE WATCH
8NE 18 :BR IF NOT ZERO
EMT 36
28: SCOPE +LOOP ?

;'tttttttttttQttttt!it"""ttttﬁtttﬁttiﬁtﬁtlltttttttttttttttit*t

J*TEST 7 TEST RELEASE, DRIVE SEIZED BY PORT 'B'
<%
;=TEST THE OPERATION OF THE RELEASE COMMAND, DRIVE SEIZED

JX
;% A. SEIZE THE DRIVE THROUGH PORT 'B' BY WRITING 0'S INTO RPDST.
. %
;% B. ISSUE A RELEASE COMMAND THROUGH PORT °B'. VERIFY THAT THE DRIVE
o gs;egNED TO NEUTRAL, AND THAT NO ERRORS ARE INDICATED BY THE
o. .
. %
;;tatttttttttttttttttttttt«ttntttttnttttttttttttttttnttntttttn-tn
1ST7:

TST KYBCTL JPERFORMING ONLY SINGLE TESTS ?

BEQ 2% ;BR IF NOT

BPL 1$ sBR IF JUST ENTERED TEST

JMP EXEC JRETURN & GET NEXT TEST NUMBER
1$: MOV #-1,KYBCTL +SET SINGLE TEST INDICATOR
2$: MOV8 #7,$TSTNM ;TEST NUMBER

MOV N#TEST7 ,SLPADR  ;LOAD LOOP ON TEST ADDRESS

MOV #TEST7,SLPERR  ;LOAD LOOP ON ERROR ADDRESS

MOV #4000.,8TIMES ;DO 4000. ITERATIONS
TEST7: MOV #STACK,SP ¢LOAD THE STACK POINTER

;START THE TIMER

CLR TIME :CLEAR THE ELAPSED TIME COUNTER
MoV #2000. ,WATCH ;SET WATCH TO 2000 MS

;SEIZE THE DRIVE THROUGH PORT 8

MOv8 PORTB,RPCS2(RO) ;SELECT PORT B

MOV PORTB,SEIZPT ;STORE SEIZING PORT'S ADDRESS
CLR RPDS1(RO) ;WRITE RPDS1

MOV PORTA ,OPPRT ;'OPPOSITE® PORT ADDRESS

;RELEASE THE DRIVE FROM PORT 8

Move PORTB,RPCS2(R0O) ;SELECT PORT B
MOV PORTB,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEQUT
Mov #13,RPCS1(RO)  ;ISSUE RELEASE THROUGH PORT B

:VERIFY THAT THE DRIVE 1S IN NEUTRAL

CLR RELERR ;CLEAR THE 'RELEASE ERROR * INDICATOR
MOV #RPDS1,$BDADR  ;FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
ADD RO, $BDADR iADD THE 1/0 BASE ADDRESS

MOV #MOL !PGM!DPR!DRY!VV ,SGDDAT ;COMPARISON CONSTANT

SEQ 0063

(@4
n
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TEST RELEASE, DRIVE SEIZED BY PORT 'B'

013372 113760 001224 000010 MOvB PORTA ,RPCS2(R0O) ;SELECT PORT A,

013200 016037 000012 001170 MOV RPDS1(RO) ,$TMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A,
013406 013737 001170 001164 MOV $TMP2,$TMPO SCOPY IT INTO *$TMPO’

013414 042737 100100 001164 BIC #ATA'VV, STMPO  -CLEAR PORT DEPENDENT BITS FROM THE COPY
013422 113760 001226 000010 MOVB  PORTB,RPCS2(RO) :SELECT PORT B.

013430 016037 000012 001172 MOV RPDST(RO),$TMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
013436 013737 001172 001166 MOV $TMP3, $TPP1 SCOPY IT INTO °'$TMP1®

013444 042737 100100 001166 BIC NATATYV.STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
013452 023737 001164 001166 CMP STMPO,$TMP1 xs THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
013460 001006 BNE 66$ BR IF NOT

013462 005737 001164 ST $TMPO "REGISTERS ARE THE SAME: ARE THEY ZERO ?
013466 001037 BNE 68$ ‘BR IF NOT

013470 104046 ENT 46

013472 000137 013656 JMP 708 :BYPASS THE REST OF THE CHECKS

013476 013737 001170 001126 66%: MOV $TMP2,$BDDAT  :SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
013504 013737 001226 001234 MOV PORTB.PTNBR “SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
013512 113760 001226 000010 MOVB  PORTB.RPCS2(R0) :SELECT PORT B.

013520 005737 001164 TST $TMPO JSEE IF STATUS EQ O FROM PORT A.

013524 001414 BEQ 678 :BR 1F ZERO

013526 013737 001224 001234 MOV PORTA ,PTNBR . EIZING PORT ]F TEST SHOWS DRIVE NOT [N NEUTRAL
013534 013737 001172 001126 MOV STMP3_$BDDAT  :*'BAD DATA' FOR ERROR TYPE OUT

013542 113760 001224 000010 MOv8 PORTA ,RPCS2(R0O) ;SELECT PORT A.

013550 005737 001166 TST S$TMP1 ;SEE IF STATUS EQ ZERO FROM PORT 8.

013554 001004 BNE 683 *BR 1F NOT

013556 012737 177777 001250 67%: MOV #-1,RELERR “SET 'RELEASE ERROR' INDICATOR

013564 104026 EMT 26

013566 013737 001170 001126 688: MOV $TMP2.$BDDAT  :LOOK FOR BIT FAILURES WHEN RPDS1 READ
013574 013737 001224 001234 MOV PORTA _PTNBR ;CHANGE PORT NUMBER

013602 042737 100000 001170 BIC #ATA,$THP2 SDON'T CHECK THE ATTN BIT

013610 023737 001126 001170 CMP $GDDAT ,S$TMP? JALL BITS 0K ?

013616 001401 BEQ 698 ‘BR IF OK FROM PORT A.

013620 104007 EMT 7

013622 013737 001172 001126 69%: MOV $TMP3,$BDDAT  :CHECK RPDS1 FOR BIT FAILURES - FROM PORT B.
013630 013737 001226 001234 MOV PORTB . PTNBR “CHANGE PORT NUMBER

013636 042737 100000 001172 BIC #ATA,$THP3 “DON'T CHECK THE ATTN BIT

013644 023737 001124 001172 CMP SGDDAT $TMP3 JSEE IF READ OK FROM PORT B.

013652 001401 BEQ 708 ‘BR IF OK

013654 104007 EMT

013656 000240 708:  NOP

013660 005737 001250 ST RELERR ;DID DRIVE RETURN TO NEUTRAL ?

013664 001402 BEQ .+6 BR IF IN NEUTRAL

013666 000137 014142 JMP is co WAIT FOR DRIVE TO TIMEOUT

013672 113760 001226 000010 MOVB  PORTB.RPCS2(R0O) ' :SELECT PORT B

013700 013737 001226 001234 MOV PORTB_PTNBR ;MOVE PORT ADDRESS TO LO(C\TION FOR TYPEOUT
013706 005037 001244 CLR CKERR :CLEAR THE °CHECK ERROR' INDICATOR

013712 016037 0000%2 001126 MOV RPDS1(RO) ,$BDDAT  ;GET CONTENTS OF RPDS1

013720 012737 000012 001122 MOV #RPDS1,$80ADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
013726 060037 001122 ADD RO, SBDADR <ADD RH11 BASE ADDRESS

013732 005037 001124 CLR $GODAT “WHAT REGISTER SHOULD BE

013736 013737 001126 001164 MOV $BDDAT,STMPO  :MOVE REGISTER CONTENTS TO °*$TMPO'

013744 042737 077777 001164 BIC #5CATA.STMPO ;SAVE SPECIFIED BITS

013752 023737 001124 001164 CMP SGDDAT.STMPO ~ :COMPARE THE BITS

013760 001414 BEQ 718 :BR IF 0K

013762 013737 001126 001174 MOV $SBDDAT,$TMP4  ;COPY 'BAD DATA®

013770 042737 100000 001174 BIC #ATA, $TAPG *CLEAR THE MASKED BITS

013776 053737 001174 001124 BIS $TMPL SGDDAT  :°*OR' WITH GOOD DATA FOR TYPEOUT

014006 104017 EMT 17

]
SEQ 0064

- Y
b g
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SEQ 0065

- €Y
b P

014006 005137 001244 COM CKERR ;SET THE REGISTER COMPARE ERROR INDICATOP
0164012 000240 71$: NOP
014014 113760 001224 000010 MOVB PORTA ,RPCS2(R0O) :SELECT PORT A
0164022 013737 001224 001234 MOV PORTA.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
014030 005037 001244 (LR (KERR :CLEAR THE 'CHECK ERROR' INDICATOR
014034 016037 000012 001126 MOV IPDST1(RO) ,$BDDAT :GET CONTENTS OF RPDS1
014042 012737 000012 001122 MOV #RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
014050 060037 001122 ADD RO,$8DADR :ADD RH11 BASE ADDRESS
014054 005037 001124 (LR $SGDDAT :WHAT REGISTER SHOULD BE
014060 013737 001126 001164 MOV $8DDAT ,$TMP( JMOVE REGISTER CONTENTS TO 'STMPO'
014066 042737 077777 001164 BIC #-CATA, STMPQ .SAVE SPECIFIED BITS
014074 023737 001124 001164 (MP SgDDAT.STHPO :COMPARE THE BITS
014102 001414 BEQ 738 ;B8R IF 0K
014104 013737 001126 001174 MOV $8DDAT,STMPS ;COPY °*BAD DAiIA'
014112 042737 100000 001174 BIC #ATA ,STMPL :CLFAR THE MASKED BITS
014120 053737 001174 001124 BIS S$TMPS ,SGDDAT ;'0R' GitH GOOD DATA FOR TYPEOUT
014126 104017 EMT 17
014130 005137 001244 COM CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
014134 000240 73%: NOP
014136 000137 014174 JMP 2% :60 CHECK FOR LOOP ON ERROR
:IF RELEASE COMMAND DIDN'T RELEASE THE DRIVE, WAIT FOR THE PORT TIMEOUT
;7O RELEASE THE DRIVE
014142 1%:
014142 113760 001224 000010 Mov8 PORTA ,RPCS2(R0O) ;SELECT PORT A
014150 013737 001224 001234 MOV PORTA,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
014156 005760 000012 TST RPDS1(RO) :WAIT FOR TIMEOUT TO RELEASE DRIVE
014162 001004 BNE 2% :BR WHEN DRIVE RELEASED
014164 005737 001254 TST WATCH ;CHECK THE WATCH
014170 001364 BNE 1% ;:BR IF NOT ZERO
014172 104036 EMT 36
014174 000004 2%: SCOPE ;LOOP ?
I
325 "."tﬁttﬁtt*"‘t.tit'iﬁ*"tttt't'tﬁ.’ﬁﬁ.*iﬂﬁﬁiﬁ..*.tttﬁiiiﬁiﬁ'.'il‘i
S*TEST 10 TEST RELEASE THROUGH PORT 'A’, DRIVE IN NEUTRAL
- N
:*TEST OPERATION OF RELEASE COMMAND, DRIVE IN NEUTRAL
5
;v A, ISSUE A RELEASE COMMAND THROUGH PORT °'A*' WITH THE DRIVE IN
o ¥ NEUTRAL; VERIFY THAT THE DRIVE REMAINS IN NEUTRAL.
[ ]
:' ;tl‘tttitt't.tﬁtttttti'fit'."tti.iitiii'iit.iii.tﬁ.'ﬁﬁt.ttt'tﬁ"
014176 T57110:
014176 005737 001274 TST KYBCTL ;PERFORMING ONLY SINGLE TESTS ?
014202 001406 BEQ °$ :BR IF NOT
014204 100002 BPL 1$ JBR IF JUST ENTERED TEST
014206 900137 003010 JMP EXEC JRETURN & GET NEXT TEST NUMBER
014212 012737 177777 001274 1%: MOV #-1,KYBCTL ;SET SINGLE TEST INDICATOR
014220 112737 000010 001102 2%: MOVB #10,8$TSTNM :TEST NUMBER
014226 012737 014250 001106 MOV #TESTI10,8LPADR ;LOAD LOOP ON TEST ADDRESS
014234 012737 014250 001110 MOV #TESTI10,SLPERR ;LOAD LOOP ON ERROR ADDRESS
014242 012737 000144 001176 MOV #100. ,$TIMES 2:00 100, ITERATJONS
326 014250 012706 001100 TEST10: MOV #STACK,SP :LOAD THE STACK POINTER
340 014254 113760 001224 000010 MOVB PORTA ,RPCS2(R0O) :SELECT PORT A
014262 013737 001224 001234 MOV PORTA_PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
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TEST RELEASE THROUGH PORT ‘A', DRIVE IN NEUTRAL
0164270 013737 001226 001236 MoV PORTA,SEIZPT ;ADDR OF PORT WHICH WILL ISSUE RELEASE
:ISSUE A RELEASE COMMAND
014276 012760 000013 000000 MOV #13,RPCS1(RO)  ;ISSUE A RELEASE COMMAND

;VERIFY THAT THE DRIVE IS STILL IN NEUTRAL

;VERIFY THAT THE DRIVE IS IN NEUTRAL

014306 005037 001250 CLR RELERR JCLEAR THE 'RELEASE ERROR ' INDICATOR
014310 012737 000012 001122 MOV #RPDS1,$BDADR  ;FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
014316 060037 001122 ADD RO, $8DADR :ADD THE 1/0 BASE ADDRESS

014322 012737 011700 001124 MOV #MOL ! PGM'DPR!DRY ! VV,SGDDAT . COMPARISON CONSTANT

014330 113760 001224 000010 Mov8 PORTA RPCS2(RO) ;SELECT PORT A.

014336 016037 000012 001170 MOV RPDS1(RO) ,$TMP2 ;GET THE DRIVE STATUS REGISTER FROM PORT A.
0163446 013737 001170 001164 MOV $TMP2 ,$TMPO sCOPY IT INTO °S$TMPO’

014352 042737 100100 001164 8IC NKATA!VV, STMPO  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
014360 113760 001226 000010 Movs PORTB,RPCS2(R0) :SELECT PORT B.

014366 016037 000012 001172 MoV RPDST1(RO) ,$TMP3 GET THE DRIVE STATUS REGISTER FROM PORT B.
014374 013737 001172 001166 MOV S$TMP3,$TMP1 JCOPY IT INTO 'STMP1'

014402 042737 100100 001166 BIC NATA!VV, STMP1  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
014410 023737 001164 001166 CMP $TMPO,$TMP1 ;1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
014416 001006 BNE 648 :BR _IF NOT

014420 005737 001164 TST $TMPO ;REGISTERS ARE THE SAME: ARE THEY ZERO ?
014424 001037 BNE 56$ ;8R IF NOT

014426 104046 EMT 46

014430 000137 014614 JMP 688 ;BYPASS THE REST OF THE CHECKS

014434 013737 001170 001126 648: Mov $TMP2,$E0DAT sSET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
014442 013737 001226 001234 Mov PORTB,PTNBR ;SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
014450 113760 001226 000010 Mova PORTB,RPCS2(R0) ;SELECT PORT B.

0146456 005737 001164 TST $TMPO ;SEE IF _STATUS EQ O FROM PORT A.

014462 001414 BEQ 658 ;8R IF ZERO

014464 013737 001224 001234 MoV PORTA ,PTNBR ;SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
014472 013737 001172 001126 MOV $TMP3,$BDDAT ; 'BAD DATA' FOR ERROR TYPE OUT

014500 113760 001224 000010 movae PORTA ,RPCS2(R0) ;SELECT PORT A.

014506 005737 001166 TST $TMP1 ;SEE IF STATUS EQ ZERO FROM PORT 8.

014512 001004 BNE 66$ :BR_IF NOT

014514 012737 177777 001250 65%: MoV #-1_RELERR sSET 'RELEASE ERROR' INDICATOR

014522 104030 EMT 30

014524 013737 001170 001126 668: MoV $TMP2,$BDDAT :LOOK FOR BIT FAILURES WHEN RPDS1 READ
016532 013737 001224 001234 MOV PORTA PTNBR : CHANGE PORT NUMBER

014540 042737 100000 001170 BIC NATA, $TMP2 ;DON'T CHECK THE ATTN BIT

014546 023737 001124 001170 cMP $GDDAT,$TMP2 sALL BITS 0K ?

014554 001401 BEQ 67% ;BR IF OK FROM PORT A.

014556 104007 EMT 7

014560 013737 001172 001126 678: MoV $TMP3,SBDDAT sCHECK RPDS1 FOR BIT FAILURES ~ FROM PORT B.
014566 013737 001226 001234 MoV PORTB,PTNBR :CHANGE PORT NUMBER

014574 042737 100000 001172 BIC NATA_ $THP3 ;DON'T CHECK THE ATTN BIT

014602 023737 001124 001172 CMP $GDDAT,$TMP3 :SEE IF READ OK FROM PORT B.

014610 001401 BEQ 68% ;BR IF 0K

014612 104007 EMT I4

014614 000240 68$: NOP

014616 000004 SCOPE ;LOOP ?

349

350 ";t*ttﬁtttt*ttltttﬁttttttttﬁttttttt.ttttttttttttttttttttitttttttt
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™ TEST RELEASE THROUGH PORT 'B°', DRIVE IN NEUTRAL

tTEST n TEST RELEASE THROUGH PORT 'B', DRIVE IN NEUTRAL
*TEST OPERATION OF RELEASE COMMAND, DRIVE IN NEUTRAL

SEQ 0067

-d Y
Y N

i+ A. ISSUE A RELEASE COMMAND THROUGH PORT 'B' WITH THE DRIVE IN

i NEUTRAL; VERIFY THAT THE DRIVE REMAINS IN NEUTRAL.

b 1
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014620 tsT11:
014620 005737 001274 TST KYBCTL ;PERFORMING ONLY SINGLE TESTS ?
014626 001406 BEQ 2% :BR IF NOT
014626 100002 BPL 1$ :BR IF JUST ENTERED TEST
014630 000137 003010 JMP EXEC *RETURN & GET NEXT TEST NUMBER
014634 012737 177777 001274 18: MOV #-1,KYBCTL :SET SINGLE TEST INDICATOR
014642 112737 000011 001102 28: MOVB  #11.8TSTNM <TEST NUMBER
014650 012737 014672 001106 MOV #TEST11,SLPADR :LOAD LOOP ON TEST ADDRESS
014656 012737 014672 001110 MOV #TEST11,SLPERR :LOAD LOOP ON ERROR ADDRESS
014664 012737 000144 001176 MOV #100.,$TINES  ::;DO 100. ITERATIONS

351 014672 012706 001100 TEST11: MOV #STACK, SP :LOAD THE STACK POINTER
352 014676 113760 001226 000010 MOVB  PORTB,RPCS2(R0) ' :SELECT PORT B

014706 013737 001226 001234 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
014712 013737 001226 001236 MOV PORTB.SEIZPT * ;ADDR OF PORT WHICH WILL ISSUE RELEASE

;ISSUE A RELEASE COMMAND
014720 012760 000013 000000 MOV #13,RPCS1(RO)  ;ISSUE A RELEASE COMMAND

;VERIFY THAT THE DRIVE IS STILL IN NEUTRAL

;VERIFY THAT THE DRIVE IS IN NEUTRAL

014726 005037 001250 CLR RELERR ;CLEAR THE °RELEASE ERROR ' INDICATOR
014732 012737 000012 001122 MOV #RPDS1,$BDADR  :FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
014740 060037 001122 ADD RO, SBDADR ;ADD_THE 1/0 BASE ADPRESS
014744 012737 011700 001124 MOV #MOL 'PGM ' DPR!'DRY vV, SGDDAT ; COMPARISON CONSTANT
014752 113760 001224 000010 MOVB  PORTA,RPCS2(R0) :SELECT PORT A.
014760 016037 000C12 001170 MOV RPDS1(R0), $TMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
014766 013737 001170 001164 MOV $TMP2,$TMPO SCOPY IT INTO *S$TMPO’
014774 0462737 100100 007164 BIC SATA'VY,STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
015002 113760 001226 000010 MOVB  PORTB,RPCS2(R0) :SELECT PORT B.
015010 016037 000012 001172 MOV RPDS1(R0) ,$TMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
015016 013737 001172 001166 MOV STMP3, STMPT :COPY IT INTO *STMP1®
015024 042737 100100 001166 BIC FATATVV, STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
015032 023737 001164 001166 CMP $TMP(, $TMP1 IS THE STATUS REGISTER THE SAMZ FROM BOTH PORTS ?
015040 001006 BNE 648 :BR IF NOT
015062 005737 001164 TST STMPO *REGISTERS ARE THE SAME: ARE THEY ZERO ?
015046 001037 BNE 668 :BR IF NOT
015050 104046 EMT 46
015052 000137 015236 JMP 688 :BYPASS THE REST OF THE CHECKS
015056 013737 001170 001126 64$: MOV $TMP2,$BODAT  :SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
015064 013737 001226 001234 MOV PORTB,PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
015072 113760 001226 000010 MOVB  PORTB.RPCS2(R0) :SELECT PORT
015100 005737 001164 ST $TMPO :SEE IF STATUS EQ O FROM PORT A.
015106 001414 BEQ 658 :BR IF ZERO
015106 013737 001224 001234 MOV PORTA,PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
015114 013737 001172 001126 MOV $TMP3.SBDDAT  :'BAD DATA' FOR ERROR TYPE OUT
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CZRJEDO = DU C
T TEST RELEASE THROUGH PORT 'B*, DRIVE IN NEUTRAL
015122 113760 001226 000010 MOVB  PORTA,RPCS2(R0) ;SELECT PORT A
015130 005737 001166 ST $TMP1 *SEE IF STATUS EQ ZERO FROM PORT B.
015134 001004 BNE 668 ‘BR IF N
015136 012737 177777 001250 65%: MOV #-1,RELERR SSET 'RELEASE ERROR' INDICATOR
015144 104030 EMT 30
015146 013737 001170 001126 66%: MOV $TMP2,8B0DAT  ;LOOK FOR BIT FAILURES WHEN RPDS1 READ
015154 013737 001224 001234 MOV PORTA.PTNBR : CHANGE PORT NUMBER
015162 042737 100000 001170 BIC #ATA, $TMP? *DON'T CHECK THE ATTN BIT
015170 023737 001124 001170 CMP $SGDDAT,STMP2  :ALL BITS 0K ?
015176 001401 BEQ 678 ‘BR IF OK FROM PORT A.
015200 104007 EMT 7
015202 013737 001172 001126 67$: MOV $TMP3,$B0DAT  ;CHECK RPDST FOR BIT FAILURES - FROM PORT B.
015210 013737 001226 001234 MOV PORTB.PTNBR ; CHANGE PORT NUMBER
015216 042737 100000 001172 BIC #ATA, $THP3 SDON'T CHECK THE ATIN BIT
015224 023737 001124 001172 CMP $SGDDAT,$TMP3  :SEE IF READ OK FROM PORT B.
015232 001401 BEO 68% :BR IF OK
015236 104007 EMT 7
015236 000240 68%:  NOP
015240 000004 SCOPE ;LOOP ?
i
376 ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
-rssr 12 TEST THAT 'CLEAR' DOES NOT CAUSE RELEASE FROM PORT 'A°
-vsnxrv THAT A MASSBUS CLEAR OR DRIVE CLEAR WILL NOT CAUSE THE SEIZING
.' PORT TO RELEASE THE DRIVE.
:t
‘e A, SEIZE THE DRIVE BY WRITING 0'S INTO RPDS1 THROUGH PORT "A°’.
b VERIFY THAT THE DRIVE HAS BEEN SEIZED.
;t
:* B, ISSUE A DRIVE CLEAR THROUGH PORT ‘A’ AND VERIFY THAT THE DRIVE
e DOES NOT RETURN TO NEUTRAL.
;t
‘a (. ISSUE A MASSBUS CLEAR THROUGH THE RH11 AND VERIFY THAT THE DRIVE
S* DOES NOT RETURN TO NEUTRAL.
:t
‘« D. RELEASE THE DRIVE THROUGH PORT °'A'. VERIFY THAT THE DRIVE
e RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
* &
:. 22223333 3232323333333 22323422333333223233332323133223132233338323233232333333]
015242 75112:
015242 005737 001274 ST KYBCTL :PERFORMING ONLY SINGLE TESTS ?
015246 001406 BEQ 28 ‘BR IF NOT
015250 100002 B8PL 18 :BR IF JUST ENTERED TEST
015252 000137 003010 JMP EXEC ‘RETURN € GET NEXT TEST NUMBER
015256 012737 177777 001274 1$: MOV #-1,KYBCTL *SET SINGLE TEST INDICATOR
015264 112737 000012 001102 2$: MOVB  #12.STSTNM STEST NUMBER
015272 012737 015314 001106 MOV #TEST12,8LPADR :LOAD LOOP ON TEST ADDRESS
015300 012737 015314 001110 MOV #TEST12.$LPERR :LOAD LOOP ON ERROR ADDRESS
015306 012737 007640 001176 MOV #6000.,$TIMES  ::DO 4000. ITERATIONS
252 015314 012706 001100 TEST12: MOV #STACK.SP *LOAD THE STACK POINTER
;SEIZE THE DRIVE THROUGH PORT A
015320 113760 001224 000010 MOVB  PORTA,RPCS2(R0) ;SELECT PORT A
015326 013737 001224 001236 MOV PORTA.SEIZPT :STORE SEIZING PORT'S ADDRESS

A
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TEST THAT °*CLEAR' DOES NOT CAUSE RELEASE FROM PORT ‘A’

015334 005060 000012 CLR RPDS1(R0) :WRITE RPDS1
015340 113760 001226 000010 MOV8 PORTB,RPCS2(RO) -SELECT PORT B
015346 013737 001226 001234 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
015354 013737 001226 001240 MOV PORTB,0PPRT ;*OPPOSITE® PORT ADDRESS
015362 016037 000012 001126 MOV RPDS1(RO) ,$BDDAT ;SEE IF DRIVE SEIZED BY PORT A
015370 010037 001122 MOV RO, $BDADR ;RH11 BASE ADDRESS
015376 062737 000012 001122 ADD #RPDS1,$BDADR  ;GENERATE BAD REGISTER ADDRESS
015402 005037 001124 CLR $GDDAT sREGISTER SHOULD BE ZERO
015606 023737 001124 001126 CMP S$CODAT ,$BDDAT ;1S THE REGISTER ZERO
015414 001403 8EQ 648 ;BR IF IT IS
015416 104004 EMT b
8}22%2 000137 016616 648 JMP 1% ;BYPASS REST OF THE SUBTEST
015424 113760 001224 000010 MOVB PORTA,RPCS2(RO) :SELECT PORT A
015632 013737 001224 001234 MOV PORTA,PTNBR :MOVE PORT ADDRESS TO LCCATION FOR TYPEOUT
015440 016037 000012 001126 MOV RPDS1{(RO) ,$BDDAT SEE IF SEIZING PORT SEES CORRECT STATUS
015446 012737 011700 001124 MoV #MOL ! PGM!DPR!DRY !VV SGDDAT ;EXPECTED STATUS
015454 013737 001126 001166 MOV SGDDAT,$TMP1 ;USE GOOD DATA AS A MASK
015462 005137 001166 coM $TMP1 s COMPLEMENT THE EXPECTED STATUS
015466 013737 001126 001164 MOV $8DDAT ,$TMPO sSAVE THE ACTUAL STATUS
015474 043737 001166 001164 BIC $TMP1,$TMPO sCLEAR UNWANTED BITS
015502 023737 001124 001164 CMP $GDDAT,$THMPO sARE THE EXPECTED STATUS BITS SET ?
015510 001401 BEQ 65% ;B8R IF THEY ARE
015512 104005 EMT 5
015514 000240 65%: NOP
;DRIVE CLEAR THROUGH PORT A FIRST
015516 012760 000011 000000 MoV #11,RPCST1(RO)  ;ISSUE DRIVE CLEAR THROUGH PORT A
;VERIFY THAT DRIVE STILL SEIZED BY PORT A
015524 113760 001226 000010 Movs PORTB,RPCS2(R0O) SELECT PORT B
015532 013737 001226 001234 MoV PORTB,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
015540 005037 001244 CLR CKERR sCLEAR THE °‘CHECK ERROR' INDICATOR
015544 016037 000012 001126 Mov RPDS1(RO) ,$8DDAT :GET CONTENTS OF RPDS1
015552 012737 000012 001122 MoV #RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
015560 060037 001122 ADD RO,$BDADR ;ADD RH11 BASE ADDRESS
015564 005037 001124 CLR $GDDAT sWHAT REGISTER SHOULD BE
015570 013737 001126 001164 MCV $BDDAT , $TMPO sMOVE REGISTER CONTENTS TO *STMPO’
015576 042737 100000 001164 BIC #AC77777,8TMPO  :SAVE SPECIFIED BITS
015604 023737 001124 001164 CMP $GDDAT, STMPO :COMPARE THE BITS
015612 001414 BEQ 66$ :BR IF K
015614 013737 001126 001174 MOV $SBDDAT ,$TMP4 :COPY 'BAD DATA'
015622 042737 077777 001174 BIC 77777 ,$TMP4 sCLEAR THE MASKED BITS
015630 053737 001174 001124 BIS $TMP4 , $GDDAT :'OR* WITH GOOD DATA FOR TYPEOUT
015636 104033 EMT 33
015640 005137 001244 COM CKERR sSET THE REGISTER COMPARE ERROR INDICATOR
015644 000240 66$: NOP
015646 113760 001224 000010 Mov8 PORTA ,RPCS2(R0O) -SELECT PORT A
015654 013737 001224 001234 MOV PORTA,.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
015662 005037 001244 CLR CKERR JCLEAR THE 'CHECK ERROR' INDICATOR
015666 016037 000012 001126 MOV RPDS1(RO) ,$BDDAT :GET CONTENTS OF RPDSI1
015674 012737 000012 001122 MOV #RPDS1,$80ADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
015702 060037 001122 ADD RO, $8DADR iADD RH11 BASE ADDRESS
015706 012737 011700 9201124 MOV #MOL 'PGM!DPR!DRY!VV,SGDDAT -WHAT REGISTER SHOULD BE
015714 013737 001126 001164 MOV $8DDAT,$TMPO ;MOVE REGISTER CONTENTS TO 'STMPO*
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TEST THAT *CLEAR' DOES NOT CAUSE RELEASE FROM PORT ‘A’

015722 042737 100000 001164 BIC R C77777,8TMPO  ;SAVE SPECIFIED BITS
015730 023737 001126 001164 CMP $GDDAT,$TMPO sCOMPARE THE BITS
015736 001414 BEQ 68$ s8R _IF 0K
015740 013737 001126 001174 MOV $8DDAT ,$TMP4 :COPY °BAD DATA®
015746 042737 077777 001174 BIC 877777 ,8TMP4 sCLEAR THE MASKED BITS
015754 053737 001174 001124 BIS $TMP4 , $GDDAT ;'OR' WITH GOOD DATA FOR TYPEOUT
015762 104033 EMT 33
015764 005137 001244 COM CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR
015770 000240 68$: NOP
sNOW ISSUE MASSBUS INIT
015772 012760 000040 000010 MOV #CLR,RPCS2(RO) ;ISSUE MASSBUS INIT

:CONFIRM THAT DRIVE STILL SEIZED 8Y PORT A

016000 113760 001226 000010 mMovs PORTB,RPCS2(R0) SELECT PORT 8
016006 013737 001226 001234 MOV PORTB,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
016014 005037 001244 CLR CKERR ;CLEAR THE 'CHECK ERROR' INDICATOR
016020 016037 000012 001126 MOV RPDS1(R0O) ,$BDDAT ;GET CONTENTS OF RPDS1
016026 012737 000012 001122 MOV #RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
016034 060037 001122 ADD RO, $BDADR ;ADD RH11 BASE ADDRESS
016040 005037 001124 CLR $GDDAT sWHAT REGISTER SHOULD BE
016044 013737 001126 001164 MOV $SBDDAT ,$TMPO ;MOVE REGISTER CONTENTS TO °'STMPO®
016052 042737 100000 001164 BIC #AC77777 $TMPO :SAVE SPECIFIED BITS
016060 023737 001124 001164 CMP $GDDAT,$TMPO . COMPARE THE BITS
016066 001414 BEQ 708 :BR IF OK
016070 013737 001126 001174 MOV $BDDAT,$TMP4 ;COPY 'BAD DATA'
016076 042737 077777 001174 BIC A77777 ,$TMP4 ;CLEAR THE MASKED BITS
016104 053737 001174 001124 BIS $TMPL,SGDDAT :'OR' WITH GOOD DATA FOR TYPEOUT
016112 104034 EMT 34
016114 005137 001244 COM CKERR sSET THE REGISTER COMPARE ERROR INDICATOR
016120 000240 70$: NOP
016122 113760 001224 000010 Mov8 PORTA,RPCS2(R0O) ;SELECT PORT A
016130 013737 001224 001234 MOV PORTA,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
016136 005037 001244 CLR CKERR ;CLEAR THE 'CHECK ERROR' INDICATOR
016142 016037 000012 001126 MOV RPDS1(RO) ,$BDDAT ;GET CONTENTS OF RPDS1
016150 012737 000012 001122 MOV #RPDS1,8BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
016156 060037 001122 ADD RO,$8DADR iADD RH11 BASE ADDRESS
016162 012737 011700 001124 MoV #MOL ! PGM!DPR!DRY!VV,SGDDAT -WHAT REGISTER SHOULD BE
016170 013737 001126 001164 MOV $BDDAT, S$TMPO :MOVE REGISTER CONTENTS TO 'STMPO*
016176 042737 100000 001164 8IC #AC77777,$TMPO  :SAVE SPECIFIED BITS
016204 023737 001124 001164 cMP $SGDDAT,$TMPO sCOMPARE THE BITS
016212 001414 BEQ 728 :BR _IF OK
016214 013737 001126 001174 MOV $BDDAT ,$TMP4 ;COPY °'BAD DATA'
016222 042737 077777 001174 8I¢ A77777,3TMP4 ;CLEAR THE MASKED BITS
016230 053737 001174 001124 81$S $TMPS , $GDDAT :'OR' WITH GOOD DATA FOR TYPEOUT
016236 104034 EMT 34
016240 005137 001244 COM CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR
016244 000240 72%: NOP

;RELEASE THE DRIVE FROM PORT A
016246 113760 001224 000010 Movae PORTA ,RPCS2(R0O) -SELECT PORT A
016254 013737 001224 001234 MoV PORTA,PTNBR :MOVE PORT AULDRESS TO LOCATION FOR TYPEOUT
016262 012760 000013 000000 Mov #13,RPCS1(RO)  ;ISSUE RELEASE THROUGH PORT A

- Y
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CZR
T12 TEST THAT °*CLEAR® DOES NOT CAUSE RELEASE FROM PORT ‘A
:VERIFY THAT THE DRIVE IS IN NEUTRAL
016270 005037 001250 CLR RELERR :CLEAR THE 'RELEASE ERROR ' INDICATOR
016276 012737 000012 001122 MOV #RPDS1,88DADR  :FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
016302 060037 001122 ADD RO, $BDADR 1Aoo THE 1/0 BASE ADDRESS
016306 012737 011700 001124 MOV MCL I PGMIDPRIDRY VY, $GDDAT ; COMPARISON CONSTANT
016314 113760 001224 000010 MOVB  PORTA.RPCS2(R0O) :SELECT PORT’A.
016322 016037 000012 001170 MOV RPDS1(RO),$TMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
016330 013737 001170 001164 MOV $TMP2, $TMPO SCOPY IT INTO *STMPO®
016336 042737 100100 001164 BIC SATAIVV,STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
016344 113760 001226 000010 MOVB  PORTB,RPCS2(R0) :SELECT PORT B.
016352 016037 000012 001172 MOV RPDST(R0),$TMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
016360 013737 001172 001166 MOV $TMP3, STMP SCOPY IT INTO 'S$TMP1®
016366 042737 100100 001166 BIC NATAIVV,$TMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
016374 023737 001164 001166 CMP STMPO, $ TP xs THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
016402 001006 BNE 748 BR IF NOT
016404 005737 001164 ST $TMPO nesxsrsns ARE THE SAME: ARE THEY ZERO ?
016410 001045 BNE 768 :BR IF NO
016412 104046 EMT 46
016414 000137 016614 JMP 78% :BYPASS THE REST OF THE CHECKS
016420 013737 001170 001126 74$: MOV STMP? ,$BDDAT :SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
016626 013737 001226 001234 MOV PORTB.PTNBR “SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
016434 113760 001226 000010 MOVB  PORTB.RPCS2(RO) :SELECT PORT B.
016442 005737 001164 ST $TMPO ses IF STATUS EQ O FROM PORT A.
016446 001414 BEQ 75% BR IF ZERO
016450 013737 001224 001234 MOV PORTA.PTNBR “SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
016456 013737 001172 001126 MOV $STMP3.$8DDAT . *BAD DATA' FOR ERROR TYPE OUT
016464 113760 001224 000010 MOVB  PORTA.RPCS2(R0O) -SELECT PORT A.
016472 005737 001166 ST $STMP1 *SEE IF STATUS EQ ZERO FROM PORT B.
016476 001012 BNE 768 ‘BR IF NOT
016500 012737 177777 001250 758: MOV #-1,RELERR *SET "RELEASE ERROR' INDICATOR
016506 012760 000011 000000 MOV #11.RPCS1(RO)  :CLEAR THE DRIVE
016514 012760 000013 000000 MOV #13.RPCS1(RO)  :RELEASE THE DRIVE
016522 104026 EMT 26
016524 013737 001170 001126 76%: MOV $STMP2,$BDDAT  :;LOOK FCR BIT FAILURES WHEN RPDS1 READ
016532 013737 001224 001234 MOV PORTA . PTNBR :CHANGE PORT NUMBER
016540 042737 100000 001170 8IC #ATA, $TMP? ‘DON'T CHECK THE ATTN BIT
016546 023737 001124 001170 CMP $SGDDAT.STMP2  :ALL BITS OK ?
016554 001401 BEQ 778 ‘BR IF OK FROM PORT A
016556 104007 EMT 7
016560 013737 001172 001126 778: MOV STMP3,$BDDAT  :CHECK RPDS1 FOR BIT FAILURES ~ FROM PORT 8.
016566 013737 001226 001234 MOV PORTB . PTNBR *CHANGE PORT NUMBER
016574 042737 100000 001172 BIC #ATA, $THP3 ‘DON'T CHECK THE ATTN BIT
016602 023737 001124 001172 CMP $GDDAT,.$TMP3  :SEE IF READ OK FROM PORT B.
016610 001401 BEQ 788 ‘BR IF OK
016612 104007 EMT 7
016614 000240 788:  NOP
025 016616 000004 1$: SCOPE :LOOP ?
426 ttttttttttttttttttttttttttttltttﬁttttttttttttttt!ttiititttttttt
~rssr 13 TEST THAT °'CLEAR' DOES NOT CAUSE RELEASE FROM PORT 'B’
tanxrv THAT A MASSBUS CLEAR OR DRIVE CLEAR WILL NOT CAUSE THE SEIZING
‘o PORT TO RELEASE THE DRIVE.

T
;* A. SEIZE THE DRIVE BY WRITING 0'S INTO RPDS1 THROUGH PORT 'B°.
. VERIFY THAT THE DRIVE HAS BEEN SEIZED.
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3 TEST THAT °CLEAR' DOES NOT CAUSE RELEASE FROM PORT '8’

;t
:* B. JSSUE A DRIVE CLEAR THROUGH PORT °'B' AND VERIFY THAT THE DRIVE
* DOES NOT RETURN TO NEUTRAL.
R
:x (. ISSUE A MASSBUS CLEAR THROUGH THE RH11 AND VERIFY THAT THE DRIVE
) DOES NOT RETURN TO NEUTRAL.
ML
:« D. RELEASE THE DRIVE THROUGH PORT °'B°', VERIFY THAT THE DRIVE
o RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
° &
E ;ttttttttttttttttttttttttttt'ttttttttttttttttt'ttttttttttttttttt
016620 TST13:
016620 005737 001274 TST KYBCTL ;PERFORMING ONLY SINGLE TESTS ?
016624 001406 8EQ 2% ;:BR [F NOT
016626 100002 8PL 18 sBR IF JUST ENTERED TEST
016630 000137 003010 JMP EXEC SRETURN § GET NEXT TEST NUMBER
016634 012737 177777 001276 1S8: MOV #-1,KYBCTL sSET SINGLE TEST INDICATOR
016642 112737 000013 001102 ¢28: MOvB8 #13_STSTNM TEST NUMBER
016650 012737 016672 001106 MOV #TEST13,SLPADR ;LOAD LOOP ON TEST ADDRESS
016656 012737 016672 001110 MOV #TEST13,SLPERR ;LOAD LOOP ON ERROR ADDRESS
016664 012737 007640 001176 Mov #4000, ,$TIMES  ;.D0 4000. ITERATIONS
25; 016672 012706 001100 TEST13: MOV #STACK,SP ;LOAD THE STACK POINTER
;SEIZE THE DRIVE THROUGH PORT 8
016676 113760 001226 000010 MOVB PORTB,RPCS2(R0) ;SELECT PORT B
016704 013737 001226 001236 MOV PORTB,SEIZPT ,STORE SEIZING PORT'S ADDRESS
016712 005060 000012 CLR RPDS1(RO) JWRITE RPDS1
016716 113760 001224 000010 Mov8 PORTA ,RPCS2(RO) ;SELECT PORT A
016726 013737 001226 001234 MoV PORTA ,PTNBR :HOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
016732 013737 001224 001240 MoV PORTA ,OPPRT :"OPPOSITE' PORT ADDRESS
016740 016037 000012 001126 MOV RPDS1(RO) ,$BDDAT .SEE IF DRIVE SEIZED BY PORT B
016746 010037 001122 MoV RO, $BDADR ;RH11 BASE ADDRESS
016752 062737 000012 001122 ADD #RPDS1,8BDADR  ;GENERATE BAD REGISTER ADDRESS
016760 005037 001124 CLR $SGDDAT sREGISTER SHOULD BE Z2ERO
016764 023737 001124 001126 CMP SGDDAT ,$BDDAT ;IS THE REGISTER ZERO
016772 001403 BEQ 648 :BR IF IT IS
016774 104004 EMT 4
8}9553 000137 020174 648 JMP 18 ;BYPASS REST OF THE SUBTEST
017002 113760 001226 000010 mMOov8s PORTB,RPCS2(R0) ;SELECT PORT B
017010 013737 001226 001234 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
017016 016037 000012 001126 MOV RPDS1(RO) ,$BDDAT .SEE 1F SEIZING PORT SEES CORRECT STATUS
017024 012737 011700 001124 MOV #MOL ' PGM'DPR'DRY ! VV,$GDDAT ;EXPECTED STATUS
017032 013737 001124 001166 MOV S$GDDAT,$TMP1 ;USE GOOD DATA AS A MASK
017040 005137 001166 COM $TMP1 ;COMPLEMENT THE EXPECTED STATUS
017044 013737 001126 001164 MOV $BDDAT , $TMPO sSAVE THE ACTUAL STATUS
017052 043737 001166 001164 BIC $TMP1, $TMPO sCLEAR UNWANTED BITS
017060 023737 001124 001164 CMP $GDDAT ,$TMPO sARE THE EXPECTED STATUS BITS SET ?
017066 001401 BEQ 65$% sBR IF THEY ARE
017070 104005 EMT 5
017072 000240 65%: NOP

;DRIVE CLEAR THROUGH PORT B FIRST
017074 012760 000011 000000 MOV #11,RPCS1(RO)  ;ISSUE DRIVE CLEAR THROUGH PORT B

-
-
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T3 TEST THAT °'CLEAR' DOES NOT CAUSE RELEASE FROM PORT '8’

:VERIFY THAT DRIVE STILL SEIZED BY PORT B

017102 113760 001224 000010 MOV8 PORTA,RPCS2(R0) SELECT PORT A
017110 013737 001224 001234 MOV PORTA.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
017116 005037 001244 CLR CKERR ;CLEAR THE °'CHECK ERROR® INDICATOR
017122 016037 000012 001126 MOV RPDS1(RO) ,$BDDAT :GET CONTENTS OF RPDS1
017130 012737 000012 001122 MOV #RPDS1,8BDADR ;FORM REGISTER ADDRESS OF tRROR MESSAGE
017136 060037 001122 ADD RO,$BDADR ;ADD RH11 BASE ADDRESS
017142 005037 001124 CLR $GDDAT sWHAT REGISTER SHOULD BE
017146 013737 001126 001164 MOV $BDDAT  $TMPO ;MOVE REGISTER CONTENTS TO 'S$STMPO’
017154 042737 100000 001164 B1C #AC77777,$TMPO  :SAVE SPECIFIED BITS
017162 023737 001126 001164 CMP $GDDAT ,$TMPO :COMPARE THE BITS
017170 001414 BEQ 66% ;B8R IF 0K
017172 013737 001126 001174 MOV $SBDDAT ,$TMP4 :COPY 'BAD DATA'
017200 042737 077777 001174 BIC N77777,$TMP4 ;CLEAR THE MASKED BITS
017206 053737 001174 001124 BIS $TMP4 ,SGDDAT :'OR' WITH GOOD DATA FOR TYPEOQUT
017216 104033 EMT 33
017216 005137 001244 COM CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
017222 000240 668%: NOP
017226 113760 001226 000010 MOVB PORTB,RPCS2(R0O) ;SELECT PORT B
017232 013737 001226 001234 MOy PORTB,PTNBR .MOVE PORT ADDRESS TO LOCATION FOR TYPEQUT
017240 005037 001244 CLR CKERR ;CLEAR THE 'CHECK ERROR' INDICATOR
017244 016037 000012 001126 MOV RPDS1(RO) ,$BDDAT ;GET CONTENTS OF RPDS1
017252 012737 000012 001122 MOV #RPDS1,$8DADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
017260 060037 001122 ADD RO, $BDADR :ADD RH11 BASE ADDRESS
017264 012737 011700 001124 MOV #MOL !PGM!DPR!DRY!VV,SGDDAT WHAT REGISTER SHOULD BE
017272 013737 001126 001164 MOV $BDDAT  $TMPO ;MOVE REGISTER CONTENTS TO 'STMPO’
017300 042737 100000 001164 8IC #aC77777,8TMPO  :SAVE SPECIFIED BITS
017306 023737 001126 001164 CMP $GDDAT ,$TMPO :COMPARE THE BITS
017314 001414 BEQ 68$ :BR IF 0K
017316 013737 001126 001174 MoV SBDDAT ,$TMP4 ;COPY 'BAD DATA'
017324 042737 077777 001174 BIC 77777 ,$TMP4 sCLEAR THE MASKED BITS
017332 053737 0011746 001124 BIS $TMP4 , SGDDAT :'OR' WITH GOOD DATA FOR TYPEOUT
017340 104033 EMT 33
017342 005137 001244 COM CKERR sSET THE REGISTER COMPARE ERROR INDICATOR
017346 000240 68$: NOP

cNOW ISSUE MASSBUS INIT
017350 012760 000040 000010 MOV #CLR,RPCS2(R0O) ;ISSUE MASSBUS INIT

;CONFIRM THAT DRIVE STILL SEIZED BY PORT 8

017356 113760 001224 000010 Mov8 PORTA ,RPCS2(RO) -SELECT PORT A

017364 013737 001224 001234 MoV PORIA.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
017372 005037 001244 CLR CKERR ;CLEAR THE ‘'CHECK ERROR' INDICATOR
017376 016037 000012 001126 MoV RPDS1(RO),$BDDAT .GET CONTENTS OF RPDS1

0174 012737 000012 001122 MOV #RPDS1,$8DADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
017412 060037 001122 ADD RO, $8DADR ;ADD RH11 BASE ADDRESS

017416 005037 001124 CLR $GDDAT sWHAT REGISTER SHOULD BE

017422 013737 001126 001164 MoV $8DDAT, $TMPO ;MOVE REGISTER CONTENTS TO °'S$STMPO’
0174630 042737 100000 001164 BIC #2C77777 $TMPO  :SAVE SPECIFIED BITS

017436 023737 001124 001164 cCMp SGDDAT,$TMPO - COMPARE THE BITS

017444 001414 BEQ 708 :BR IF OK

0176446 013737 001126 001174 MoV $SBDDAT , $TMP4 ;COPY 'BAD DATA'

017454 042737 077777 001174 8IC #77777,8THP4 ;CLEAR THE MASKED BITS

-l Y
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NOT CAUSE RELEASE FROM PORT 'B°

001124
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000010
001234
000000

001122
001124

708 :

72$:

74%:

BlS
EMT
COM
NOP
MOov8
MOV
CLR
MOV
MOV
ADD
MOV
MOV
8IC
CMP
BEQ
MOV
BIC
BIS
EMT
COM
NOP

gzﬂPA,sGDDAT ;'OR* WITH GOOD DATA FOR TYPEOUT
CKERR sSET THE REGISTER COMPARE ERROR INDICATOR

PORTB,RPCS2(R0O) :SELECT PORT 8

PORTB.PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
CKERR :CLEAR THE 'CHECK ERROR® INDICATOR
RPDS1(RO),$88DDAT  ;GET CONTENTS OF RPDS1

#RPDS1,$8DADR :FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, $8DADR ;ADD RH11 BASE ADDRESS

#MOL 'PGM! DPR!DRY1VV,$GDDAT :WHAT REGISTER SHOULD BE
$BDDAT,STMPO :MOVE RESISTER CONTENTS TO '$TMPO'
#AC77777.8TMPO  :SAVE SPE-IFIED BITS

$GDDAT,$TMPO  :COMPARE T,'E BITS

728 ‘BR IF OK

$BDDAT,STMPG  :COPY °'BAD DATA®

N77777.8TMP4  :CLEAR THE MASKED BITS

sznp4.seooAr :'OR* WITH GOOD DATA FOR TYPEOUT

3
CKERR sSET THE REGISTER COMPARE ERROR INDICATOR

;RELEASE THE DRIVE FROM PORT B

MOvV8
MOV
MOV

:VERIFY

CLR
MOV
ADD
MOV
MOVB
MOV
MOV
BIC
MOvB
MOV
MOV
8I1C
CMP
BNE
TST
BNE
EMT
JMP
MOV
MoV
MOVSB
TST
BEQ
MOV
MoV
MovB
TST

PORTB,RPCS2(RO) SELECT PORT B
PORTB,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
#13,RPCS1(RO)  ;ISSUE RELEASE THROUGH PORT B

THAT THE DRIVE IS IN NEUTRAL

RELERR sCLEAR THE °'RELEASE ERROR ' INDICATOR
#RPDS1,$BDADR  .FORM THE ADDRESS OF RPDS1 FOR TYPEOUT
RO, $8DADR :ADD THE 1/0 BASE ADDRESS

#MOL 'PGM'DPR 'DRY 1 VV,$GDDAT ; COMPARISON CONSTANT

PORTA RPCS2(R0O) .SELECT PORT A.

RPDS1(R0),$TMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
$TMP2, STMPO SCOPY IT INTO "STMPO’

#ATAIVV_STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
PORTB_RPCS2(R0) :SELECT PORT 8.

RPDS1(RO),$TMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.

$TMP3, STHPT ;COPY IT INTO 'STMP1’

FATAIVY STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
;IQPO.STHP1 ég T?ENg;ATUS REGISTER THE SAME FROM BOTH PORTS ?
$TMPO SREGISTERS ARE THE SAME: ARE TMEY ZERO ?

ng :BR IF NOT

788 ;BYPASS THE REST OF THE CHECKS

$TMP2,$SBDOAT sSET UP POSSIBLE PAD DATA FOR ERROR MESSAGE
PORTB,PTNBR sSEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
PORTB,RPCS2(RO) :SELECT PORT B.

$TMPO :SEE IF STATUS EQ O FROM PORT A.

758 .BR IF ZERO

PORTA,PTNBR 9 SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
$TMP3,SBDDAT : BAD DATA' FOR ERROR TYPE OUT

PORTA.RPCS2(R0) :SELECT PORT A.

$TMP1 ;SEE IF STATUS EQ ZERO FROM PORT B
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113 TEST THAT 'CLEAR® DOES NOT CAUSE RELEASE FROM PORT 'B'
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BNE 768 :BR_IF NOT

758: MOV #-1,RELERR ;SET 'RELEASE ERROR' INDICATOR
MoV #11.RPCST(RO)  :CLEAR THE DRIVE
MOV #13.RPCS1(RO)  ;RELEASE THE DRIVE

EMT 26
768: MOV STMP2 ,$BDDAT  :LOOK FOR BIT FAILURES WHEN RPDS1 READ
MOV PORTA ‘PTNBR :CHANGE PORT NUMBER
BIC SATA, $TMP2 SDON'T CHECK THE ATTN BIT
CMP $GDDAT,$TMP2  :ALL BITS OK ?
Eﬁ? ;7 ‘BR IF OK FROM PORT A.

778%: MOV STMP3, SBDDAT sCHECK RPDS1 FOR BIT FAILURES - FROM PORT 8.
MOV PORTB,PTNBR ¢ CHANGE PORT NUMBER
81C #ATA, $THP3 sDON'T CHECK THE ATTN BIT

(MpP SGDDAT STMP3 JSEE IF READ OK FROM PORT B.
8EQ 788 :BR IF 0K
EMT 7
78$%: NOP
1%: SCOPE ;LO0P ?
R 2223332232333 22322332222322332323233331333483382323232332332323333323203383234833;
tTEST 14 TEST RESET ATTENTION 'A' BY MASSBUS CLEAR

*VER]FY THAT A MASSBUS INITIALIZE CLEARS ONLY THE ATTENTION BIT OF THE
SEIZING PORT.

;-
% A, gg} EACH PORT 'S ATTENTION BIT. VERIFY THAT BOTH ATTENTION BITS
;¥ .
oW
;% B, SEIZE THE DRIVE THROUGH PORT ‘'A' BY WRITING 0'S INYTO RPDSI1.
- %
; ISSUE A MASSBUS CLEAR.
oW
* %
s* D. RELEASE THE DRIVE THROUGH PORT °A'. VERIFY THAT THE ATTENTION
o BIT FOR PORT 'A' HAS BEEN CLEARED AND THE ATTENTION BIT FOR PORT
it '8 IS STILL SET.
° %
:.ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
TST14:
TST KYBCTL 'PERFORHING ONLY SINGLE TESTS ?
8€Q 23 BR IF NOT
8PL 18 :BR_IF JUST ENTERED TEST
JMP EXEC :RETURN & GET NEXT TEST NUMBER
18: MOV #-1,KYBCTL :SET SINGLE TEST INDICATOR
2$: Movae #14,$TSTNM ;TEST NUMBER
MOV #TEST14,8LPADR ;LOAD LOOP ON TEST ADDRESS
MoV #TEST14,SLPERR ;LOAD LOOP ON ERROR ADDRESS
MoV 0, STIMES ;;D0 & ITERATIONS
TEST14: MOV #STACK,SP sLOAD THE STACK POINTER

;SET ATTENTION BITS FOR BOTH PORTS

Movse PORTA ,RPCS2(R0) ;SELECT PORT 64$
MOV #-1,RPERT(RO)  :FORCE ERRORS
CLR RPER1(RO) :CLEAR THE ERRORS

- Y
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114

TEST RESET ATTENTION °*A°' BY MASSBUS (LEAR

020274 013760 001226 000010 MOV
020302 0G5760 000012 648: TST
020306 001775 BEQ
020310 012760 177777 000014 MOV
020316 005060 000014 CLR
020322 113760 001224 000010 MOvVB
00330 005760 000012 658: ST
020334 001775 BEQ

PORTB . RPCS2(RO) ;SELECT THE OTHER PORT

RPDS1(RO)

643
#-1,RPERT(RO)
RPER1(RO)

;WAIT FOR DRIVE TO_TIMEOUT
;BR IF DRIVE HASN'T TIMED OUT
;FORCE ERRORS ON PORT 65%
:CLEAR THE ERRORS

PORTA,RPCS2(RO) ;SELECT PORT ''64$'* AGAIN

RPDS1(RO)
658

:WAIT FOR DPRIVE TO_TIMEOUT
:BR IF DRIVE HASN'T TIMED OUT

;CONFIRM THAT BOTH ATTENTION BITS ARE SETY
PORTA,RPCS2(R0O) -SELECT PORT A

PORTA ,PTNBR
CKERR

;MOVE PORT ADDRESS TO LOCATION FOR TYPEOQUT

sCLEAR THE °‘CHECK ERROR®' INDICATCR

RPDS1(RO) ,$BDODAT  ;GET CONTENTS OF RPDS1

#RPDS1,$BDADR

RO, $BDADR
#ATA,S$GDDAT
$BDDAT,S$TMPO
#-CATA,STMPO
$GDDAT ,$TMPO
663

$BDDAT ,$TMP4
N#ATA ,STMP4
?BHPk,SGDDAT
CKERR

;FORM REGISTER ADDRESS OF ERROR MESSAGE
;ADD RH11 BASE ADDRESS

;WHAT REGISTER SHOULD BE

;MOVE REGISTER CONTENTS TO 'STMPO'
;SAVE SPECIFIED BITS

: COMPARE THE BITS

:BR IF 0K

:COPY °'BAD DATA’

:CLEAR THE MASKED BITS

;'OR' WITH GOOD DATA FOR TYPEOUT

;SET THE REGISTER COMPARE ERROR INDICATOR
UAS ATTN BIT FOR PORT A SET ?

BR IF IT WAS
BYPASS REST OF TEST If NOT

PORTB,RPCS2(RO) ;SELECT PORT B

PORTB,PTNBR
CKERR

:HOVE PORT ADDRESS TO LOCATION FOR TYPEOUT

;CLEAR THE °'CHECK EPROR' IMDICATOR

RPDS1(RO) ,$BDDAT ;GET CONTENTS OF RPDS1

#RPDS1,$BDADR

RO, $BDADR
YATA ,SGDDAT
$8DDAT,$TMPO
#-CATA ,$TMPO
$GDDAT ,$TMPO
68$
$8BDDAT,$TMP4
N#ATA ,STMPL
¥5HP4,SGDDAT

CKERR
CKERR
+6

is

;FORM REGISTER ADDRESS ur ERROR MESSAGE
;ADD RH11 BASE ADDRESS

;WHAT REGISTER SHOULD BE

:MOVE REGISTER CONTENTS TO ‘'STMPO’
;SAVE SPECIFIED BITS

:COMPARE THE BITS

:BR IF 0K

:COPY °'BAD DATA'®

:CLEAR THE MASKED BITS

:'OR* WITH GOOD DATA FOR TYPEOUT

;SET THE REGISTER COMPARE ERRCR INDICATOR
:WAS ATTN BIT FOR PORT B SET ?

:BR _IF IT WAS
;BYPASS REST OF TEST IF NOT

sSEIZE THE DRIVE THROUGH PORT A
PORTA ,RPCS2(R0) ;SELECT PORT A

020336 113760 001224 000010 MOV
020344 013737 001224 001234 MOV
020352 005037 001244 (LR
020356 016037 000012 001126 MOV
020366 012737 000012 001122 MOV
020372 060037 001122 ADD
020376 012737 100000 001124 MOV
020404 013737 001126 001164 MOV
020412 042737 077777 001164 BIC
020420 023737 001124 001164 CMP
020426 001414 BEQ
020430 013737 001126 001174 MOV
020436 042737 100000 001176 BIC
020444 053737 001174 001124 81s
020452 104010 EMT
020454 005137 001244 COM
020460 000240 668:  NOP
020462 005737 001244 1ST
020466 001402 BEQ
020470 000137 021476 JNP
020476 113760 001226 000010 MOVS
020502 013737 001226 001234 MOV
020510 005037 001244 CLR
020516 016037 000012 001126 MOV
020522 012737 000012 001122 MOV
020530 060037 001122 ADD
0205364 012737 100000 001124 MOV
020542 013737 001126 001164 MOV
020550 042737 077777 001164 BIC
020556 023737 001126 001164 CMP
020564 001414 BEQ
020566 013737 001126 001174 MOV
020576 042737 100000 001174 BIC
020602 053737 001174 001124 BIS
020610 104010 EMT
020612 005137 001244 CoM
020616 000240 688:  NOP
020620 005737 001244 TST
020624 001402 BEQ
020626 000137 021476 MNP
020632 113760 001224 000010 mov8
020640 013737 001224 001236 MOV

PORTA,SEIZPT

;STORE SEIZING PORT'S ADDRESS

SEQ 0076

Cl
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114 TEST RESET ATTENTION ‘A’ BY MASSBUS CLEAR

020646 005060 000012 (LR RPDS1(RO) JWRITE RPDS1
020652 013737 001226 001240 MOV PORTB,0PPRT ;'OPPOSITE' PORT ADDRESS

:ISSUE MASSBUS INIT TO PORT A
020660 012760 000040 000010 MOV #CLR_RPCS2(RO) ;MASSBUS INIT
020666 113760 001224 000010 MOVB PORTA,RPCS2(R0O) ;SELECT PORT A AGAIN

sVERIFY THAT ATTENTION BIT FOR PORT A CLEARED
020674 005037 001244 CLR CKERR sCLEAR THE °‘CHECK ERROR® INDICATOR
020700 016037 000012 001126 Mov RPDS1(RO),$8DDAT .GET CONTENTS OF RPDS1
020706 012737 000012 001122 Mov #RPDS1,$BDADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
020714 060037 001122 ADD RO, $BDADR ;ADD RH11 BASE ADDRESS
020720 005037 001124 CLR $GDDAT ;WHAT REGISTER SHOULD BE
020726 013737 001126 001164 MOV $BDDA